

January 11, 2023

Tim McDermott, Director Legislative Services Agency

RE: Iowa Code section 307.47 Equipment and Vehicle Report

Attached is the Equipment and Vehicle Purchase Report for Fiscal Year 2022 as required by Iowa Code section 307.47. The report is sorted by our accounting object codes. The object codes help you sort the equipment into general categories. The following list will help you understand the codes:

Object	Description
701	Self Propelled Vehicles
702	Road Equipment & Trailers
703	Large Office Furniture & Files
704	Shop Tools & Small Equipment
705	Engineer, Survey & Measuring Equipment
706	Copiers, Fax & Communication Equipment
707-711	Computers & Related Equipment

Let me know if you need any further information.

Scott C. Marler

Attachment







		Iowa Depa	rtment of Transp	ortation FY 22 Revolving Fund Equipment Receive	ed		
Spend Category Group	DOT Spend Category	Receipt	Supplier	Description	Quantity	Unit Cost	Amount
7010 - Self Propelled	7010 "A" Equipment	RC-00000026 for PO-	Windridge Implements Inc	Case IH Maxxum 125 4x4 Cab Tractor with front PTO and Hitch	1.00	\$96,246.00	\$96,246.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV301810 RC-00000029 for PO-	Windridge Implements Inc	Add weight package #7585564 - \$738.00 Case IH Maxxum 115 Active Drive 4 4x2 Tractor	2.00	\$80,246.28	\$160,492.56
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303202 RC-00000030 for PO-	Windridge Implements Inc	See spec 2-A24-0920 Case IH Maxxum 125 4x4 Cab Tractor with front PTO and Hitch	1.00	\$96,246.00	\$96.246.00
Vehicles		CNV301810 RC-00000031 for PO-	O'HALLORAN	Add weight package #7585564 - \$738.00 Single Axle LWB, Snow Truck, 11-Foot Dump Body w/Automatic Transmission	1.00	\$131,925.00	,,
7010 - Self Propelled Vehicles	7010 "A" Equipment	CNV303324	INTERNATIONAL INC				\$131,925.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00000033 for PO- CNV303520	MACQUEEN EQUIPMENT LLC	Elgin Eagle Street Sweeper Outfitting per attached quote	1.00	\$205,019.50	\$205,019.50
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00000034 for PO- CNV303324	O'HALLORAN INTERNATIONAL INC	Single Axle LWB, Snow Truck, 11-Foot Dump Body w/Automatic Transmission	1.00	\$131,925.00	\$131,925.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00000035 for PO- CNV303324	O'HALLORAN INTERNATIONAL INC	Single Axle LWB, Snow Truck, 11-Foot Dump Body w/Automatic Transmission	1.00	\$131,925.00	\$131,925.00
7010 - Self Propelled	7010 "A" Equipment	RC-00000037 for PO-	KARL CHEVROLET INC -	Chevrolet Tahoe (CK10706) PPV 9C1	5.00	\$38,388.50	\$191,942.50
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV302479 RC-00000055 for PO-	ANKENY Windridge Implements Inc	DAS Spec: Group L 12.2 Case IH Maxxum 125 4x4 Cab Tractor with front PTO and Hitch	1.00	\$96,246.00	\$96,246.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV301810 RC-00000126 for PO-	HOLZBERG	Add weight package #7585564 - \$738.00 IMPRES Keypad Microphone	20.00	\$126.00	\$2,520.00
Vehicles		CNV306694	COMMUNICATIONS INC				
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00000126 for PO- CNV306694	HOLZBERG COMMUNICATIONS INC	Control Head Cable - 17 feet	40.00	\$61.00	\$2,440.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00000126 for PO- CNV306694	HOLZBERG COMMUNICATIONS INC	APX Mobile O5 Control Head	20.00	\$820.00	\$16,400.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00000140 for PO- CNV302479	KARL CHEVROLET INC - ANKENY	Chevrolet Tahoe (CK10706) PPV 9C1 DAS Spec: Group L 12.2	10.00	\$38,388.50	\$383,885.00
7010 - Self Propelled	7010 "A" Equipment	RC-00000259 for PO-	O'HALLORAN	International HV Series Tandem Axle Semi-Tractor	1.00	\$104,822.00	\$104,822.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303592 RC-00000268 for PO-	INTERNATIONAL INC KELTEK INC	Gamber Faceplate, 4" Whelen Cantrol, Carbide, Cencom	20.00	\$14.66	\$293.20
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV306302 RC-00000268 for PO-	KELTEK INC	Gamber Faceplae, 3" Motorola APX, XTL 05 Control Head	20.00	\$20.08	\$401.60
Vehicles		CNV306302		·		·	
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00000268 for PO- CNV306302	KELTEK INC	2021+ Chevrolet Tahoe Wide Body Console Box Kit with Armrest, Cup Holder, and Mongoose®	20.00	\$794.12	\$15,882.40
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00000268 for PO- CNV306302	KELTEK INC	Dual USB Charging Ports 3.1 Amp Max Output, Red LED 4.8-5.2 VDC	10.00	\$40.20	\$402.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00000268 for PO- CNV306302	KELTEK INC	Carling Switch Rocker ON None DPDT Quick Connnect Rocker 20A 12VDC 150000 Cycle	5.00	\$12.61	\$63.05
7010 - Self Propelled	7010 "A" Equipment	RC-00000268 for PO-	KELTEK INC	Gamber Interior Pocket, 3"	20.00	\$26.60	\$532.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV306302 RC-00000268 for PO-	KELTEK INC	Gamber Faceplate, 1.38" Uniden PRO510XL, PRO520SL, PRO520XL	20.00	\$33.00	\$660.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV306302 RC-00000268 for PO-	KELTEK INC	Gamber Faceplate, 3" Uniden BCT15X, BCD536, HP, BCD996 XLT	20.00	\$20.08	\$401.60
Vehicles 7010 - Self Propelled		CNV306302 RC-00000268 for PO-	KELTEK INC	Gamber 1" Filler Panel	20.00	\$4.34	\$86.80
Vehicles	7010 "A" Equipment	CNV306302				·	·
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00000294 for PO- CNV303323	O'HALLORAN INTERNATIONAL INC	Single Axle LWB, Snow Truck, 11-Foot Dump Body w/Automatic Transmission	1.00	\$131,925.00	\$131,925.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00000302 for PO- CNV302479	KARL CHEVROLET INC - ANKENY	Chevrolet Tahoe (CK10706) PPV 9C1 DAS Spec: Group L 12.2	5.00	\$38,388.50	\$191,942.50
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00000304 for PO- CNV301810	Windridge Implements Inc	Case IH Maxxum 125 4x4 Cab Tractor with front PTO and Hitch Add weight package #7585564 - \$738.00	0.00	\$96,246.00	\$0.00
7010 - Self Propelled	7010 "A" Equipment	RC-00000306 for PO-	Windridge Implements Inc	Case IH Maxxum 125 4x4 Cab Tractor with front PTO and Hitch	0.00	\$96,246.00	\$0.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV301810 RC-00000337 for PO-	Windridge Implements Inc	Add weight package #7585564 - \$738.00 Case IH Maxxum 125 4x4 Cab Tractor with front PTO and Hitch	2.00	\$96,246.00	\$192,492.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV301810 RC-00000337 for PO-	Windridge Implements Inc	Add weight package #7585564 - \$738.00 Case IH Maxxum 125 4x4 Cab Tractor	1.00	\$84,443.00	\$84,443.00
Vehicles		CNV301810	- '	Add weight package #7585564 - \$738.00			
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00000483 for PO- CNV302479	KARL CHEVROLET INC - ANKENY	Chevrolet Tahoe (CK10706) PPV 9C1 DAS Spec: Group L 12.2	10.00	\$38,288.50	\$382,885.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00000728 for PO- CNV303324	O'HALLORAN INTERNATIONAL INC	Single Axle LWB, Snow Truck, 11-Foot Dump Body w/Automatic Transmission	1.00	\$131,925.00	\$131,925.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00000922 for PO- CNV303323	O'HALLORAN INTERNATIONAL INC	Single Axle LWB, Snow Truck, 11-Foot Dump Body w/Automatic Transmission	1.00	\$131,925.00	\$131,925.00
7010 - Self Propelled	7010 "A" Equipment	RC-00001020 for PO-	O'HALLORAN	Single Axle LWB, Snow Truck, 11-Foot Dump Body w/Automatic Transmission	1.00	\$131,925.00	\$131,925.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303323 RC-00001090 for PO-	INTERNATIONAL INC O'HALLORAN	Single Axle LWB, Snow Truck, 11-Foot Dump Body w/Automatic Transmission	1.00	\$131,925.00	\$131,925.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303323 RC-00001146 for PO-	INTERNATIONAL INC O'HALLORAN	Single Axle LWB, Snow Truck, 11-Foot Dump Body w/Automatic Transmission	1.00	\$131,925.00	\$131,925.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303323 RC-00001157 for PO-	INTERNATIONAL INC O'HALLORAN	Single Axle LWB, Snow Truck, 11-Foot Dump Body w/Automatic Transmission	1.00	\$131,925.00	\$131,925.00
Vehicles		CNV303323	INTERNATIONAL INC				
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00001158 for PO- CNV303323	O'HALLORAN INTERNATIONAL INC	Single Axle LWB, Snow Truck, 11-Foot Dump Body w/Automatic Transmission	1.00	\$131,925.00	\$131,925.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00001330 for PO- CNV303323	O'HALLORAN INTERNATIONAL INC	Single Axle LWB, Snow Truck, 11-Foot Dump Body w/Automatic Transmission	1.00	\$131,925.00	\$131,925.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00001331 for PO- CNV303324	O'HALLORAN INTERNATIONAL INC	Single Axle LWB, Snow Truck, 11-Foot Dump Body w/Automatic Transmission	1.00	\$131,925.00	\$131,925.00
7010 - Self Propelled	7010 "A" Equipment	RC-00001623 for PO-	O'HALLORAN	Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift	1.00	\$148,433.00	\$148,433.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303431 RC-00001847 for PO-	INTERNATIONAL INC O'HALLORAN	Transmission Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body	1.00	\$154,509.00	\$154,509.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303367 RC-00001848 for PO-	INTERNATIONAL INC O'HALLORAN	International HV507 Single Axle LWB, Snow Truck, 11-Foot Dump Body w/Automatic Transmission	1.00	\$124,199.00	\$124,199.00
Vehicles 7010 - Self Propelled		CNV303424	INTERNATIONAL INC		1.00		
Vehicles	7010 "A" Equipment	RC-00002470 for PO- 00000552		John Deere Z515E ZTrak Zero Turn Riding Mower with 54" deck		\$4,031.04	\$4,031.04
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00002470 for PO- 00000552	DEERE & COMPANY	John Deere Z515E ZTrak Zero Turn Riding Mower with 60" Deck	4.00	\$4,319.04	\$17,276.16
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00002470 for PO- 00000552	DEERE & COMPANY	John Deere X350 Select Series Riding Mower with 42" Deck	1.00	\$2,787.18	\$2,787.18
7010 - Self Propelled	7010 "A" Equipment	RC-00002506 for PO-	O'HALLORAN	Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift	1.00	\$148,433.00	\$148,433.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303433 RC-00002507 for PO-	INTERNATIONAL INC O'HALLORAN	Transmission Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift	1.00	\$148,433.00	\$148,433.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303432 RC-00002508 for PO-	INTERNATIONAL INC O'HALLORAN	Transmission Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift	2.00	\$148,433.00	\$296,866.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303432 RC-00002542 for PO-	INTERNATIONAL INC	Transmission Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift	4.00	\$148,433.00	\$593,732.00
Vehicles		CNV303432	INTERNATIONAL INC	Transmission			
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00002544 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift Transmission	4.00	\$148,433.00	\$593,732.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00002545 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift Transmission	0.00	\$148,433.00	\$0.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00002546 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift Transmission	1.00	\$148,433.00	\$148,433.00
7010 - Self Propelled	7010 "A" Equipment	RC-00002547 for PO-	O'HALLORAN	Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift	1.00	\$148,433.00	\$148,433.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303432 RC-00002548 for PO-	INTERNATIONAL INC O'HALLORAN	Transmission Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift	0.00	\$148,433.00	\$0.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303432 RC-00002549 for PO-	INTERNATIONAL INC	Transmission Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift	0.00	\$148,433.00	\$0.00
Vehicles		CNV303432	INTERNATIONAL INC	Transmission			
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00002550 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift Transmission	3.00	\$148,433.00	\$445,299.00
•							

7010 - Self Propelled	7010 "A" Equipment	RC-00002556 for PO-	O'HALLORAN	Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift	3.00	\$148,433.00	\$445,299.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303432 RC-00002558 for PO-	INTERNATIONAL INC O'HALLORAN	Transmission Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift	1.00	\$149,665.00	\$149,665.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303434 RC-00002559 for PO-	INTERNATIONAL INC O'HALLORAN	Transmission Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift	1.00	\$149,665.00	\$149,665.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303434 RC-00002583 for PO-	INTERNATIONAL INC O'HALLORAN	Transmission Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift	1.00	\$149,665.00	\$149,665.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303434 RC-00002703 for PO-	INTERNATIONAL INC O'HALLORAN	Transmission Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift	1.00	\$149,665,00	\$149,665.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303434 RC-00002722 for PO-	INTERNATIONAL INC O'HALLORAN	Transmission Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift	1.00	\$149,665.00	\$149,665.00
Vehicles		CNV303434	INTERNATIONAL INC	Transmission			
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00002723 for PO- CNV303433	O'HALLORAN INTERNATIONAL INC	Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift Transmission	1.00	\$148,433.00	\$148,433.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00002726 for PO- CNV303433	O'HALLORAN INTERNATIONAL INC	Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift Transmission	1.00	\$148,433.00	\$148,433.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00002727 for PO- CNV303434	O'HALLORAN INTERNATIONAL INC	Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift Transmission	1.00	\$149,665.00	\$149,665.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00002729 for PO- CNV303435	O'HALLORAN INTERNATIONAL INC	Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift Transmission	2.00	\$162,433.00	\$324,866.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00002744 for PO- CNV303433	O'HALLORAN INTERNATIONAL INC	Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift Transmission	1.00	\$148,433.00	\$148,433.00
7010 - Self Propelled	7010 "A" Equipment	RC-00002786 for PO-	O'HALLORAN	Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift	1.00	\$148,433.00	\$148,433.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303433 RC-00002794 for PO-	INTERNATIONAL INC O'HALLORAN	Transmission Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic	1.00	\$139,294.00	\$139,294.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303375 RC-00002833 for PO-	INTERNATIONAL INC Bobcat Company	Tranmission All Terrain Vehicle	4.00	\$13,351.68	\$53,406.72
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00000248 RC-00002834 for PO-	O'HALLORAN	To include: Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic	2.00	\$139,294.00	\$278,588.00
Vehicles		CNV303376	INTERNATIONAL INC	Tranmission			
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00002951 for PO- CNV304607	INTERNATIONAL INC	International Model HV607 Cab/Chassis. *Alternate bid*	1.00	\$96,906.00	\$96,906.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00002985 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic Tranmission	1.00	\$139,294.00	\$139,294.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00002986 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic Tranmission	1.00	\$139,294.00	\$139,294.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00002987 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic Tranmission	1.00	\$139,294.00	\$139,294.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00002988 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic Tranmission	1.00	\$139,294.00	\$139,294.00
7010 - Self Propelled	7010 "A" Equipment	RC-00003117 for PO-	O'HALLORAN	Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic	1.00	\$139,294.00	\$139,294.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303376 RC-00003155 for PO-	INTERNATIONAL INC O'HALLORAN	Tranmission Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic	1.00	\$139,294.00	\$139,294.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303376 RC-00003189 for PO-	INTERNATIONAL INC O'HALLORAN	Tranmission Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic	1.00	\$139,294.00	\$139,294.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303376 RC-00003190 for PO-	INTERNATIONAL INC O'HALLORAN	Tranmission Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic	1.00	\$139,294.00	\$139,294.00
Vehicles 7010 - Self Propelled		CNV303376 RC-00003274 for PO-	INTERNATIONAL INC	Tranmission	1.00	\$139,294.00	
Vehicles	7010 "A" Equipment	CNV303376	INTERNATIONAL INC	Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic Tranmission			\$139,294.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00003278 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic Tranmission	1.00	\$139,294.00	\$139,294.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00003281 for PO- CNV303369	O'HALLORAN INTERNATIONAL INC	Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body International HV507	1.00	\$154,866.00	\$154,866.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00003633 for PO- 00000952	Stivers Ford	Ford F150 (X1E) Extended Cab, 4x4, Short Box w/Tow Package DOT Item Number - 9	8.00	\$31,027.00	\$248,216.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00003937 for PO- CNV303372	O'HALLORAN INTERNATIONAL INC	Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic Tranmission	1.00	\$139,651.00	\$139,651.00
7010 - Self Propelled	7010 "A" Equipment	RC-00003978 for PO-	O'HALLORAN INTERNATIONAL INC	Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic	2.00	\$139,651.00	\$279,302.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303372 RC-00003993 for PO-	O'HALLORAN	Tranmission Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic	0.00	\$139,651.00	\$0.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303372 RC-00003994 for PO-	INTERNATIONAL INC O'HALLORAN	Tranmission Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic	1.00	\$139,651.00	\$139,651.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303372 RC-00003995 for PO-	INTERNATIONAL INC O'HALLORAN	Tranmission Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic	1.00	\$139,651.00	\$139,651.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303372 RC-00003996 for PO-	INTERNATIONAL INC O'HALLORAN	Tranmission Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic	1.00	\$139,651.00	\$139,651.00
Vehicles		CNV303372	INTERNATIONAL INC	Tranmission Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic			
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00003997 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Tranmission	0.00	\$139,294.00	\$0.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00003998 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic Tranmission	1.00	\$139,294.00	\$139,294.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00003999 for PO- CNV303369	O'HALLORAN INTERNATIONAL INC	Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body International HV507	0.00	\$155,038.00	\$0.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00004001 for PO- CNV303369	O'HALLORAN INTERNATIONAL INC	Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body International HV507	1.00	\$155,038.00	\$155,038.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00004111 for PO- 00000952	Stivers Ford	Ford F150 (X1E) Extended Cab, 4x4, Short Box DOT Item Number - 10	1.00	\$30,614.00	\$30,614.00
7010 - Self Propelled	7010 "A" Equipment	RC-00004252 for PO- CNV303375	O'HALLORAN INTERNATIONAL INC	Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic Tranmission	1.00	\$139,294.00	\$139,294.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	RC-00004349 for PO-	Stivers Ford	Ford F150 (X1E) Extended Cab, 4x4, Short Box w/Tow Package	1.00	\$31,027.00	\$31,027.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00000952 RC-00004350 for PO-	Stivers Ford	DOT Item Number - 9 Ford F150 (X1C) Extended Cab, 4x2, Short Box	2.00	\$29,010.00	\$58,020.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00000952 RC-00004363 for PO-	O'HALLORAN	DOT Item Number - 8 Single Axle LWB, Snow Truck, 11-Foot Dump Body w/Automatic Transmission	1.00	\$124,199.00	\$124,199.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303426 RC-00004364 for PO-	INTERNATIONAL INC O'HALLORAN	Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic	1.00	\$139,823.00	\$139,823.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303370 RC-00004386 for PO-	INTERNATIONAL INC	Tranmission Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic	1.00	\$139,823.00	\$139,823.00
Vehicles		CNV303370	INTERNATIONAL INC	Tranmission			
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00004388 for PO- CNV303373	O'HALLORAN INTERNATIONAL INC	Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic Tranmission	1.00	\$153,862.00	\$153,862.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00004396 for PO- CNV303372	O'HALLORAN INTERNATIONAL INC	Heavy-Duty, Tandem Axle Snow Truck, 13-Foot Dump Body W/Automatic Tranmission	1.00	\$139,651.00	\$139,651.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00004699 for PO- CNV303429	O'HALLORAN INTERNATIONAL INC	Single Axle LWB, Snow Truck, 10-Foot Dump Body w/Automatic Transmission	1.00	\$135,879.00	\$135,879.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00004700 for PO- CNV303426	O'HALLORAN INTERNATIONAL INC	Single Axle LWB, Snow Truck, 11-Foot Dump Body w/Automatic Transmission	1.00	\$124,199.00	\$124,199.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00004743 for PO- CNV303426	O'HALLORAN INTERNATIONAL INC	Single Axle LWB, Snow Truck, 11-Foot Dump Body w/Automatic Transmission	1.00	\$124,199.00	\$124,199.00
7010 - Self Propelled	7010 "A" Equipment	RC-00004759 for PO-	O'HALLORAN	Single Axle LWB, Snow Truck, 11-Foot Dump Body w/Automatic Transmission	1.00	\$124,199.00	\$124,199.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303426 RC-00004935 for PO-	O'HALLORAN	Single Axle LWB, Snow Truck, 11-Foot Dump Body w/Automatic Transmission	1.00	\$124,199.00	\$124,199.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303426 RC-00004948 for PO-	INTERNATIONAL INC O'HALLORAN	Single Axle LWB, Snow Truck, 10-Foot Dump Body w/Automatic Transmission	1.00	\$135,879.00	\$135,879.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303429 RC-00004949 for PO-	INTERNATIONAL INC O'HALLORAN	Single Axle LWB, Snow Truck, 11-Foot Dump Body w/Automatic Transmission	1.00	\$124,199.00	\$124,199.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303426 RC-00005366 for PO-	INTERNATIONAL INC	Single Axle Snow Truck, 10-Foot Dump Body w/Automatic Transmission	1.00	\$133,744.00	\$133,744.00
Vehicles		CNV303430	INTERNATIONAL INC				
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00005367 for PO- CNV303433	O'HALLORAN INTERNATIONAL INC	Extra Heavy-Duty, Tandem Axle Snow Truck, 14-Foot Dump Body W/Ultra Shift Transmission	1.00	\$148,433.00	\$148,433.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00005369 for PO- CNV303428	O'HALLORAN INTERNATIONAL INC	Single Axle Crew Cab, Snow Truck, 10-Foot Dump Body w/Automatic Transmission	1.00	\$134,562.00	\$134,562.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00005395 for PO- CNV303428	O'HALLORAN INTERNATIONAL INC	Single Axle Crew Cab, Snow Truck, 10-Foot Dump Body w/Automatic Transmission	1.00	\$134,562.00	\$134,562.00
	1	==		**			

7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00005517 for PO- 00000952	Stivers Ford	Ford F150 (X1C) Extended Cab, 4x2, Short Box w/Tow Package DOT Item Number - 7	10.00	\$29,915.00	\$299,150.00
7010 - Self Propelled	7010 "A" Equipment	RC-00005566 for PO-	O'HALLORAN	2022 International HV507 Single Axle Truck Chassis	1.00	\$72,547.00	\$72,547.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV306109 RC-00005657 for PO-	O'HALLORAN	Single Axle Crew Cab, Snow Truck, 10-Foot Dump Body w/Automatic	1.00	\$134,562.00	\$134,562.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303428 RC-00005852 for PO-	INTERNATIONAL INC O'HALLORAN	Transmission Single Axle LWB, Snow Truck, 11-Foot Dump Body w/Automatic Transmission	1.00	\$138,410.00	\$138,410.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV303427 RC-00005979 for PO-	INTERNATIONAL INC Stivers Ford	Ford F150 (X1C) Extended Cab, 4x2, Short Box w/Tow Package	1.00	\$29,915.00	\$29,915.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00000952 RC-00005980 for PO-	Stivers Ford	DOT Item Number - 7 Ford F150 (X1E) Extended Cab, 4x4, Short Box w/Tow Package	1.00	\$31,027.00	\$31,027.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00000952 RC-00006247 for PO-	Murphy Tractor &	DOT Item Number - 9 John Deere 325G Compact Track Loader	2.00	\$60,874.00	\$121,748.00
Vehicles		00001939 RC-00006281 for PO-	Equipment Co (Des	John Deere Medium Duty Loader, 444K High Lift			
7010 - Self Propelled Vehicles	7010 "A" Equipment	00000614	Murphy Tractor & Equipment Co (Des	To include:	1.00	\$131,545.56	\$131,545.56
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00006326 for PO- CNV307666	M-B Companies Inc Of Wi	M-B Companies MAXI-330A Pavement Marker Truck	1.00	\$329,814.00	\$329,814.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00006355 for PO- CNV306941	KARL CHEVROLET INC - ANKENY	Chevrolet Colorado Extended Cab, 4x2, 6ft Box DOT Spec Number - SMPU - A(O)	12.00	\$21,708.00	\$260,496.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00006356 for PO- 00000734	Karl Chevrolet Buick GMC - Webster City	Chevrolet Traverse (1NW56) Northsky Blue Metallic (GA0) Exterior, Jet Black (A) Interior	1.00	\$30,030.93	\$30,030.93
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00006396 for PO- 00000614	Murphy Tractor & Equipment Co (Des	John Deere Medium Duty Loader, 444K High Lift To include:	1.00	\$131,545.56	\$131,545.56
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00006396 for PO- 00000614	Murphy Tractor & Equipment Co (Des	John Deere Heavy Duty Loader, 524 Standard Lift To include:	1.00	\$142,929.32	\$142,929.32
7010 - Self Propelled	7010 "A" Equipment	RC-00006396 for PO-	Murphy Tractor &	John Deere Heavy Duty Loader, 524 High Lift	1.00	\$145,189.24	\$145,189.24
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00000614 RC-00006676 for PO-	Equipment Co (Des MTI DISTRIBUTING INC	To include: Ventrac 4500P (39.51207) Light Duty Tractor including the following:	1.00	\$28,993.75	\$28,993.75
Vehicles 7010 - Self Propelled	7010 "A" Equipment	00000608 RC-00006806 for PO-	O'HALLORAN	International Model HV607 Cab/Chassis.	2.00	\$96,906.00	\$193,812.00
Vehicles 7010 - Self Propelled	7010 "A" Equipment	CNV304607 RC-00006927 for PO-	INTERNATIONAL INC Murphy Tractor &	*Alternate bid* John Deere 325G Compact Track Loader	2.00	\$60,874.00	\$121,748.00
Vehicles		00001939	Equipment Co (Des				
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00007072 for PO- CNV306941	KARL CHEVROLET INC - ANKENY	Chevrolet Colorado Extended Cab, 4x2, 6ft Box DOT Spec Number - SMPU - A(O)	26.00	\$21,708.00	\$564,408.00
7010 - Self Propelled Vehicles	7010 "A" Equipment	RC-00007125 for PO- CNV307666	M-B Companies Inc Of Wi	M-B Companies MAXI-330A Pavement Marker Truck	1.00	\$329,814.00	\$329,814.00
7010 - Self Propelled Vehicles Total					452.00	0	\$18,312,760.17
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00000026 for PO- CNV301810	Windridge Implements Inc	Case IH Factory Front End Loader Attachment	1.00	\$13,275.00	\$13,275.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00000030 for PO- CNV301810	Windridge Implements Inc	Case IH Factory Front End Loader Attachment	1.00	\$13,275.00	\$13,275.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00000031 for PO-	O'HALLORAN	ZV-L	1.00	\$14,745.00	\$14,745.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303324 RC-00000031 for PO-	INTERNATIONAL INC O'HALLORAN	Henderson Model - HTS2-ZVL-IADOT UBP	1.00	\$12,534.00	\$12,534.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303324 RC-00000031 for PO-	INTERNATIONAL INC O'HALLORAN	Henderson Model - UBS-IADOT MDRW-R	1.00	\$11,499.00	\$11,499.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303324 RC-00000031 for PO-	INTERNATIONAL INC O'HALLORAN	Henderson Model - WNG-MDRWR/SA-IADOT Dump Body - 11-Foot	1.00	\$15,782.00	\$15,782.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303324 RC-00000034 for PO-	INTERNATIONAL INC	Henderson Model - MKE-11-IADOT ZV-L	1.00	\$14,745.00	\$14,745.00
Trailers		CNV303324	INTERNATIONAL INC	Henderson Model - HTS2-ZVL-IADOT			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00000034 for PO- CNV303324	O'HALLORAN INTERNATIONAL INC	UBP Henderson Model - UBS-IADOT	1.00	\$12,534.00	\$12,534.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00000034 for PO- CNV303324	O'HALLORAN INTERNATIONAL INC	MDRW-R Henderson Model - WNG-MDRWR/SA-IADOT	1.00	\$11,499.00	\$11,499.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00000034 for PO- CNV303324	O'HALLORAN INTERNATIONAL INC	Dump Body - 11-Foot Henderson Model - MKE-11-IADOT	1.00	\$15,782.00	\$15,782.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00000035 for PO- CNV303324	O'HALLORAN INTERNATIONAL INC	ZV-L Henderson Model - HTS2-ZVL-IADOT	1.00	\$14,745.00	\$14,745.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00000035 for PO- CNV303324	O'HALLORAN INTERNATIONAL INC	UBP Henderson Model - UBS-IADOT	1.00	\$12,534.00	\$12,534.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00000035 for PO- CNV303324	O'HALLORAN INTERNATIONAL INC	MDRW-R Henderson Model - WNG-MDRWR/SA-IADOT	1.00	\$11,499.00	\$11,499.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	RC-00000035 for PO-	O'HALLORAN	Dump Body - 11-Foot	1.00	\$15,782.00	\$15,782.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303324 RC-00000055 for PO-	INTERNATIONAL INC Windridge Implements Inc	Henderson Model - MKE-11-IADOT Case IH Factory Front End Loader Attachment	1.00	\$13,275.00	\$13,275.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV301810 RC-00000067 for PO-	ALERT WARNING	Alert Warning System PRO	13.00	\$4,479.36	\$58,231.68
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV302900 RC-00000224 for PO-	SYSTEMS LLC THATSMYTRUCK.COM	BakFlip MX4 Tonneau Cover plus installation	1.00	\$1,094.00	\$1,094.00
Trailers 7020 - Road Equipment &		CNV305431 RC-00000260 for PO-	WEST MARK	·	2.00	\$33,540.00	\$67,080.00
Trailers	7020 "B" Equipment	CNV303698		20 Ton Tandem Axle Deck Over Tag Tilt Deck Trailer			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00000260 for PO- CNV303698	WEST MARK	20 Ton Tandem Axle Deck Over Tag Trailer with Beavertail and Ramps	1.00	\$26,020.00	\$26,020.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00000261 for PO- CNV303755	SCHULTE USA INC	Schulte XH1500 Rotary Cutter 10' 540 RPM	2.00	\$24,403.99	\$48,807.98
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00000261 for PO- CNV303755	SCHULTE USA INC	Schulte Model XH1500 Rotary Cutter - 15' 540 RPM	10.00	\$27,692.43	\$276,924.30
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00000264 for PO- CNV305491	DIAMOND MOWERS LLC	DLR072 - 72" Skid-Steer Rotary Mower	3.00	\$9,420.67	\$28,262.01
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00000265 for PO- CNV305724	AMES ENGINEERING INC	MAINTENANCE UPGRADE TO AMES MODEL 8200 PORTABLE HIGH SPEED PROFILER	1.00	\$55,535.00	\$55,535.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00000267 for PO- CNV306118	GARY CARLSON EQUIPMENT CO	ChemGrout Colloidal Grout Plant	1.00	\$56,500.00	\$56,500.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00000269 for PO-	CRANE SALES & SERVIC	Install Short Jacking Kit and Offsides features	2.00	\$9,622.73	\$19,245.46
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV306305 RC-00000294 for PO-	O'HALLORAN	To be installed on Elliott HY5387 and Elliott MU4850 AI-S	1.00	\$3,111.00	\$3,111.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303323 RC-00000294 for PO-	INTERNATIONAL INC O'HALLORAN	Henderson Model - LAS-525G-IADOT UBP	1.00	\$12,534.00	\$12,534.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303323 RC-00000294 for PO-	INTERNATIONAL INC	MDRW-R	1.00	\$11,499.00	\$11,499.00
Trailers 7020 - Road Equipment &		CNV303323 RC-00000294 for PO-	INTERNATIONAL INC	Henderson Model - WNG-MDRWR/SA-IADOT Dump Body - 11-Foot	1.00	\$15,782.00	\$15,782.00
Trailers	7020 "B" Equipment	CNV303323	INTERNATIONAL INC	Henderson Model - MKE-11-IADOT			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00000294 for PO- CNV303323	O'HALLORAN INTERNATIONAL INC	DSC Henderson Model - TGS-DSC-IADOT	1.00	\$9,326.00	\$9,326.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00000303 for PO- CNV304320	Thomas Bus Sales Of IA	Pace American Cargo Sport Enclosed Trailer	1.00	\$9,222.00	\$9,222.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00000307 for PO- CNV305683	Bobcat Company	Bob-Tach Mounted Backbone (6906767) with 16" MX2 XCHG Teeth (7333245)	1.00	\$4,664.12	\$4,664.12
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00000728 for PO- CNV303324	O'HALLORAN INTERNATIONAL INC	ZV-L Henderson Model - HTS2-ZVL-IADOT	1.00	\$14,745.00	\$14,745.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00000728 for PO- CNV303324	O'HALLORAN INTERNATIONAL INC	UBP Henderson Model - UBS-IADOT	1.00	\$12,534.00	\$12,534.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00000728 for PO-	O'HALLORAN	MDRW-R	1.00	\$11,499.00	\$11,499.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303324 RC-00000728 for PO-	INTERNATIONAL INC O'HALLORAN	Henderson Model - WNG-MDRWR/SA-IADOT Dump Body - 11-Foot	1.00	\$15,782.00	\$15,782.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303324 RC-00000758 for PO-	INTERNATIONAL INC CRANE SALES & SERVIC	Henderson Model - MKE-11-IADOT PM/Manitex One-Person Articulated Crane Basket with mounting tube and quick	1.00	\$3,819.24	\$3,819.24
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV304753 RC-00000919 for PO-	INTERNATIONAL	coupler. ICC Single-Sided Friction Tester	1.00	\$164,187.00	\$164,187.00
Trailers	q-ipmom	CNV305957	CYBERNETIC	Installed on Chevy Silverado	50	\$10.1,107.00	\$10 i, 137.00

7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00000922 for PO- CNV303323	O'HALLORAN INTERNATIONAL INC	AI-S Henderson Model - LAS-525G-IADOT	1.00	\$3,111.00	\$3,111.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00000922 for PO- CNV303323	O'HALLORAN INTERNATIONAL INC	UBP Henderson Model - UBS-IADOT	1.00	\$12,534.00	\$12,534.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	RC-00000922 for PO-	O'HALLORAN	MDRW-R	1.00	\$11,499.00	\$11,499.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303323 RC-00000922 for PO-	INTERNATIONAL INC O'HALLORAN	Henderson Model - WNG-MDRWR/SA-IADOT Dump Body - 11-Foot	1.00	\$15,782.00	\$15,782.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303323 RC-00000922 for PO-	INTERNATIONAL INC O'HALLORAN	Henderson Model - MKE-11-IADOT DSC	1.00	\$9,326.00	\$9,326.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303323 RC-00001020 for PO-	INTERNATIONAL INC	Henderson Model - TGS-DSC-IADOT AI-S	1.00	\$3,111.00	\$3,111.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303323 RC-00001020 for PO-	INTERNATIONAL INC	Henderson Model - LAS-525G-IADOT UBP	1.00	\$12,534.00	\$12,534.00
Trailers		CNV303323	INTERNATIONAL INC	Henderson Model - UBS-IADOT			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001020 for PO- CNV303323	O'HALLORAN INTERNATIONAL INC	MDRW-R Henderson Model - WNG-MDRWR/SA-IADOT	1.00	\$11,499.00	\$11,499.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001020 for PO- CNV303323	O'HALLORAN INTERNATIONAL INC	Dump Body - 11-Foot Henderson Model - MKE-11-IADOT	1.00	\$15,782.00	\$15,782.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001020 for PO- CNV303323	O'HALLORAN INTERNATIONAL INC	DSC Henderson Model - TGS-DSC-IADOT	1.00	\$9,326.00	\$9,326.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001086 for PO- CNV305403	Bobcat Company	84" Angle Broom - Part Number 7337715	1.00	\$4,832.84	\$4,832.84
7020 - Road Equipment &	7020 "B" Equipment	RC-00001086 for PO-	Bobcat Company	Pavement Breaker Attachment for class 36	2.00	\$6,820.24	\$13,640.48
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV305403 RC-00001086 for PO-	Bobcat Company	HB980 Hydraulic Breaker with Nail Point - Part Number 7113421 Auger Attach w/9" bit for class 36 skid loader	1.00	\$1,776.17	\$1,776.17
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV305403 RC-00001090 for PO-	O'HALLORAN	15C Auger Drive Unit Part number 6809442 AI-S	1.00	\$3,111.00	\$3,111.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303323 RC-00001090 for PO-	INTERNATIONAL INC O'HALLORAN	Henderson Model - LAS-525G-IADOT UBP	1.00	\$12,534.00	\$12,534.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303323 RC-00001090 for PO-	INTERNATIONAL INC	Henderson Model - UBS-IADOT MDRW-R	1.00	\$11,499.00	\$11,499.00
Trailers		CNV303323	INTERNATIONAL INC	Henderson Model - WNG-MDRWR/SA-IADOT			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001090 for PO- CNV303323	O'HALLORAN INTERNATIONAL INC	Dump Body - 11-Foot Henderson Model - MKE-11-IADOT	1.00	\$15,782.00	\$15,782.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001090 for PO- CNV303323	O'HALLORAN INTERNATIONAL INC	DSC Henderson Model - TGS-DSC-IADOT	1.00	\$9,326.00	\$9,326.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001099 for PO- CNV305490	SCHULING HITCH COMPANY - AMES, IA	Fisher HD2 Plow 8" To include installation	1.00	\$5,412.95	\$5,412.95
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001139 for PO- 00000126	Truck Equipment Inc	7' Western Striker Stainless Steal Hopper Spreader	1.00	\$4,747.00	\$4,747.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00001146 for PO-	O'HALLORAN	UBP Handerson Model - LIRS IADOT	1.00	\$12,534.00	\$12,534.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303323 RC-00001146 for PO-	O'HALLORAN	Henderson Model - UBS-IADOT MDRW-R	1.00	\$11,499.00	\$11,499.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303323 RC-00001146 for PO-	INTERNATIONAL INC O'HALLORAN	Henderson Model - WNG-MDRWR/SA-IADOT Dump Body - 11-Foot	1.00	\$15,782.00	\$15,782.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303323 RC-00001146 for PO-	INTERNATIONAL INC O'HALLORAN	Henderson Model - MKE-11-IADOT DSC	1.00	\$9,326.00	\$9,326.00
Trailers		CNV303323	INTERNATIONAL INC	Henderson Model - TGS-DSC-IADOT			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001151 for PO- CNV305403	Bobcat Company	48" Hydraulic Pallet Fork - Part number 6905425	1.00	\$2,289.88	\$2,289.88
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001157 for PO- CNV303323	O'HALLORAN INTERNATIONAL INC	AI-S Henderson Model - LAS-525G-IADOT	1.00	\$3,111.00	\$3,111.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001157 for PO- CNV303323	O'HALLORAN INTERNATIONAL INC	UBP Henderson Model - UBS-IADOT	1.00	\$12,534.00	\$12,534.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001157 for PO- CNV303323	O'HALLORAN INTERNATIONAL INC	MDRW-R Henderson Model - WNG-MDRWR/SA-IADOT	1.00	\$11,499.00	\$11,499.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001157 for PO- CNV303323	O'HALLORAN INTERNATIONAL INC	Dump Body - 11-Foot Henderson Model - MKE-11-IADOT	1.00	\$15,782.00	\$15,782.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00001157 for PO-	O'HALLORAN INTERNATIONAL INC	DSC	1.00	\$9,326.00	\$9,326.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303323 RC-00001158 for PO-	O'HALLORAN	Henderson Model - TGS-DSC-IADOT UBP	1.00	\$12,534.00	\$12,534.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303323 RC-00001158 for PO-	INTERNATIONAL INC O'HALLORAN	Henderson Model - UBS-IADOT MDRW-R	1.00	\$11,499.00	\$11,499.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303323 RC-00001158 for PO-	INTERNATIONAL INC O'HALLORAN	Henderson Model - WNG-MDRWR/SA-IADOT Dump Body - 11-Foot w/Weld	1.00	\$16,132.00	\$16,132.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303323 RC-00001158 for PO-	INTERNATIONAL INC	Henderson Model - MKE-11-IADOT DSC	1.00	\$9,326.00	\$9,326.00
Trailers		CNV303323	INTERNATIONAL INC	Henderson Model - TGS-DSC-IADOT			
Trailers	7020 "B" Equipment	RC-00001264 for PO- 00000127	MULTIQUIP INC	185 CFM Air Compressor Skid Mount	0.00	\$20,389.92	\$0.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001265 for PO- 00000127	MULTIQUIP INC	185 CFM Air Compressor Skid Mount	1.00	\$20,389.92	\$20,389.92
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001266 for PO- 00000134	RUETERS RED POWER - GRAND JUNCTION, IA	Buhler Farm King 1080C Snow Blower	2.00	\$7,600.00	\$15,200.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001328 for PO- 00000070	KRIS ENGINEERING INC	JOMA 6000 X 4 EDGE	22.00	\$396.00	\$8,712.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001330 for PO- CNV303323	O'HALLORAN INTERNATIONAL INC	AI-S Henderson Model - LAS-525G-IADOT	1.00	\$3,111.00	\$3,111.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00001330 for PO-	O'HALLORAN	UBP	1.00	\$12,534.00	\$12,534.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303323 RC-00001330 for PO-	INTERNATIONAL INC O'HALLORAN	Henderson Model - UBS-IADOT MDRW-L	1.00	\$11,499.00	\$11,499.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303323 RC-00001330 for PO-	INTERNATIONAL INC O'HALLORAN	Henderson Model - WNG-MDRWL/SA-IADOT Dump Body - 11-Foot	1.00	\$15,782.00	\$15,782.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303323 RC-00001330 for PO-	INTERNATIONAL INC	Henderson Model - MKE-11-IADOT	1.00	\$9,326.00	\$9,326.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303323 RC-00001331 for PO-	INTERNATIONAL INC	Henderson Model - TGS-DSC-IADOT	1.00	\$1,975.00	\$1,975.00
Trailers		CNV303324	INTERNATIONAL INC	Henderson Model - TARP-MANUAL-IADOT			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001331 for PO- CNV303324	O'HALLORAN INTERNATIONAL INC	ZV-L Henderson Model - HTS2-ZVL-IADOT	1.00	\$14,745.00	\$14,745.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001331 for PO- CNV303324	O'HALLORAN INTERNATIONAL INC	UBP Henderson Model - UBS-IADOT	1.00	\$12,534.00	\$12,534.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001331 for PO- CNV303324	O'HALLORAN INTERNATIONAL INC	MDRW-R Henderson Model - WNG-MDRWR/SA-IADOT	1.00	\$11,499.00	\$11,499.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001331 for PO- CNV303324	O'HALLORAN INTERNATIONAL INC	Dump Body - 11-Foot Henderson Model - MKE-11-IADOT	1.00	\$15,782.00	\$15,782.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001580 for PO- 00000200	FALCON ROAD MAINTENANCE	Falcon 2-Ton Asphalt Recycler & Hot Box Trailer	2.00	\$21,091.00	\$42,182.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00001603 for PO-	THATSMYTRUCK.COM	Unicover Aluminum 900 Series Topper plus installation	1.00	\$1,244.00	\$1,244.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV305431 RC-00001603 for PO-	THATSMYTRUCK.COM	Quote # 1843 Century DCU Aluminum Topper plus installation	1.00	\$2,697.00	\$2,697.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV305431 RC-00001623 for PO-	O'HALLORAN	Quote # 1842 DSC	1.00	\$7,384.00	\$7,384.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303431 RC-00001623 for PO-	INTERNATIONAL INC	Monroe Model - T00011285-B	1.00	\$13,770.00	\$13,770.00
Trailers		CNV303431	INTERNATIONAL INC	Monroe Model - T00011316i			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001623 for PO- CNV303431	INTERNATIONAL INC	MDRW-R Monroe Model - T00011302	1.00	\$8,458.00	\$8,458.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001623 for PO- CNV303431	O'HALLORAN INTERNATIONAL INC	Dump Body - 14-Foot Monroe Model - 1992607 - 14	1.00	\$18,517.00	\$18,517.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001630 for PO- 00000468	SCHULING HITCH COMPANY - AMES, IA	Fisher Light Duty Plow to be installed on 2020 Ford F250 HD 4X4 pickup. Per Quote Transaction No. 10062158	1.00	\$5,426.10	\$5,426.10
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001666 for PO- 00000594	Iowa Plains Signing	Portable Rumble Strip Systems: (RoadQuake 2F TPRS) Rumble strips must meet MUTCD Section 6F.87	17.00	\$18,700.00	\$317,900.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00001688 for PO- 00000200	FALCON ROAD MAINTENANCE	Falcon 2-Ton Asphalt Recycler & Hot Box Trailer	3.00	\$21,091.00	\$63,273.00
Trailers	1	00000200	INIAINTENANGE				

7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001745 for PO- 00000469	Bobcat Company	4K Heavy Duty Pallet Fork Frame with 48" 4K Heavy Duty Pallet Fork Teeth	1.00	\$540.36	\$540.36
7020 - Road Equipment &	7020 "B" Equipment	RC-00001756 for PO- 00000134	RUETERS RED POWER - GRAND JUNCTION, IA	Fair MFG 848C Twin Fan Snow Blower - 1000 RPM	1.00	\$19,915.00	\$19,915.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	RC-00001847 for PO-	O'HALLORAN	Dual Sander w/Chutes	1.00	\$7,384.00	\$7,384.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303367 RC-00001847 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011285-B Underbody Plow	1.00	\$13,766.00	\$13,766.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303367 RC-00001847 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011316i Medium Duty Rear Wing - Right	1.00	\$8,509.00	\$8,509.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303367 RC-00001847 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011286 Dump Body, 13-Foot	1.00	\$16,750.00	\$16,750.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303367 RC-00001848 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - 1992600 - 13 ZV-L	1.00	\$11,909.00	\$11,909.00
Trailers		CNV303424 RC-00001848 for PO-	INTERNATIONAL INC O'HALLORAN	Wonroe Model - T00124944-B UBP			
7020 - Road Equipment & Trailers	7020 "B" Equipment	CNV303424	INTERNATIONAL INC	Monroe Model - T00011316i	1.00	\$14,737.00	\$14,737.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001848 for PO- CNV303424	O'HALLORAN INTERNATIONAL INC	LDMW-D Monroe Model - T00100756	1.00	\$12,298.00	\$12,298.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001848 for PO- CNV303424	O'HALLORAN INTERNATIONAL INC	Dump Body - 11-Foot Monroe Model - T1777640 - 11	1.00	\$14,340.00	\$14,340.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00001915 for PO- 00000200	FALCON ROAD MAINTENANCE	Falcon 2-Ton Asphalt Recycler & Hot Box Trailer	3.00	\$21,091.00	\$63,273.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-000200004 for PO- 00000200	FALCON ROAD MAINTENANCE	Falcon 4-Ton Asphalt Recycler & Hot Box Trailer	2.00	\$26,651.00	\$53,302.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002023 for PO- 00000085	KELTEK INC	Cargo Scale Box for 2021 Chevy Tahoes	20.00	\$1,645.02	\$32,900.40
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002024 for PO- CNV306161	ALERT WARNING SYSTEMS LLC	Alert Warning System Pro - meeting the following requirements:	4.00	\$5,219.10	\$20,876.40
7020 - Road Equipment &	7020 "B" Equipment	RC-00002050 for PO-	FALCON ROAD	Falcon 2-Ton Asphalt Recycler & Hot Box Trailer	1.00	\$21,091.00	\$21,091.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000200 RC-00002050 for PO-	MAINTENANCE FALCON ROAD	Falcon 4-Ton Asphalt Recycler & Hot Box Trailer	2.00	\$26,651.00	\$53,302.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000200 RC-00002142 for PO-	MAINTENANCE DEERE & COMPANY	170.344 L (45 gal) High Performance Sprayer with High Performance Sprayer	4.00	\$1,026.52	\$4,106.08
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000319 RC-00002250 for PO-	Iowa Plains Signing	Precision Boom (12.5 ft) Wanco Compact Radar-Speed Trailer	6.00	\$12,250.00	\$73,500.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000873 RC-00002252 for PO-	Truck Equipment Inc	Knapheide Steel Platform Body with Crysteel Lo-Boy Electric Double Acting Hoist	0.00	\$5,000.00	\$0.00
Trailers		CNV303423	Truck Equipment Inc				
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002252 for PO- CNV303423	' '	Knapheide Steel Platform Body	0.00	\$3,691.00	\$0.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002277 for PO- CNV303423	Truck Equipment Inc	Knapheide Steel Platform Body	1.00	\$3,691.00	\$3,691.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002436 for PO- 00000593	VER-MAC INC	4' x 8' LED Arrow Board w/Standard Controller, Cables and Solar Kit	1.00	\$3,775.00	\$3,775.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002437 for PO- 00000607	KELTEK INC	Signal Arrow Board Whelen Model-TA125NF1-12 Lamp, LINEAR6 L.E.D. Traffic Advisor	13.00	\$1,350.51	\$17,556.63
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002452 for PO- 00000467	STEPP MANUFACTURING CO INC	Stepp Trailer Mounted Distributor - 800 Gallon, 100 GPM, Diesel Burner	1.00	\$63,948.50	\$63,948.50
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002452 for PO- 00000467		Stepp Trailer Mounted Distributor - 1000 Gallons, 100 GPM, Diesel Burner	1.00	\$66,134.50	\$66,134.50
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002506 for PO- CNV303433	O'HALLORAN INTERNATIONAL INC	DSC Monroe Model - T00011285-B	1.00	\$7,384.00	\$7,384.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00002506 for PO-	O'HALLORAN	UBP	1.00	\$13,770.00	\$13,770.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303433 RC-00002506 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011316i MDRW-R	1.00	\$8,458.00	\$8,458.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303433 RC-00002506 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011302 Dump Body - 14-Foot	1.00	\$18,517.00	\$18,517.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303433 RC-00002507 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Módel - 1992607 - 14 Dump Body - 14-Foot	2.00	\$18,517.00	\$37,034.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303432 RC-00002507 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - 1992607 - 14 MT	2.00	\$2,808.00	\$5,616.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303432 RC-00002507 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - 11526GLC-IADOT-16 ZV-R	2.00	\$12,158.00	\$24,316.00
Trailers		CNV303432	INTERNATIONAL INC	Monroe Model - T00124946-B			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002507 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	ZV-L Monroe Model - T00124944-B	0.00	\$11,937.00	\$0.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002507 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	21 B569 AI-T Monroe Model - T00116594	0.00	\$3,866.00	\$0.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002507 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	UBP Monroe Model - T00011316i	2.00	\$13,770.00	\$27,540.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002507 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	MDRW-L Monroe Model - T00011302	2.00	\$8,458.00	\$16,916.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002507 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	MDRW-R Monroe Model - T00011302	0.00	\$8,458.00	\$0.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002508 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	Dump Body - 14-Foot Monroe Model - 1992607 - 14	2.00	\$18,517.00	\$37,034.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00002508 for PO- CNV303432	O'HALLORAN	MT Monroe Model - 11526GLC-IADOT-16	2.00	\$2,808.00	\$5,616.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	RC-00002508 for PO-	INTERNATIONAL INC O'HALLORAN	ZV-R	2.00	\$12,158.00	\$24,316.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303432 RC-00002508 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00124946-B UBP	2.00	\$13,770.00	\$27,540.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303432 RC-00002508 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011316i MDRW-L	2.00	\$8,458.00	\$16,916.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303432 RC-00002542 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011302 Dump Body - 14-Foot	4.00	\$18,517.00	\$74,068.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303432 RC-00002542 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - 1992607 - 14 ZV-L	0.00	\$11,937.00	\$0.00
Trailers 7020 - Road Equipment &		CNV303432 RC-00002542 for PO-	INTERNATIONAL INC	2V-L Monroe Model - T00124944-B 21 B569 Al-T			
Trailers	7020 "B" Equipment	CNV303432	INTERNATIONAL INC	Monroe Model - T00116594	0.00	\$3,866.00	\$0.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002542 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	UBP Monroe Model - T00011316i	0.00	\$13,770.00	\$0.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002542 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	MDRW-R Monroe Model - T00011302	0.00	\$8,458.00	\$0.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002544 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	Dump Body - 14-Foot Monroe Model - 1992607 - 14	4.00	\$18,517.00	\$74,068.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002544 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	ZV-L Monroe Model - T00124944-B	2.00	\$11,937.00	\$23,874.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002544 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	21 B569 Al-T Monroe Model - T00116594	2.00	\$3,866.00	\$7,732.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002544 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	UBP Monroe Model - T00011316i	2.00	\$13,770.00	\$27,540.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00002544 for PO-	O'HALLORAN	MDRW-R	2.00	\$8,458.00	\$16,916.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303432 RC-00002545 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011302 Dump Body - 14-Foot	0.00	\$18,517.00	\$0.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303432 RC-00002545 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - 1992607 - 14 ZV-L	0.00	\$11,937.00	\$0.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303432 RC-00002545 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00124944-B 21 B569 Al-T	0.00	\$3,866.00	\$0.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303432 RC-00002545 for PO-	INTERNATIONAL INC O'HALLORAN	Wonroe Model - T00116594 UBP	0.00	\$13,770.00	\$0.00
Trailers		CNV303432 RC-00002545 for PO-	INTERNATIONAL INC	MDRW-R			
7020 - Road Equipment & Trailers	7020 "B" Equipment	CNV303432	INTERNATIONAL INC	Monroe Model - T00011302	0.00	\$8,458.00	\$0.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002546 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	Dump Body - 14-Foot Monroe Model - 1992607 - 14	1.00	\$18,517.00	\$18,517.00

7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002546 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	ZV-L Monroe Model - T00124944-B	1.00	\$11,937.00	\$11,937.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002546 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	UBP Monroe Model - T00011316i	1.00	\$13,770.00	\$13,770.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002546 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	MDRW-R Monroe Model - T000113101	1.00	\$8,458.00	\$8,458.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002547 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	Dump Body - 14-Foot Monroe Model - 1992607 - 14	1.00	\$18,517.00	\$18,517.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00002547 for PO- CNV303432	O'HALLORAN	ZV-L	0.00	\$11,937.00	\$0.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	RC-00002547 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00124944-B 21 B569 Al-T	0.00	\$3,866.00	\$0.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303432 RC-00002547 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00116594 UBP	1.00	\$13,770.00	\$13,770.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303432 RC-00002547 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011316i MDRW-R	1.00	\$8,458.00	\$8,458.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303432 RC-00002548 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011302 ZV-L	0.00	\$11,937.00	\$0.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303432 RC-00002548 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00124944-B 21 B569 Al-T	0.00	\$3,866.00	\$0.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303432 RC-00002549 for PO-	INTERNATIONAL INC	Monroe Model - T00116594 Dump Body - 14-Foot	0.00	\$18,517.00	\$0.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303432 RC-00002549 for PO-	INTERNATIONAL INC	MOnroe Model - 1992607 - 14	0.00	\$2,808.00	\$0.00
Trailers 7020 - Road Equipment &		CNV303432 RC-00002549 for PO-	INTERNATIONAL INC	Monroe Model - 11526GLC-IADOT-16 ZV-R	0.00		\$0.00
Trailers	7020 "B" Equipment	CNV303432	INTERNATIONAL INC	Monroe Model - T00124946-B		\$12,158.00	
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002549 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	ZV-L Monroe Model - T00124944-B	0.00	\$11,937.00	\$0.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002549 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	21 B569 AI-T Monroe Model - T00116594	0.00	\$3,866.00	\$0.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002549 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	UBP Monroe Model - T00011316i	0.00	\$13,770.00	\$0.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002549 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	MDRW-L Monroe Model - T00011302	0.00	\$8,458.00	\$0.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002549 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	MDRW-R Monroe Model - T00011302	0.00	\$8,458.00	\$0.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002550 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	Dump Body - 14-Foot Monroe Model - 1992607 - 14	1.00	\$18,517.00	\$18,517.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002550 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	MT Monroe Model - 11526GLC-IADOT-16	2.00	\$2,808.00	\$5,616.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002550 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	ZV-R Monroe Model - T02124946-B	2.00	\$12,158.00	\$24,316.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00002550 for PO-	O'HALLORAN	ZV-L	1.00	\$11,937.00	\$11,937.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303432 RC-00002550 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00124944-B 21 B569 Al-T	2.00	\$3,866.00	\$7,732.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303432 RC-00002550 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00116594 UBP	3.00	\$13,770.00	\$41,310.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303432 RC-00002550 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011316i MDRW-L	2.00	\$8,458.00	\$16,916.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303432 RC-00002550 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011302 MDRW-R	1.00	\$8,458.00	\$8,458.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303432 RC-00002556 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011302 Dump Body - 14-Foot	3.00	\$18,517.00	\$55,551.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303432 RC-00002556 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - 1992607 - 14 MT	2.00	\$2,808.00	\$5,616.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303432 RC-00002556 for PO-	INTERNATIONAL INC	Monroe Model - 11526GLC-IADOT-16 ZV-R	2.00	\$12,158.00	\$24,316.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303432 RC-00002556 for PO-	INTERNATIONAL INC	Monroe Model - T00124946-B ZV-L	1.00	\$11,937.00	\$11,937.00
Trailers		CNV303432 RC-00002556 for PO-	INTERNATIONAL INC	Monroe Model - T00124944-B			
7020 - Road Equipment & Trailers	7020 "B" Equipment	CNV303432	O'HALLORAN INTERNATIONAL INC	21 B569 Al-T Monroe Model - T00116594	2.00	\$3,866.00	\$7,732.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002556 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	UBP Monroe Model - T00011316i	3.00	\$13,770.00	\$41,310.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002556 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	MDRW-L Monroe Model - T00011302	2.00	\$8,458.00	\$16,916.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002556 for PO- CNV303432	O'HALLORAN INTERNATIONAL INC	MDRW-R Monroe Model - T00011302	1.00	\$8,458.00	\$8,458.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002558 for PO- CNV303434	O'HALLORAN INTERNATIONAL INC	MDRW-R Monroe Model - T00011286	1.00	\$8,458.00	\$8,458.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002558 for PO- CNV303434	O'HALLORAN INTERNATIONAL INC	Dump Body - 14-Foot Monroe Model - 1992607 - 14	1.00	\$18,517.00	\$18,517.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002558 for PO- CNV303434	O'HALLORAN INTERNATIONAL INC	MT Monroe Model - 11526GLC-IADOT-16	1.00	\$2,808.00	\$2,808.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002558 for PO- CNV303434	O'HALLORAN INTERNATIONAL INC	DSC Monroe Model - T00011285-B	1.00	\$7,384.00	\$7,384.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002558 for PO- CNV303434	O'HALLORAN INTERNATIONAL INC	Al-T Monroe Model - T00116594	1.00	\$3,866.00	\$3,866.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00002558 for PO-	O'HALLORAN	UBP	1.00	\$13,770.00	\$13,770.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303434 RC-00002558 for PO-	INTERNATIONAL INC	Monroe Model - T00011316i MDRW-L MORE Model - T00014303	1.00	\$9,218.00	\$9,218.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303434 RC-00002559 for PO-	O'HALLORAN	Monroe Model - T00011302 Dump Body - 14-Foot	1.00	\$18,517.00	\$18,517.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303434 RC-00002559 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - 1992607 - 14 MT	1.00	\$2,808.00	\$2,808.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303434 RC-00002559 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - 11526GLC-IADOT-16 ZV-L	1.00	\$11,937.00	\$11,937.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303434 RC-00002559 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00124944-B AI-T	1.00	\$3,866.00	\$3,866.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303434 RC-00002559 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00116594 UBP	1.00	\$13,770.00	\$13,770.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303434 RC-00002583 for PO-	INTERNATIONAL INC	Monroe Model - T00011316i MDRW-R	1.00	\$8,458.00	\$8,458.00
Trailers 7020 - Road Equipment &	7020 'B' Equipment	CNV303434 RC-00002583 for PO-	INTERNATIONAL INC	Monroe Model - T00011286 Dump Body - 14-Foot	1.00	\$18,517.00	\$18,517.00
Trailers 7020 - Road Equipment & 7020 - Road Equipment &		CNV303434 RC-00002583 for PO-	INTERNATIONAL INC	Dump Body - 14-Foot Monroe Model - 1992607 - 14 ZV-L			
Trailers	7020 "B" Equipment	CNV303434	INTERNATIONAL INC	Monroe Model - T00124944-B	1.00	\$11,937.00	\$11,937.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002583 for PO- CNV303434	O'HALLORAN INTERNATIONAL INC	UBP Monroe Model - T00011316i	1.00	\$13,770.00	\$13,770.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002621 for PO- 00000467	STEPP MANUFACTURING CO INC		1.00	\$17,182.00	\$17,182.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002660 for PO- 00000872	K & K Systems Inc	4x8 Trailered LED Arrow Board	1.00	\$4,823.80	\$4,823.80
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002661 for PO- 00000871	K & K Systems Inc	3x6 LED Arrow Board	2.00	\$2,042.67	\$4,085.34
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002703 for PO- CNV303434	O'HALLORAN INTERNATIONAL INC	Dump Body - 14-Foot Monroe Model - 1992607 - 14	1.00	\$18,517.00	\$18,517.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002703 for PO- CNV303434	O'HALLORAN INTERNATIONAL INC	WTG-DSC Monroe Model - T00154370-C	1.00	\$11,241.00	\$11,241.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002703 for PO- CNV303434	O'HALLORAN INTERNATIONAL INC	UBP Monroe Model - T00011316i	1.00	\$13,770.00	\$13,770.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002709 for PO- 00000467	STEPP MANUFACTURING CO INC	Stepp SMT Kettle - 400 Gallon	1.00	\$26,134.00	\$26,134.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00002722 for PO-	O'HALLORAN	Dump Body - 14-Foot	1.00	\$18,517.00	\$18,517.00
Trailers	I .	CNV303434	INTERNATIONAL INC	Monroe Model - 1992607 - 14			

Trailers	00 \$11,241.00 00 \$13,770.00 00 \$8,458.00 00 \$18,517.00 00 \$11,241.00 00 \$13,770.00 00 \$13,770.00 00 \$18,517.00 00 \$18,517.00 00 \$2,808.00 00 \$11,937.00 00 \$3,866.00 00 \$13,770.00
1/20 1/20	00 \$13,770.00 00 \$8,458.00 00 \$18,517.00 00 \$11,241.00 00 \$13,770.00 00 \$8,458.00 00 \$18,517.00 00 \$18,517.00 00 \$2,808.00 00 \$11,937.00 00 \$3,866.00 00 \$13,770.00
Page	00 \$8,458.00 00 \$18,517.00 00 \$11,241.00 00 \$13,770.00 00 \$8,458.00 00 \$18,517.00 00 \$2,808.00 00 \$11,937.00 00 \$3,866.00 00 \$13,770.00
Page	00 \$18,517.00 00 \$11,241.00 00 \$13,770.00 00 \$18,458.00 00 \$18,517.00 00 \$2,808.00 00 \$11,937.00 00 \$3,866.00 00 \$13,770.00
Trailers	00 \$11,241.00 00 \$13,770.00 00 \$8,458.00 00 \$18,517.00 00 \$18,517.00 00 \$2,808.00 00 \$11,937.00 00 \$3,866.00 00 \$13,770.00
2020 Road Equipment & 2020 'B' Equipment CN-0002/726 for PO- CN-0002/33 NITERNATIONAL INC Monroe Model - 700154370-C 1.00 \$11.241	00 \$13,770.00 00 \$8,458.00 00 \$18,517.00 00 \$18,517.00 00 \$2,808.00 00 \$11,937.00 00 \$3,866.00 00 \$13,770.00
Trailers	00 \$13,770.00 00 \$8,458.00 00 \$18,517.00 00 \$18,517.00 00 \$2,808.00 00 \$11,937.00 00 \$3,866.00 00 \$13,770.00
Trailers	00 \$8,458.00 00 \$18,517.00 00 \$18,517.00 00 \$2,808.00 00 \$11,937.00 00 \$3,866.00 00 \$13,770.00
Trailers	00 \$18,517.00 00 \$18,517.00 00 \$2,808.00 00 \$11,937.00 00 \$3,866.00 00 \$13,770.00
Trailers	00 \$18,517.00 00 \$2,808.00 00 \$11,937.00 00 \$3,866.00 00 \$13,770.00
Trailers	00 \$2,808.00 00 \$11,937.00 00 \$3,866.00 00 \$13,770.00
Trailers	00 \$11,937.00 00 \$3,866.00 00 \$13,770.00
Trailers	00 \$3,866.00 00 \$13,770.00
Trailers Trailers To20 - Road Equipment & To20 'B' Equipment RC-00002727 for PO- CNV303434 INTERNATIONAL INC Monroe Model - T00116594 INTERNATIONAL INC Monroe Model - T00116594 INTERNATIONAL INC Monroe Model - T001116594 INTERNATIONAL INC Monroe Model - T001116594 INTERNATIONAL INC Monroe Model - T001116594 INTERNATIONAL INC Monroe Model - T00111166 INTERNATIONAL INC Monroe Model - T000111166 INTERNATIONAL INC Monroe Model -	00 \$13,770.00
Trailers To20 - Road Equipment & To20 'B' Equipment RC-00002729 for PO- CNV303434 INTERNATIONAL INC Monroe Model - T00011316i SSC CNV303435 INTERNATIONAL INC Monroe Model - T00011285-B STATE	
Trailers Trailers To20 - Road Equipment & To20 'B' Equipment RC-00002729 for PO- CNV303435 INTERNATIONAL INC Monroe Model - T00011285-B DSC Monroe Model - T00011285-B DSC Trailers Trailers To20 - Road Equipment & To20 'B' Equipment RC-00002729 for PO- CNV303435 INTERNATIONAL INC Monroe Model - T00011316i DSP D- CNV303435 INTERNATIONAL INC Monroe Model - T00011316i DSP D- CNV303435 INTERNATIONAL INC Monroe Model - T00011316i DIANA DSP D- CNV303435 INTERNATIONAL INC Monroe Model - T00041331 DIANA DSP D- CNV303435 INTERNATIONAL INC Monroe Model - T00041331 DIANA DSP D- CNV303435 INTERNATIONAL INC Monroe Model - T00041331 DIANA DSP D- CNV303435 INTERNATIONAL INC Monroe Model - T00041331 DIANA DSP D- CNV303435 INTERNATIONAL INC Monroe Model - T00041285-B DSP D- CNV303435 DSP D- CNV	00 \$14,768.00
Trailers Trailers Trailers To20 *B* Equipment & RC-00002729 for PO- CNV303435 INTERNATIONAL INC INTERNATIONAL	
Trailers Trailers To20 - Road Equipment & To20 - Brad Equipment & To20 - Road Equipment & To20 -	.00 \$27,540.00
7020 - Road Equipment & 7020 *B* Equipmen	00 \$20,062.00
Trailers	
Trailers	
Trailers CNV303433 INTERNATIONAL INC Monroe Model - T00011316i 7020 - Road Equipment & 7020 *B* Equipment RC-00002744 for PO- O'HALLORAN MDRW-R 1.00 \$8,458	
Trailers CNV303433 INTERNATIONAL INC Monroe Model - T00011302	
7020 - Road Equipment & Trailers 7020 *B* Equipment CNV303433 RC-00002744 for PO- CNV303433 OHALLORAN Dump Body - 14-Foot Monroe Model - 1992607 - 14 1.00 \$18,517	.00 \$18,517.00
7020 - Road Equipment & Tozlo "B" Equipment RC-00002746 for PO- 00000140 HENDERSON PRODUCTS INC Snow Truck Dump Body Wedge Tank Kits - Single Axle Truck 1.00 \$2,056 Trailers INC Per specification 2-SGL-13-TDM-B569-0721 1.00	00 \$2,056.00
7020 - Road Equipment & 7020 *B* Equipment	00 \$15,060.00
7020 - Road Equipment & 7020 "B" Equipment RC-00002786 for PO- O'HALLORAN WTG-DSC 1.00 \$11,241 Trailers CNV303433 INTERNATIONAL INC Monroe Model - T00154370-C	00 \$11,241.00
7020 - Road Equipment & 7020 *B* Equipment RC-00002786 for PO- O'HALLORAN UBP 1.00 \$13,770	.00 \$13,770.00
7020 - Road Equipment & 7020 *B* Equipment RC-00002786 for PO- O'HALLORAN MDRW-R 1.00 \$8,458	00 \$8,458.00
Trailers CNV303433 INTERNATIONAL INC Monroe Model - T00011302 7020 - Road Equipment & 7020 *B* Equipment RC-00002786 for PO- O'HALLORAN Dump Body - 14-Foot 1.00 \$18,517	00 \$18,517.00
Trailers CNV303433 INTERNATIONAL INC Monroe Model - 1992607 - 14 7020 - Road Equipment & 7020 *B* Equipment RC-00002794 for PO- O'HALLORAN Medium Duty Rear Wing - Right 1.00 \$8,509	00 \$8,509.00
Trailers CNV303375 INTERNATIONAL INC Monroe Model - T00011286 7020 - Road Equipment & 7020 *B* Equipment RC-00002794 for PO- O'HALLORAN Dump Body, 13-Foot 1.00 \$16,750	00 \$16,750.00
Trailers CNV303375 INTERNATIONAL INC Monroe Model - 1992600 - 13 7020 - Road Equipment & 7020 *B* Equipment RC-00002794 for PO- O'HALLORAN MT Manual Tarp 1.00 \$2,808	
Trailers	
Trailers CNV303375 INTERNATIONAL INC Monroe Model - 700124944-B	
Trailers CNV303375 INTERNATIONAL INC Monroe Model - T00116594	
7020 - Road Equipment & Trailers 7020 *B* Equipment CNY303375 RC-00002794 for PO- CNY303375 O'HALLORAN Underbody Plow Monroe Model - T00011316i 1.00 \$13,766	, ,,
7020 - Road Equipment & Trailers 7020 *B* Equipment RC-00002834 for PO- CNV303376 O'HALLORAN INCENDATIONAL INC Dual Sander w/Chutes Monroe Model - T00011285-B 2.00 \$7,384	00 \$14,768.00
7020 - Road Equipment & 7020 *B* Equipment	00 \$7,732.00
7020 - Road Equipment & 7020 *B" Equipment	00 \$27,532.00
7020 - Road Equipment & 7020 "B" Equipment RC-00002834 for PO- O'HALLORAN Medium Duty Rear Wing - Left 2.00 \$8,509 Trailers CNV303376 INTERNATIONAL INC Monroe Model - T00011302	00 \$17,018.00
7020 - Road Equipment & 7020 *B* Equipment RC-00002834 for PO- O'HALLORAN Dump Body, 13-Foot 2.00 \$16,750	00 \$33,500.00
7020 - Road Equipment & 7020 *B* Equipment RC-00002951 for PO- O'HALLORAN PM 8 Ton Articulated Boom, including Personnel Basket 1.00 \$34,421	00 \$34,421.00
Trailers CNV304607 INTERNATIONAL INC 7020 - Road Equipment & 7020 "B" Equipment RC-00002951 for PO- O'HALLORAN Knapheide Cargo Hauler Flatbed Platform 14' 1.00 \$14,780	00 \$14,780.00
Trailers CNV304607 INTERNATIONAL INC "Alternate bid" 7020 - Road Equipment & 7020 "B" Equipment RC-00002985 for PO- O'HALLORAN PT Power Tarp 0.00 \$3,089	00 \$0.00
Trailers CNV303376 INTERNATIONAL INC Monroe Model - 11526-18-IOWA 7020 - Road Equipment & 7020 'B' Equipment RC-00002985 for PO- O'HALLORAN Dual Sander w/Chutes 1.00 \$7,384	
7020 - Road Equipment & 7020 'B' Equipment RC-00002985 for PO- O'HALLORAN Al-T Anti-Ice Tandem 0.00 \$3,866	
Trailers CNV303376 INTERNATIONAL INC Monroe Model - T00116594	
Trailers CNV303376 INTERNATIONAL INC Monroe Model - T00011316i	
7020 - Road Equipment & Trailers 7020 "B" Equipment RC-00002985 for PO- O'HALLORAN Medium Duty Rear Wing - Left w/Dual wing Upcharge 0.00 \$9,269 Trailers INTERNATIONAL INC Monroe Model - T00011302 Monroe Model - T00011302 0.00 \$9,269	
7020 - Road Equipment & Trailers 7020 "B" Equipment CNV303376 RC-00002985 for PO-UHALLORAN Medium Duty Rear Wing - Left Monroe Model - T00011302 0.00 \$8,509	
7020 - Road Equipment & To20 "B" Equipment RC-00002985 for PO- CNV303376 O'HALLORAN OF Medium Duty Rear Wing - Right Monroe Model - T00011286 1.00 \$8,509	00 \$8,509.00
7020 - Road Equipment & 7020 "B" Equipment RC-00002985 for PO- O'HALLORAN Dump Body, 13-Foot w/WELD 1.00 \$17,299 Trailers CNV303376 INTERNATIONAL INC Monroe Model - 1992600 - 13	00 \$17,299.00
7020 - Road Equipment & 7020 "B" Equipment	00 \$0.00
7020 - Road Equipment & 7020 "B" Equipment RC-00002986 for PO- O'HALLORAN PT Power Tarp 1.00 \$3,089	00 \$3,089.00
Trailers CNV303376 INTERNATIONAL INC Monroe Model - 11526-18-IOWA 7020 - Road Equipment & 7020 "B" Equipment RC-00002898 for PO- Trailers O'HALLORAN Dual Sander Wichutes 1.00 \$7,384	00 \$7,384.00
Trailers CNV303376 INTERNATIONAL INC Monroe Model - T00011285-B 7020 - Road Equipment & 7020 "B" Equipment RC-00002986 for PO- O'HALLORAN Al-T Anti-Ice Tandem 1.00 \$3,866	00 \$3,866.00
Trailers CNV303376 INTERNATIONAL INC Monroe Model - T00116594 7020 - Road Equipment & 7020 'B' Equipment RC-00002986 for PO- O'HALLORAN Underbody Plow 1.00 \$13,766	00 \$13,766.00
Trailers CNV303376 INTERNATIONAL INC Monroe Model - T00011316i 7020 - Road Equipment & 7020 "B" Equipment RC-00002986 for PO- O'HALLORAN Medium Duty Rear Wing - Left 1.00 \$8,509	
Note	
Trailers CNV303376 INTERNATIONAL INC Monroe Model - 1992600 - 13	
7020 - Road Equipment & Trailers 7020 "B" Equipment RC-00002987 for PO- CNV303376 O'HALLORAN PT Power Tarp Monroe Model - 11526-18-IOWA 1.00 \$3,089	.00 \$3,089.00

7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002987 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Dual Sander w/Chutes Monroe Model - T00011285-B	1.00	\$7,384.00	\$7,384.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00002987 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Monroe Model - 100011265-B AI-T Anti-Ice Tandem Monroe Model - T00116594	1.00	\$3,866.00	\$3,866.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	RC-00002987 for PO-	O'HALLORAN	Underbody Plow	1.00	\$13,766.00	\$13,766.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303376 RC-00002987 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011316i Medium Duty Rear Wing - Left	1.00	\$8,509.00	\$8,509.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303376 RC-00002987 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011302 Dump Body, 13-Foot	1.00	\$16,750.00	\$16,750.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303376 RC-00002988 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - 1992600 - 13 PT Power Tarp	1.00	\$3,089.00	\$3,089.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303376 RC-00002988 for PO-	INTERNATIONAL INC	Monroe Model - 11526-18-IOWA Dual Sander w/Chutes	1.00	\$7,384.00	\$7,384.00
Trailers		CNV303376 RC-00002988 for PO-	INTERNATIONAL INC	Monroe Model - T00011285-B			
7020 - Road Equipment & Trailers	7020 "B" Equipment	CNV303376	O'HALLORAN INTERNATIONAL INC	AI-T Anti-Ice Tandem Monroe Model - T00116594	1.00	\$3,866.00	\$3,866.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002988 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Underbody Plow Monroe Model - T00011316i	1.00	\$13,766.00	\$13,766.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002988 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Medium Duty Rear Wing - Right Monroe Model - T00011286	1.00	\$8,509.00	\$8,509.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00002988 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Dump Body, 13-Foot Monroe Model - 1992600 - 13	1.00	\$16,750.00	\$16,750.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00003117 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Dual Sander w/Chutes Monroe Model - T00011285-B	1.00	\$7,384.00	\$7,384.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00003117 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Underbody Plow Monroe Model - T00011316i	1.00	\$13,766.00	\$13,766.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00003117 for PO-	O'HALLORAN	Medium Duty Rear Wing - Right	1.00	\$8,509.00	\$8,509.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303376 RC-00003117 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011286 Dump Body, 13-Foot w/WELD	1.00	\$17,584.00	\$17,584.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303376 RC-00003136 for PO-	INTERNATIONAL INC MONROE TRUCK	Monroe Model - 1992600 - 13 Monroe 12-foot Snow Pusher with MTG Kit	1.00	\$5,499.00	\$5,499.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000114 RC-00003136 for PO-	EQUIPMENT MONROE TRUCK	Monroe 16-foot Snow Pusher with MTG Kit	2.00	\$6,104.00	\$12,208.00
Trailers		00000114	EQUIPMENT				
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00003155 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	PT Power Tarp Monroe Model - 11526-18-IOWA	1.00	\$3,089.00	\$3,089.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00003155 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Dual Sander w/Chutes Monroe Model - T00011285-B	1.00	\$7,384.00	\$7,384.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00003155 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Al-T Anti-lce Tandem Monroe Model - T00116594	1.00	\$3,866.00	\$3,866.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00003155 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Underbody Plow Monroe Model - T00011316i	1.00	\$13,766.00	\$13,766.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00003155 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Medium Duty Rear Wing - Right	1.00	\$8,509.00	\$8,509.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	RC-00003155 for PO-	O'HALLORAN	Monroe Model - T00011286 Dump Body, 13-Foot	1.00	\$16,750.00	\$16,750.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303376 RC-00003189 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - 1992600 - 13 Dual Sander w/Chutes	1.00	\$7,384.00	\$7,384.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303376 RC-00003189 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011285-B Underbody Plow	1.00	\$13,766.00	\$13,766.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303376 RC-00003189 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011316i Medium Duty Rear Wing - Right	1.00	\$8,509.00	\$8,509.00
Trailers 7020 - Road Equipment &		CNV303376 RC-00003189 for PO-	INTERNATIONAL INC	Monroe Model - T00011286 Dump Body, 13-Foot w/WELD	1.00	\$17,584.00	\$17,584.00
Trailers	7020 "B" Equipment	CNV303376	INTERNATIONAL INC	Monroe Model - 1992600 - 13			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00003190 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Dual Sander w/Chutes Monroe Model - T00011285-B	1.00	\$7,384.00	\$7,384.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00003190 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Al-T Anti-Ice Tandem Monroe Model - T00116594	1.00	\$3,866.00	\$3,866.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00003190 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Underbody Plow Monroe Model - T00011316i	1.00	\$13,766.00	\$13,766.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00003190 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Medium Duty Rear Wing - Right Monroe Model - T00011286	1.00	\$8,509.00	\$8,509.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00003190 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Dump Body, 13-Foot Monroe Model - 1992600 - 13	1.00	\$16,750.00	\$16,750.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00003274 for PO-	O'HALLORAN INTERNATIONAL INC	PT Power Tarp Monroe Model - 11526-18-IOWA	1.00	\$3,089.00	\$3,089.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303376 RC-00003274 for PO-	O'HALLORAN	Dual Sander w/Chutes	1.00	\$7,384.00	\$7,384.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303376 RC-00003274 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011285-B Al-T Anti-Ice Tandem	1.00	\$3,866.00	\$3,866.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303376 RC-00003274 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00116594 Underbody Plow	1.00	\$13,766.00	\$13,766.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303376 RC-00003274 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011316i Medium Duty Rear Wing - Left w/Dual wing Upcharge	1.00	\$9,269.00	\$9,269.00
Trailers 7020 - Road Equipment &		CNV303376 RC-00003274 for PO-	INTERNATIONAL INC	Monroe Model - T00011302			
Trailers	7020 "B" Equipment	CNV303376	INTERNATIONAL INC	Medium Duty Rear Wing - Right Monroe Model - T00011286	1.00	\$8,509.00	\$8,509.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00003274 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Dump Body, 13-Foot Monroe Model - 1992600 - 13	1.00	\$16,750.00	\$16,750.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00003278 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Dual Sander w/Chutes Monroe Model - T00011285-B	1.00	\$7,384.00	\$7,384.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00003278 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Underbody Plow Monroe Model - T00011316i	1.00	\$13,766.00	\$13,766.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00003278 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Medium Duty Rear Wing - Right Monroe Model - T00011286	1.00	\$8,509.00	\$8,509.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00003278 for PO- CNV303376	O'HALLORAN INTERNATIONAL INC	Dump Body, 13-Foot Monroe Model - 1992600 - 13	1.00	\$16,750.00	\$16,750.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00003281 for PO-	O'HALLORAN	Dual Sander w/Chutes	1.00	\$7,384.00	\$7,384.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303369 RC-00003281 for PO-	O'HALLORAN	Monroe Model - T00011285-B Heavy Duty Benching Wing, Right	1.00	\$14,863.00	\$14,863.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303369 RC-00003281 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00089813 Ice Blade	1.00	\$16,512.00	\$16,512.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303369 RC-00003281 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00173475i Dump Body	1.00	\$16,750.00	\$16,750.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303369 RC-00003342 for PO-	INTERNATIONAL INC	Monroe Model - 1992600 - 13 Alert Warning System Pro - meeting the following requirements:	4.00	\$5,219.10	\$20,876.40
Trailers		CNV306161	SYSTEMS LLC				
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00003910 for PO- 00000205	MONROE TRUCK EQUIPMENT	11' Hydraulically Reversible, Straight Moldboard Snow Plow with integral snow shield	16.00	\$5,299.00	\$84,784.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00003926 for PO- 00001661	STELLAR TRUCK & TRAILER	Tommy Gate One-piece Steel Treadplate w/27" loading depth and 4" taper (model G2-60-1342-TP27)	1.00	\$1,940.24	\$1,940.24
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00003937 for PO- CNV303372	O'HALLORAN INTERNATIONAL INC	Heavy Duty Benching Wing, Right Monroe Model - T00089813	1.00	\$14,863.00	\$14,863.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00003937 for PO- CNV303372	O'HALLORAN INTERNATIONAL INC	Ice Blade Monroe Model - T00173475i	1.00	\$16,512.00	\$16,512.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00003937 for PO- CNV303372	O'HALLORAN INTERNATIONAL INC	Dump Body, 13-Foot Monroe Model - 1992600 - 13	1.00	\$16,750.00	\$16,750.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00003937 for PO-	O'HALLORAN	Dual Sander w/Chutes	1.00	\$7,384.00	\$7,384.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303372 RC-00003937 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011285-B AI-T Anti-Ice Tandem	1.00	\$3,866.00	\$3,866.00
Trailers 7020 - Road Equipment &	L	CNV303372 RC-00003947 for PO-	INTERNATIONAL INC STELLAR TRUCK &	Monroe Model - T00116594 Tommy Gate Two-piece Extruded Aluminum w/38" loading depth and 6" taper	1.00	\$2,876.24	\$2,876.24
Trailers	7020 "B" Equipment						
		00001661	TRAILER	(Model G2-60-1342-EA38) Heavy Duty Benching Wing, Right	2.00	\$14.863.00	\$29.726.00
7020 - Road Equipment & Trailers 7020 - Road Equipment &	7020 "B" Equipment 7020 "B" Equipment 7020 "B" Equipment			(Model G2-60-1342-EA38) Heavy Duty Benching Wing, Right Monroe Model - T00089813 Ice Blade	2.00	\$14,863.00 \$16,512.00	\$29,726.00 \$33,024.00

Wideling	7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00003978 for PO- CNV303372	O'HALLORAN INTERNATIONAL INC	Dump Body, 13-Foot Monroe Model - 1992600 - 13	2.00	\$16,750.00	\$33,500.00
Continue for Continue Continue for Cont	7020 - Road Equipment &	7020 "B" Equipment	RC-00003978 for PO-	O'HALLORAN	Zero Velocity - Left	1.00	\$11,937.00	\$11,937.00
Control Cont	7020 - Road Equipment &	7020 "B" Equipment	RC-00003978 for PO-	O'HALLORAN	Dual Sander w/Chutes	1.00	\$7,384.00	\$7,384.00
Dec Content Content	7020 - Road Equipment &	7020 "B" Equipment	RC-00003978 for PO-	O'HALLORAN	AI-T Anti-Ice Tandem	1.00	\$3,866.00	\$3,866.00
West	7020 - Road Equipment &	7020 "B" Equipment	RC-00003993 for PO-	O'HALLORAN	Heavy Duty Benching Wing, Right	0.00	\$14,863.00	\$0.00
Control Cont		7020 "B" Equipment				0.00	\$16,512.00	\$0.00
According to State Company Com	Trailers		CNV303372			0.00		\$0.00
Control Cont	Trailers		CNV303372	INTERNATIONAL INC	Monroe Model - 1992600 - 13			\$0.00
Page Control Control	Trailers		CNV303372	INTERNATIONAL INC	Monroe Model - 11526-18-IOWA			
Proposed Supposed 100 Proposed 1	Trailers		CNV303372	INTERNATIONAL INC	Monroe Model - 11526GLC-IADOT-16			\$0.00
Transport	Trailers	7020 "B" Equipment	CNV303372	INTERNATIONAL INC	Monroe Model - T00124944-B			\$0.00
Transport Company Co		7020 "B" Equipment				0.00	\$7,384.00	\$0.00
Pack		7020 "B" Equipment				0.00	\$3,866.00	\$0.00
The Content of the	7020 - Road Equipment &	7020 "B" Equipment	RC-00003993 for PO-	O'HALLORAN	Anti-Ice Single	0.00	\$2,861.00	\$0.00
Compared Compared	7020 - Road Equipment &	7020 "B" Equipment	RC-00003994 for PO-	O'HALLORAN	Heavy Duty Benching Wing, Right	1.00	\$14,863.00	\$14,863.00
Section Compared Section Sec	7020 - Road Equipment &	7020 "B" Equipment	RC-00003994 for PO-	O'HALLORAN	Ice Blade	1.00	\$16,512.00	\$16,512.00
Triangle Triangle		7020 "B" Equipment	RC-00003994 for PO-	O'HALLORAN	Dump Body, 13-Foot	1.00	\$16,750.00	\$16,750.00
Trans.		7020 "B" Equipment				1.00	\$7,384.00	\$7,384.00
Table Content Conten	Trailers		CNV303372	INTERNATIONAL INC	Monroe Model - T00011285-B			\$3,866.00
Tribute Charles Char	Trailers		CNV303372	INTERNATIONAL INC	Monroe Model - T00116594			
Tribute Control Cont	Trailers		CNV303372	INTERNATIONAL INC	Monroe Model - T00089813			\$14,863.00
Transcriptor Compared Compa	Trailers		CNV303372	INTERNATIONAL INC	Monroe Model - T00173475i			\$16,512.00
Fig. Content Content		7020 "B" Equipment				1.00	\$16,750.00	\$16,750.00
Times		7020 "B" Equipment	RC-00003995 for PO-	O'HALLORAN	PT Power Tarp	1.00	\$3,089.00	\$3,089.00
Times	7020 - Road Equipment &	7020 "B" Equipment	RC-00003995 for PO-	O'HALLORAN	MT Manual Tarp	0.00	\$2,808.00	\$0.00
Proceedings	7020 - Road Equipment &	7020 "B" Equipment	RC-00003995 for PO-	O'HALLORAN	Zero Velocity - Left	0.00	\$11,937.00	\$0.00
200.0000000000000000000000000000000000	7020 - Road Equipment &	7020 "B" Equipment	RC-00003995 for PO-	O'HALLORAN	Dual Sander w/Chutes	1.00	\$7,384.00	\$7,384.00
Tracker Compared to Proceedings Processing Proces		7020 "B" Equipment				0.00	\$3,866.00	\$0.00
Tracker Part	Trailers							\$2,861.00
Tracters	Trailers		CNV303372	INTERNATIONAL INC	Monroe Model - T00116595			\$14,863.00
Tables	Trailers		CNV303372	INTERNATIONAL INC	Monroe Model - T00089813			
Tables Concept	Trailers		CNV303372	INTERNATIONAL INC	Monroe Model - T00173475i			\$16,512.00
Tables		7020 "B" Equipment				1.00	\$16,750.00	\$16,750.00
Trailers		7020 "B" Equipment				1.00	\$3,089.00	\$3,089.00
Total Residence Total Supplement Total Supple		7020 "B" Equipment				1.00	\$7,384.00	\$7,384.00
Total Four-Principles Total Equipment Total Total	7020 - Road Equipment &	7020 "B" Equipment	RC-00003996 for PO-			1.00	\$2,861.00	\$2,861.00
7007 Road Equipment & 700 ° PE Equipment RC-00003997 for PC ONALLORAN Note (Indeptedly Plew 1.00	7020 - Road Equipment &	7020 "B" Equipment	RC-00003997 for PO-	O'HALLORAN	Dual Sander w/Chutes	0.00	\$7,384.00	\$0.00
Todo Found Equipment & Color September Color	7020 - Road Equipment &	7020 "B" Equipment	RC-00003997 for PO-	O'HALLORAN	Underbody Plow	0.00	\$13,766.00	\$0.00
7202 - Road Equipment & 7020 °P Equipment RC-00003997 for PO- OPT-ALLORAN Owns Body 1-39-750 eWVE-D Owns B		7020 "B" Equipment	RC-00003997 for PO-	O'HALLORAN		0.00	\$8,509.00	\$0.00
Trailers		7020 "B" Equipment				0.00	\$17.584.00	\$0.00
Trailers	Trailers	, ,	CNV303376	INTERNATIONAL INC	Monroe Model - 1992600 - 13			\$7,384.00
Trailers CN/903376 CN/90	Trailers		CNV303376	INTERNATIONAL INC	Monroe Model - T00011285-B			
Trailers	Trailers	' '	CNV303376	INTERNATIONAL INC	Monroe Model - T00011316i			\$13,766.00
Trailers	Trailers		CNV303376	INTERNATIONAL INC	Monroe Model - T00011302			\$8,509.00
Rock Couloment Rock Ro		7020 "B" Equipment				1.00	\$17,584.00	\$17,584.00
Page		7020 "B" Equipment	RC-00003999 for PO-	O'HALLORAN		1.00	\$7,384.00	\$7,384.00
	7020 - Road Equipment &	7020 "B" Equipment	RC-00003999 for PO-	O'HALLORAN	Underbody Plow	0.00	\$13,766.00	\$0.00
1020 - Road Equipment & 7020 "B" Equipment CN3003399 for PO-CN303399 NITERNATIONAL INC Monroe Model - 1992800 - 13 NITERNATIONAL INC MODEL - 1992800 - 13 NITERNATIONAL INC MODEL - 1992800 - 13 NITERNATIONAL INC M	7020 - Road Equipment &	7020 "B" Equipment	RC-00003999 for PO-	O'HALLORAN	Heavy Duty Front Wing, Right	0.00	\$10,031.00	\$0.00
7020 - Road Equipment & 7020 'B' Equipment RC-00004001 for PO- CNV303369 INTERNATIONAL INC Monroe Model - T00011285-B 1.00 \$7,384.00 \$7020 - Road Equipment & 7020 'B' Equipment RC-00004001 for PO- CNV303369 INTERNATIONAL INC Monroe Model - T00011285-B 1.00 \$13,766.00 \$1	7020 - Road Equipment &	7020 "B" Equipment	RC-00003999 for PO-	O'HALLORAN	Dump Body	0.00	\$16,750.00	\$0.00
Trailers	7020 - Road Equipment &	7020 "B" Equipment	RC-00004001 for PO-	O'HALLORAN	Dual Sander w/Chutes	1.00	\$7,384.00	\$7,384.00
Trailers	Trailers		CNV303369	INTERNATIONAL INC	Monroe Model - T00011285-B			\$13,766.00
Trailers	Trailers		CNV303369	INTERNATIONAL INC	Monroe Model - T00011316i			\$10,031.00
Trailers	Trailers		CNV303369	INTERNATIONAL INC	Monroe Model - T00041331			
Trailers 00000205 EQUIPMENT shield	Trailers		CNV303369	INTERNATIONAL INC	Monroe Model - 1992600 - 13			\$16,750.00
Trailers	Trailers	7020 "B" Equipment	00000205	EQUIPMENT	shield	8.00	\$5,299.00	\$42,392.00
7020 - Road Equipment & 7020 'B' Equipment RC-00004108 for PO-00000205 MONROE TRUCK 11' Hydraulically Reversible, Straight Moldboard Snow Plow with integral snow 8.00 \$5,299.00 \$4,7020 - Road Equipment & 7020 'B' Equipment RC-00004119 for PO-00004209 for PO-000000000000000000000000000000000000		7020 "B" Equipment			Horizon Signal Portable Traffic Signal SQ2 System	2.00	\$39,092.00	\$78,184.00
7020 - Road Equipment & To20 'B' Equipment RC-00004119 for PO-CNV303423 Truck Equipment Inc Knapheide Steel Platform Body with Crysteel Lo-Boy Electric Double Acting Hoist 1.00 \$5,000.00 \$5,000.00 \$7020 - Road Equipment & RC-00004129 for PO-DO001130 HORIZON SIGNAL Trailers Horizon Signal Portable Traffic Signal SQ2 System 0.00 \$39,092.00	7020 - Road Equipment &	7020 "B" Equipment	RC-00004108 for PO-	MONROE TRUCK		8.00	\$5,299.00	\$42,392.00
7020 - Road Equipment & To20 "B" Equipment RC-00004129 for PO-00001130 HORIZON SIGNAL TECHNOLOGIES INC Horizon Signal Portable Traffic Signal SQ2 System 0.00 \$39,092.00 7020 - Road Equipment & To20 "B" Equipment Trailers RC-00004150 for PO-00000205 MONROE TRUCK EQUIPMENT 11' Hydraulically Reversible, Straight Moldboard Snow Plow with integral snow shield 8.00 \$5,299.00 \$4 7020 - Road Equipment & To20 - Road Equipment & To20 "B" Equipment RC-00004222 for PO-0000025 MONROE TRUCK EQUIPMENT 11' Hydraulically Reversible, Straight Moldboard Snow Plow with integral snow shield 2.00 \$5,299.00 \$1 7020 - Road Equipment & To20 "B" Equipment RC-00004252 for PO-0HALLORAN Medium Duty Rear Wing - Right 1.00 \$8,509.00 \$	7020 - Road Equipment &	7020 "B" Equipment	RC-00004119 for PO-			1.00	\$5,000.00	\$5,000.00
7020 - Road Equipment & To20 "B" Equipment RC-00004150 for PO-00000205 MONROE TRUCK EQUIPMENT 11' Hydraulically Reversible, Straight Moldboard Snow Plow with integral snow shield 8.00 \$5,299.00 \$4 7020 - Road Equipment & To20 "B" Equipment nooling in Trailers RC-00004222 for PO-00000205 MONROE TRUCK EQUIPMENT 11' Hydraulically Reversible, Straight Moldboard Snow Plow with integral snow shield 2.00 \$5,299.00 \$1 7020 - Road Equipment & To20 "B" Equipment RC-00004225 for PO-0HALLORAN OHALLORAN Medium Duty Rear Wing - Right 1.00 \$8,509.00 \$	7020 - Road Equipment &	7020 "B" Equipment	RC-00004129 for PO-		Horizon Signal Portable Traffic Signal SQ2 System	0.00	\$39,092.00	\$0.00
7020 - Road Equipment & To20 'B' Equipment RC-00004222 for PO- 0000025 MONROE TRUCK EQUIPMENT 11' Hydraulically Reversible, Straight Moldboard Snow Plow with integral snow shield 2.00 \$5,299.00 \$1 7020 - Road Equipment & To20 'B' Equipment RC-00004252 for PO- OHALLORAN Medium Duty Rear Wing - Right 1.00 \$8,599.00 \$	7020 - Road Equipment &	7020 "B" Equipment	RC-00004150 for PO-	MONROE TRUCK		8.00	\$5,299.00	\$42,392.00
Trailers 00000205 EQUIPMENT shield 7020 - Road Equipment & 7020 *B* Equipment RC-00004252 for PO- O'HALLORAN Medium Duty Rear Wing - Right 1.00 \$8,509.00 \$	Trailers							\$10,598.00
	Trailers		00000205	EQUIPMENT	shield			\$8,509.00
	Trailers		CNV303375	INTERNATIONAL INC	Monroe Model - T00011286			
7020 - Road Equipment & Trailers 7020 "B" Equipment RC-00004252 for PO-CNV303375 O'HALLORAN Dump Body, 13-Foot Monroe Model - 1992600 - 13 1.00 \$16,750.00 \$16,750.00 \$1		7020 B Equipment				1.00	\$16,750.00	\$16,750.00

7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004252 for PO- CNV303375	O'HALLORAN INTERNATIONAL INC	MT Manual Tarp Monroe Model - 11526GLC-IADOT-16	1.00	\$2,808.00	\$2,808.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004252 for PO- CNV303375	O'HALLORAN INTERNATIONAL INC	Zero Velocity - Left Monroe Model - T00124944-B	1.00	\$11,937.00	\$11,937.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004252 for PO- CNV303375	O'HALLORAN INTERNATIONAL INC	Al-T Anti-Ice Tandem Monroe Model - T00116594	1.00	\$3,866.00	\$3,866.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00004252 for PO-	O'HALLORAN	Underbody Plow	1.00	\$13,766.00	\$13,766.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303375 RC-00004363 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011316i DSC	1.00	\$7,384.00	\$7,384.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303426 RC-00004363 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011285-B UBP	1.00	\$14,737.00	\$14,737.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303426 RC-00004363 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011316i LDMW-D	1.00	\$12,298.00	\$12,298.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303426 RC-00004363 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00122560 DB-11'	1.00	\$14,340.00	\$14,340.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303426 RC-00004364 for PO-	INTERNATIONAL INC	Monroe Model - T1777640 - 11 Dual Sander w/Chutes	1.00	\$7,384.00	\$7,384.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303370 RC-00004364 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011285-B Al-T Anti-Ice Tandem	1.00	\$3,866.00	\$3,866.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303370 RC-00004364 for PO-	INTERNATIONAL INC	Monroe Model - T00116594 Underbody Plow	1.00	\$13,766.00	\$13,766.00
Trailers		CNV303370	INTERNATIONAL INC	Monroe Model - T00011316i			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004364 for PO- CNV303370	O'HALLORAN INTERNATIONAL INC	Heavy Duty Front Wing, Right Monroe Model - T00041331	1.00	\$10,031.00	\$10,031.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004364 for PO- CNV303370	O'HALLORAN INTERNATIONAL INC	Dump Body, 13-Foot Monroe Model - 1992600 - 13	1.00	\$16,750.00	\$16,750.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004386 for PO- CNV303370	O'HALLORAN INTERNATIONAL INC	Dual Sander w/Chutes Monroe Model - T00011285-B	1.00	\$7,384.00	\$7,384.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004386 for PO- CNV303370	O'HALLORAN INTERNATIONAL INC	Underbody Plow Monroe Model - T00011316i	1.00	\$13,766.00	\$13,766.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004386 for PO- CNV303370	O'HALLORAN INTERNATIONAL INC	Heavy Duty Front Wing, Right Monroe Model - T00041331	1.00	\$10,031.00	\$10,031.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004386 for PO- CNV303370	O'HALLORAN INTERNATIONAL INC	Dump Body, 13-Foot Monroe Model - 1992600 - 13	1.00	\$16,750.00	\$16,750.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004388 for PO- CNV303373	O'HALLORAN INTERNATIONAL INC	MT Manual Tarp Monroe Model - 11526GLC-IADOT-16	1.00	\$2,808.00	\$2,808.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00004388 for PO-	O'HALLORAN INTERNATIONAL INC	Monroe Model - 11526GC-IADO1-16 Zero Velocity - Left Monroe Model - T00124944-B	1.00	\$11,937.00	\$11,937.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303373 RC-00004388 for PO-	O'HALLORAN	AI-T Anti-Ice Tandem	1.00	\$3,866.00	\$3,866.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303373 RC-00004388 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00116594 Heavy Duty Benching Wing, Right	1.00	\$14,863.00	\$14,863.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303373 RC-00004388 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00089813 Ice Blade	1.00	\$16,512.00	\$16,512.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303373 RC-00004388 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00173475i Dump Body, 13-Foot	1.00	\$16,750.00	\$16,750.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303373 RC-00004396 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - 1992600 - 13 Heavy Duty Benching Wing, Right	1.00	\$14,863.00	\$14,863.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303372 RC-00004396 for PO-	INTERNATIONAL INC	Monroe Model - T00089813	1.00	\$16,512.00	\$16,512.00
Trailers		CNV303372	INTERNATIONAL INC	Monroe Model - T00173475i			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004396 for PO- CNV303372	O'HALLORAN INTERNATIONAL INC	Dump Body, 13-Foot Monroe Model - 1992600 - 13	1.00	\$16,750.00	\$16,750.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004396 for PO- CNV303372	O'HALLORAN INTERNATIONAL INC	MT Manual Tarp Monroe Model - 11526GLC-IADOT-16	1.00	\$2,808.00	\$2,808.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004396 for PO- CNV303372	O'HALLORAN INTERNATIONAL INC	Zero Velocity - Left Monroe Model - T00124944-B	1.00	\$11,937.00	\$11,937.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004396 for PO- CNV303372	O'HALLORAN INTERNATIONAL INC	Al-T Anti-Ice Tandem Monroe Model - T00116594	1.00	\$3,866.00	\$3,866.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004480 for PO- 00000151	VAN-WALL EQUIPMENT INC	John Deere RB2410 - 10 ft. Heavy Plus Rear Blade	3.00	\$6,675.05	\$20,025.15
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004594 for PO- 00001590	THATSMYTRUCK.COM	DiamondBack 270, Black Per the below requirements	5.00	\$2,115.00	\$10,575.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004601 for PO- 00001590	THATSMYTRUCK.COM	DiamondBack 270, Black Per the below requirements	10.00	\$2,115.00	\$21,150.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004699 for PO- CNV303429	O'HALLORAN INTERNATIONAL INC	DSC Monroe Model - T00011285-B	1.00	\$7,384.00	\$7,384.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004699 for PO- CNV303429	O'HALLORAN INTERNATIONAL INC	Monroe Model - T00011316i	1.00	\$14,737.00	\$14,737.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00004699 for PO-	O'HALLORAN	LDMW-R	1.00	\$6,780.00	\$6,780.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303429 RC-00004699 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00136790 DB-10'	1.00	\$14,060.00	\$14,060.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303429 RC-00004700 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T1755140 - 10 DSC	1.00	\$7,384.00	\$7,384.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303426 RC-00004700 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011285-B AI-S	1.00	\$2,861.00	\$2,861.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303426 RC-00004700 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00116595 UBP	1.00	\$14,737.00	\$14,737.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303426 RC-00004700 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011316i LDMW-D	1.00	\$12,298.00	\$12,298.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303426 RC-00004700 for PO-	INTERNATIONAL INC	Monroe Model - T00122560 DB-11'	1.00	\$14,340.00	\$14,340.00
Trailers 7020 - Road Equipment & 7020 - Road Equipment &		RC-00004700 for PO- CNV303426 RC-00004701 for PO-	INTERNATIONAL INC	Monroe Model - T1777640 - 11 11' Hydraulically Reversible, Straight Moldboard Snow Plow with integral snow		\$14,340.00 \$5,299.00	\$14,340.00 \$42,392.00
Trailers	7020 "B" Equipment	00000205	EQUIPMENT	shield	8.00		
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004743 for PO- CNV303426	O'HALLORAN INTERNATIONAL INC	DSC Monroe Model - T00011285-B	1.00	\$7,384.00	\$7,384.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004743 for PO- CNV303426	O'HALLORAN INTERNATIONAL INC	AI-S Monroe Model - T00116595	1.00	\$2,861.00	\$2,861.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004743 for PO- CNV303426	O'HALLORAN INTERNATIONAL INC	UBP Monroe Model - T00011316i	1.00	\$14,737.00	\$14,737.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004743 for PO- CNV303426	O'HALLORAN INTERNATIONAL INC	LDMW-R Monroe Model - T00122560	1.00	\$6,780.00	\$6,780.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004743 for PO- CNV303426	O'HALLORAN INTERNATIONAL INC	DB-11' Monroe Model - T1777640 - 11	1.00	\$14,340.00	\$14,340.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004759 for PO- CNV303426	O'HALLORAN INTERNATIONAL INC	DSC Monroe Model - T00011285-B	1.00	\$7,384.00	\$7,384.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004759 for PO- CNV303426	O'HALLORAN INTERNATIONAL INC	AI-S Monroe Model - T00116595	1.00	\$2,861.00	\$2,861.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004759 for PO- CNV303426	O'HALLORAN INTERNATIONAL INC	UBP Monroe Model - T00011316i	1.00	\$14,737.00	\$14,737.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004759 for PO- CNV303426	O'HALLORAN	LDMW-D	1.00	\$12,298.00	\$12,298.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00004759 for PO-	INTERNATIONAL INC	Monroe Model - T00122560 DB-11' Monroe Model - T7777640 - 44	1.00	\$14,340.00	\$14,340.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303426 RC-00004810 for PO-	INTERNATIONAL INC Thomas Bus Sales Of IA	Monroe Model - T1777640 - 11 2022 Big Tex 70CH-18 - 83" x 16" Flat + 2' Dovetail Trailer	3.00	\$5,045.00	\$15,135.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00002040 RC-00004816 for PO-	MONROE TRUCK	11' Hydraulically Reversible, Straight Moldboard Snow Plow with integral snow	8.00	\$5,299.00	\$42,392.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000205 RC-00004935 for PO-	EQUIPMENT O'HALLORAN	shield WTG-DSC	1.00	\$9,676.00	\$9,676.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303426 RC-00004935 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00154370-C UBP	1.00	\$14,737.00	\$14,737.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303426 RC-00004935 for PO-	INTERNATIONAL INC	Monroe Model - T00011316i LDMW-D	1.00	\$12,298.00	\$12,298.00
					1.00	ψ12,230.00	ψ12,230.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303426 RC-00004935 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00122560 DB-11'	1.00	\$14,340.00	\$14,340.00

7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004948 for PO- CNV303429	O'HALLORAN INTERNATIONAL INC	Contractor Body, 12' Monroe Model - 2300530	1.00	\$13,873.00	\$13,873.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004948 for PO- CNV303429	O'HALLORAN INTERNATIONAL INC	UBP Monroe Model - T00011316i	1.00	\$14,737.00	\$14,737.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004948 for PO- CNV303429	O'HALLORAN INTERNATIONAL INC	MDRW-R Monroe Model - T00122560	1.00	\$8,299.00	\$8,299.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004949 for PO- CNV303426	O'HALLORAN INTERNATIONAL INC	ZV-R Monroe Model - T00124946-B	1.00	\$12,246.00	\$12,246.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00004949 for PO- CNV303426	O'HALLORAN INTERNATIONAL INC	UBP	1.00	\$14,737.00	\$14,737.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00004949 for PO-	O'HALLORAN	Monroe Model - T00011316i LDMW-D	1.00	\$12,298.00	\$12,298.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303426 RC-00004949 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00122560 DB-11'	1.00	\$14,340.00	\$14,340.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303426 RC-00004950 for PO-	INTERNATIONAL INC ALERT WARNING	Monroe Model - T1777640 - 11 Alert Warning System Pro - meeting the following requirements:	6.00	\$5,219.10	\$31,314.60
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV306161 RC-00005021 for PO-	SYSTEMS LLC HORIZON SIGNAL	Horizon Signal Portable Traffic Signal SQ2 System	1.00	\$39,092.00	\$39,092.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00001130 RC-00005055 for PO-	TECHNOLOGIES INC HORIZON SIGNAL	Horizon Signal Portable Traffic Signal SQ2 System	1.00	\$39,092.00	\$39,092.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00001130 RC-00005186 for PO-	TECHNOLOGIES INC MONROE TRUCK	11' Hydraulically Reversible, Straight Moldboard Snow Plow with integral snow	2.00	\$5,299.00	\$10,598.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000205 RC-00005186 for PO-	EQUIPMENT MONROE TRUCK	shield 11' Hydraulically Reversible, One-Way Funnel Moldboard Snow Plow	5.00	\$5,957.00	\$29,785.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000205 RC-00005191 for PO-	EQUIPMENT STELLAR TRUCK &	Tommy Gate G2-60-1342 EA38 Two Piece Extruded Aluminum w/38" loading	1.00	\$2,993.24	\$2,993.24
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00002275 RC-00005260 for PO-	TRAILER HENDERSON PRODUCTS	Depth + 6" taper Snow Truck Dump Body Wedge Tank Kits - Single Axle Truck	1.00	\$2,056.00	\$2,056.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000140 RC-00005260 for PO-	INC HENDERSON PRODUCTS		7.00	\$2,510.00	\$17,570.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000140 RC-00005322 for PO-	INC THATSMYTRUCK.COM	Per specification 2-SGL-13-TDM-B569-0721 Cargo Glide 1000lb Ford XSB	20.00	\$1,237.00	\$24,740.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00001589 RC-00005366 for PO-	O'HALLORAN	DSC	1.00	\$7,384.00	\$7,384.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303430 RC-00005366 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011285-B LDW-R	1.00	\$5,249.00	\$5,249.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303430 RC-00005366 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00031851 DB-10'	1.00	\$14,060.00	\$14,060.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303430 RC-00005367 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T1755140 - 10 WTG-DSC	1.00	\$11,241.00	\$11,241.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303433 RC-00005367 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00154370-C UBP	1.00	\$13,770.00	\$13,770.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303433 RC-00005367 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011316i MDRW-R	1.00	\$8,458.00	\$8,458.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303433 RC-00005367 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011302 Dump Body - 14-Foot	1.00	\$18,517.00	\$18,517.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303433 RC-00005369 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - 1992607 - 14 MT	1.00	\$2,558.00	\$2,558.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303428 RC-00005369 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - 11526GLC-IADOT-13 ZV-L	1.00	\$11,909.00	\$11,909.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303428 RC-00005369 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00124944-B AI-S	1.00	\$2,861.00	\$2,861.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303428 RC-00005369 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00116595	1.00	\$14,737.00	\$14,737.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303428 RC-00005369 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011316i MDRW-R	1.00	\$8,299.00	\$8,299.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303428 RC-00005369 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00122560 DB-10'	1.00	\$14,060.00	\$14,060.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303428 RC-00005395 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T1755140 - 10 MT	1.00	\$2,558.00	\$2,558.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303428 RC-00005395 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - 11526GLC-IADOT-13 ZV-L	1.00	\$11,909.00	\$11,909.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303428 RC-00005395 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00124944-B Al-S	1.00	\$2,861.00	\$2,861.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303428 RC-00005395 for PO-	INTERNATIONAL INC O'HALLORAN	Wonroe Model - T00116595 UBP	1.00	\$14,737.00	\$14,737.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303428 RC-00005395 for PO-	INTERNATIONAL INC	Monroe Model - T00011316i MDRW-R	1.00	\$8,299.00	\$8,299.00
Trailers 7020 - Road Equipment &		CNV303428 RC-00005395 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00122560 DB-10'	1.00	\$14,060.00	
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303428 RC-00005429 for PO-	INTERNATIONAL INC PPG ARCHITECTURAL	Monroe Model - T1755140 - 10 Graco GrindLazer HP DC1013 G Gas Powered Scarifier	1.00	\$7,541.05	\$7,541.05
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00002406 RC-00005431 for PO-	FINISH THATSMYTRUCK.COM	DiamondBack 270, Black	5.00	\$2,115.00	\$10,575.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00001590 RC-00005471 for PO-	KERMIT MISKELL & SONS	Per the below requirements Vermeer M6050 Multi Disc Mower	1.00	\$11,664.68	\$11,664.68
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00002382 RC-00005476 for PO-	LTD Thomas Bus Sales Of IA	Includes full set of replacement blades, clips and blade pins Bio Tex 70ST-13 Single Axle Tilt Deck Trailer	1.00	\$6,125.00	\$6,125.00
Trailers 7020 - Road Equipment & 7020 - Road Equipment &	7020 "B" Equipment	00002443 RC-00005566 for PO-	O'HALLORAN	Big Tex 7051-13 Single Axie Tilt Deck Trailer 16 foot Tough-Line Platform Body, installed	1.00	\$12,756.00	\$6,125.00 \$12,756.00
Trailers 7020 - Road Equipment &		CNV306109 RC-00005657 for PO-	INTERNATIONAL INC	MT			
Trailers 7020 - Road Equipment & Trailers 7020 - Road Equipment &	7020 "B" Equipment 7020 "B" Equipment	CNV303428 RC-00005657 for PO-	INTERNATIONAL INC	M I Monroe Model - 11526GLC-IADOT-13 ZV-R	1.00	\$2,558.00 \$12,246.00	\$2,558.00 \$12,246.00
Trailers 7020 - Road Equipment & 7020 - Road Equipment &	7020 "B" Equipment	CNV303428 RC-00005657 for PO-	INTERNATIONAL INC	ZV-R Monroe Model - T00124946-B AI-S	1.00	\$12,246.00	\$12,246.00
Trailers 7020 - Road Equipment & 7020 - Road Equipment &	7020 "B" Equipment	CNV303428 RC-00005657 for PO-	INTERNATIONAL INC	Monroe Model - T00116595	1.00	\$2,861.00	\$2,861.00
Trailers 7020 - Road Equipment & Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303428 RC-00005657 for PO-	INTERNATIONAL INC	Monroe Model - T00011316i MDRW-L	1.00	\$14,737.00	\$14,737.00
Trailers 7020 - Road Equipment & Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303428 RC-00005657 for PO-	INTERNATIONAL INC	MDRW-L Monroe Model - T00122561 DB-10'	1.00	\$14,060.00	\$8,299.00
Trailers 7020 - Road Equipment &	7020 B Equipment	CNV303428 RC-00005736 for PO-	INTERNATIONAL INC	Monroe Model - T1755140 - 10 Alert Warning System Pro - meeting the following requirements:	6.00	\$14,060.00	\$31,314.60
Trailers 7020 - Road Equipment & 7020 - Road Equipment &	7020 B Equipment	CNV306161 RC-00005784 for PO-	SYSTEMS LLC Bobcat Company	Bobcat FC200 Flail Cutter	1.00	\$12,844.60	\$31,314.60 \$12,844.60
Trailers 7020 - Road Equipment &	7020 B Equipment	00002325 RC-00005852 for PO-	O'HALLORAN	DB-11'	1.00	\$12,044.00	\$12,844.60
Trailers 7020 - Road Equipment &	7020 B Equipment	CNV303427 RC-00005852 for PO-	INTERNATIONAL INC	Monroe Model - T1777640 - 11	1.00	\$14,340.00	\$2,558.00
Trailers 7020 - Road Equipment &	7020 B Equipment	CNV303427 RC-00005852 for PO-	INTERNATIONAL INC	Monroe Model - 11526GLC-IADOT-13 ZV-R	1.00	\$12,246.00	\$2,356.00 \$12,246.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303427 RC-00005852 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00124946-B AI-S	1.00	\$2,861.00	\$2,861.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303427 RC-00005852 for PO-	INTERNATIONAL INC O'HALLORAN	Wonroe Model -T00116595	1.00	\$14,737.00	\$14,737.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303427 RC-00005852 for PO-	INTERNATIONAL INC O'HALLORAN	Monroe Model - T00011316i MDRW-L	1.00	\$8,299.00	\$8,299.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	CNV303427 RC-00006054 for PO-	INTERNATIONAL INC HORIZON SIGNAL	Monroe Model - T00122561 Horizon Signal Portable Traffic Signal SQ2 System	1.00	\$39,092.00	\$39,092.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00001130 RC-00006132 for PO-	TECHNOLOGIES INC HORIZON SIGNAL	Horizon Signal Portable Traffic Signal SQ2 System	1.00	\$39,092.00	\$39,092.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00001130 RC-00006247 for PO-	TECHNOLOGIES INC Murphy Tractor &	John Deere AT322309 72" Construction Bucket with edge	2.00	\$1,299.27	\$2,598.54
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00001939 RC-00006281 for PO-	Equipment Co (Des Murphy Tractor &	TAG 2yd GP Bucket	1.00	\$5,734.00	\$5,734.00
Trailers		00000614	Equipment Co (Des				

7020 - Road Equipment &	7020 "B" Equipment	RC-001648002 for PO-	KELTEK INC	BSFW478 - 17-20 Ford F150-F350 8 Light Solo/Duo Inner Edge, Two Piece	20.00	\$860.20	\$17,204.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00001648 RC-001648002 for PO-	KELTEK INC	w/Two LED Flashing Takedowns - \$635.80 (1 per system) BSRW10 - Inner Edge RST WCX 10-LT Tray - \$701.80 (1 per system)	20.00	\$982.30	\$19,646.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00001648 RC-00006321 for PO-	Murphy Tractor &	ISR47 - F-150, 15-19 & F-250/350 17-19 Mounting Kit for use w/ ISRL or ISRW Fork Attachment	1.00	\$2,862.00	\$2,862.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000614 RC-00006351 for PO-	Equipment Co (Des STORCH PRODUCTS INC	Storch Supermag-96 Permanent Ceramic Magnetic Sweeper (\$13,356.00)	1.00	\$16,489.00	\$16,489.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00002544 RC-00006396 for PO-	Murphy Tractor &	Includes Supermag-NJ-MM Bolt-On Mount (\$2265.00) Fork Attachment	3.00	\$2,862.00	\$8,586.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000614 RC-00006396 for PO-	Equipment Co (Des Murphy Tractor &	TAG 2yd GP Bucket	1.00	\$5,734.00	\$5,734.00
Trailers		00000614	Equipment Co (Des				
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00006396 for PO- 00000614	Murphy Tractor & Equipment Co (Des	TAG 2.5 yd Bucket	2.00	\$6,566.40	\$13,132.80
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00006400 for PO- 00002363	Murphy Tractor & Equipment Co (Des	Lycox Enterprises Shoulder Disc (Rock Retriever)	1.00	\$20,150.00	\$20,150.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00006451 for PO- 00002272	DIAMOND MOWERS LLC	Diamond FBS048-G - 48" Skid Steer Disc Mulcher Pro X (30-37 GPM)	1.00	\$18,619.00	\$18,619.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00006470 for PO- 00002415	VER-MAC INC	4x8 LED Arrow Board with Standard Controller, Cables and Solar Kit	2.00	\$3,888.25	\$7,776.50
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00006676 for PO- 00000608	MTI DISTRIBUTING INC	Broom Attachment - KJ520 (39.55401) & 12V Actuator (70.8211)	1.00	\$5,007.20	\$5,007.20
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00006676 for PO- 00000608	MTI DISTRIBUTING INC	Finish Mower MS720 (39.55111) Attachment & Hydraulic Flip Up (70.8214)	1.00	\$4,408.80	\$4,408.80
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00006676 for PO- 00000608	MTI DISTRIBUTING INC	V-Blade KV552 (39.55271) Attachment	1.00	\$2,543.20	\$2,543.20
7020 - Road Equipment &	7020 "B" Equipment	RC-00006676 for PO-	MTI DISTRIBUTING INC	48" Snow Blower KX480 (39.55428) Attachment & 12V Actuator (70.8025)	1.00	\$4,822.40	\$4,822.40
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000608 RC-00006676 for PO-	MTI DISTRIBUTING INC	Power Rake Attachment KP540 (39.55435)	1.00	\$6,960.80	\$6,960.80
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000608 RC-00006699 for PO-	HORIZON SIGNAL	Horizon Signal Portable Traffic Signal SQ2 System	1.00	\$39,092.00	\$39,092.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00001130 RC-00006772 for PO-	TECHNOLOGIES INC HORIZON SIGNAL	Horizon Signal Portable Traffic Signal SQ2 System	1.00	\$39,092.00	\$39,092.00
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00001130 RC-00006806 for PO-	TECHNOLOGIES INC	PM 8 Ton Articulated Boom, including Personnel Basket	2.00	\$34,421.00	\$68,842.00
Trailers		CNV304607	INTERNATIONAL INC	·			
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00006806 for PO- CNV304607	O'HALLORAN INTERNATIONAL INC	Knapheide Cargo Hauler Flatbed Platform 14' *Alternate bid*	2.00	\$14,780.00	\$29,560.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00006851 for PO- 00002381	HIWAY TRUCK EQUIPMENT INC	Swenson STCC Cross Conveyor Spreader, Carbon Steel	7.00	\$7,697.00	\$53,879.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00006860 for PO- 00001130	HORIZON SIGNAL TECHNOLOGIES INC	Horizon Signal Portable Traffic Signal SQ2 System	1.00	\$39,092.00	\$39,092.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00006903 for PO- 00002654	KELTEK INC	Lightbar (IADOTSY5)- Per attached quote.	63.00	\$1,848.00	\$116,424.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00006917 for PO- 00001748	THATSMYTRUCK.COM	Access Roll-up Covers Item 11379 - QTY 2	1.00	\$435.00	\$435.00
7020 - Road Equipment &	7020 "B" Equipment	RC-00006927 for PO-	Murphy Tractor &	John Deere AT322309 72" Construction Bucket with edge	1.00	\$1,299.27	\$1,299.27
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00001939 RC-00006927 for PO-	Equipment Co (Des Murphy Tractor &	John Deere HD Construction 78" Bucket with edge, AT322310	1.00	\$1,296.52	\$1,296.52
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00001939 RC-00006985 for PO-	Equipment Co (Des Bobcat Company	HB980 Hydraulic Breaker with Nail Point (P/N 7113421)	1.00	\$7,560.79	\$7,560.79
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000811 RC-00006985 for PO-	Bobcat Company	Hose Kit - E60, E42 & E50 R2 All Arms (P/N 7175244) 84" Angle Broom (P/N 7337715)	2.00	\$5,676.51	\$11,353.02
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000811 RC-00006985 for PO-	Bobcat Company	Quick-Tach Mounting Kit (P/N 7152508) 4K Heavy Duty Pallet Fork Frame (P/N 7294305)	2.00	\$554.80	\$1,109.60
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000811 RC-00006985 for PO-	Bobcat Company	48" 4K Heavy Duty Pallet Fork Teeth (6540182) 74" Heavy Duty Bucket (P/N 7272680)	1.00	\$914.28	\$914.28
Trailers 7020 - Road Equipment &	7020 "B" Equipment	00000811 RC-00007034 for PO-	VAN-WALL EQUIPMENT	Wallenstein BX102R Wood Chipper - 540 RPM	2.00	\$14,615.00	\$29,230.00
Trailers		00002020	INC				
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00007086 for PO- 00001748	THATSMYTRUCK.COM	Access Roll-up Covers Item 11379 - QTY 2	1.00	\$435.00	\$435.00
7020 - Road Equipment & Trailers	7020 "B" Equipment	RC-00007091 for PO- 00002369	SCHULTE USA INC	Schulte SMR-800 Multi-Skid Steer Windrower/Landscape Rake	1.00	\$16,161.34	\$16,161.34
7020 - Road Equipment & Trailers Total					881.00	0	\$7,974,108.00
7030 - Large Office Furniture & Files	7030 "C" Equipment	RC-00000588 for PO- 00000165	Office Depot Inc (Inactive)	Waterloo Service Center Wire Shelving (2) Realspace® Wire Shelving, 4-Shelves, 72"H x 48"W x 18"D, Chrome	2.00	\$98.63	\$197.26
7030 - Large Office Furniture & Files	7030 "C" Equipment	RC-00000588 for PO- 00000165	Office Depot Inc (Inactive)	Waterloo Service Center Wire Shelving (1) Realspace® Wire Shelving, 3-Shelves, 30"H x 23"W x 13"D, Black	1.00	\$30.55	\$30.55
7030 - Large Office Furniture & Files	7030 "C" Equipment	RC-00000887 for PO- 00000211	W W GRAINGER INC	Waterloo Service Center Break Room Table (1) square bistro table, height adjustable, 36" wide	1.00	\$325.92	\$325.92
7030 - Large Office Furniture & Files	7030 "C" Equipment	RC-00001031 for PO- 00000303	Uline Inc	WALL-MOUNT FLAMMABLE STORAGE CABINET - MANUAL DOORS, YELLOW, 20 GALLON	1.00	\$806.38	\$806.38
7030 - Large Office	7030 "C" Equipment	RC-00001998 for PO-	Office Depot Inc (Inactive)	Fort Dodge Service Center	1.00	\$57.66	\$57.66
Furniture & Files 7030 - Large Office	7030 "C" Equipment	00000165 RC-00002616 for PO-	W W GRAINGER INC	Wire shelving 4 shelves, 36" w x 14" d x 54" high Waterloo Service Center Lockers (10)	10.00	\$394.55	\$3,945.50
Furniture & Files 7030 - Large Office		00000212		wardrobe locker, 15" w x 18" d x 78" h	16.00	0	\$5,363.27
Furniture & Files Total 7040 - Shop Tools & Small	7040 "D" Equipment	RC-00000166 for PO-	Uline Inc	Dual Gas Cylinder Hand Truck		\$189.00	\$189.00
Equipment	1				1.00		
7040 - Shop Tools & Small	7040 "D" Equipment	00000005 RC-00000661 for PO-	MICRODYNAMICS	Model: H-3193 Distance Meter			\$21.645.00
7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small		RC-00000661 for PO- 00000055	INSTRUMENTATION LLC	Model: H-3193 Distance Meter JAMAR RAC Geo II K or Microdynamics DOT-Z1 Pro or equivalent	37.00	\$585.00	\$21,645.00 \$3,089.85
Equipment 7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00000661 for PO- 00000055 RC-00001014 for PO- 00000056	INSTRUMENTATION LLC Sadler Power Train Inc	Model: H-3193 Distance Meter JAMAR RAC Geo II K or Microdynamics DOT-Z1 Pro or equivalent Body Prop, Dump-Lok DLN-105WT pair (2) notched model	37.00	\$585.00 \$1,029.95	\$3,089.85
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment	7040 "D" Equipment 7040 "D" Equipment	RC-00000661 for PO- 00000055 RC-00001014 for PO- 00000056 RC-00001103 for PO- 00000166	INSTRUMENTATION LLC Sadler Power Train Inc MICRODYNAMICS INSTRUMENTATION LLC	Model: H-3193 Distance Meter JAMAR RAC Geo II K or Microdynamics DOT-Z1 Pro or equivalent Body Prop, Dump-Lok DLN-105WT pair (2) notched model Microdynamics DOT-Z1 Pro Distance Meter	37.00 3.00 3.00	\$585.00 \$1,029.95 \$585.00	\$3,089.85 \$1,755.00
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Equipment	7040 "D" Equipment 7040 "D" Equipment 7040 "D" Equipment	RC-00000661 for PO- 00000055 RC-00001014 for PO- 00000056 RC-00001103 for PO- 0000166 RC-00001226 for PO- 00000392	INSTRUMENTATION LLC Sadler Power Train Inc MICRODYNAMICS INSTRUMENTATION LLC Airgas USA LLC	Model: H-3193 Distance Meter JAMAR RAC Geo II K or Microdynamics DOT-Z1 Pro or equivalent Body Prop, Dump-Lok DLN-105WT pair (2) notched model Microdynamics DOT-Z1 Pro Distance Meter PARR Powered Welding Helmet System 3M 36-1101-205W & 3M Speedglas 15-0499-99x02 cartridges	37.00 3.00 3.00 5.00	\$585.00 \$1,029.95 \$585.00 \$1,702.23	\$3,089.85 \$1,755.00 \$8,511.15
Equipment 7040 - Shop Tools & Small Equipment	7040 *D* Equipment 7040 *D* Equipment 7040 *D* Equipment 7040 *D* Equipment	RC-0000661 for PO- 00000055 RC-00001014 for PO- 0000056 RC-00001103 for PO- 00000168 RC-00001226 for PO- 00000392 RC-00001247 for PO- 00000382	INSTRUMENTATION LLC Sadier Power Train Inc MICRODYNAMICS INSTRUMENTATION LLC Airgas USA LLC MICRODYNAMICS INSTRUMENTATION LLC INSTRUMENTATION LLC	Model: H-3193 Distance Meter JAMAR RAC Geo II K or Microdynamics DOT-Z1 Pro or equivalent Body Prop, Dump-Lok DLN-105WT pair (2) notched model Microdynamics DOT-Z1 Pro Distance Meter PARR Powered Welding Helmet System 3M 36-1101-205W & 3M Speedglas 15-0499-99x02 cartridges Microdynamics DOT-Z1 Pro Distance Meter	37.00 3.00 3.00 5.00	\$585.00 \$1,029.95 \$585.00 \$1,702.23	\$3,089.85 \$1,755.00 \$8,511.15 \$585.00
Equipment 7040 - Shop Tools & Small Equipment	7040 "D" Equipment 7040 "D" Equipment 7040 "D" Equipment	RC-00000661 for PO- 0000055 RC-00001014 for PO- 0000056 RC-00001103 for PO- 00000166 RC-00001226 for PO- 00000392 RC-00001247 for PO-	INSTRUMENTATION LLC Sadler Power Train Inc MICRODYNAMICS INSTRUMENTATION LLC Airgas USA LLC MICRODYNAMICS	Model: H-3193 Distance Meter JAMAR RAC Geo II K or Microdynamics DOT-Z1 Pro or equivalent Body Prop, Dump-Lok DLN-105WT pair (2) notched model Microdynamics DOT-Z1 Pro Distance Meter PARR Powered Welding Helmet System 3M 36-1101-205W & 3M Speedglas 15-0499-99x02 cartridges	37.00 3.00 3.00 5.00	\$585.00 \$1,029.95 \$585.00 \$1,702.23	\$3,089.85 \$1,755.00 \$8,511.15
Equipment 7040 - Shop Tools & Small Fequipment 7040 - Shop Tools & Small	7040 *D* Equipment 7040 *D* Equipment 7040 *D* Equipment 7040 *D* Equipment	RC-0000661 for PO- 00000055 RC-00001014 for PO- 0000056 RC-00001103 for PO- 0000186 RC-00001226 for PO- 00000382 RC-00001247 for PO- 00000382 RC-00001263 for PO-	INSTRUMENTATION LLC Sadler Power Train Inc MICRODYNAMICS INSTRUMENTATION LLC Airgas USA LLC MICRODYNAMICS INSTRUMENTATION LLC O'HALLORAN O'HALLORAN	Model: H-3f93 Distance Meter JAMAR RAC Geo II K or Microdynamics DOT-Z1 Pro or equivalent Body Prop, Dump-Lok DLN-105WT pair (2) notched model Microdynamics DOT-Z1 Pro Distance Meter PARR Powered Welding Helmet System 3M 36-1101-205W & 3M Speedglas 15-0499-99x02 cartridges Microdynamics DOT-Z1 Pro Distance Meter Radiator Coolant Filler	37.00 3.00 3.00 5.00	\$585.00 \$1,029.95 \$585.00 \$1,702.23	\$3,089.85 \$1,755.00 \$8,511.15 \$585.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	RC-0000661 for PO- 00000055 RC-00001014 for PO- 00000056 RC-00001103 for PO- 00000168 RC-00001226 for PO- 00000382 RC-00001247 for PO- 00000382 RC-00001263 for PO- 00000445 RC-00001400 for PO- 00000400 RC-00001409 for PO-	INSTRUMENTATION LLC Sadier Power Train Inc MICRODYNAMICS INSTRUMENTATION LLC Airgas USA LLC MICRODYNAMICS INSTRUMENTATION LLC OHALLORAN INTERNATIONAL INC	Model: H-3193 Distance Meter JAMAR RAC Geo II K or Microdynamics DOT-Z1 Pro or equivalent Body Prop, Dump-Lok DLN-105WT pair (2) notched model Microdynamics DOT-Z1 Pro Distance Meter PARR Powered Welding Helmet System 3M 36-1101-205W & 3M Speedglas 15-0499-99x02 cartridges Microdynamics DOT-Z1 Pro Distance Meter Radiator Coolant Filler Navistar model KL5007NAV for Navistar trucks	37.00 3.00 3.00 5.00 1.00	\$585.00 \$1,029.95 \$585.00 \$1,702.23 \$585.00 \$1,450.00	\$3,089.85 \$1,755.00 \$8,511.15 \$585.00 \$2,900.00
Equipment 7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-0000661 for PO- 00000055 RC-00001014 for PO- 00000058 RC-00001103 for PO- 00000186 RC-00001226 for PO- 00000382 RC-00001227 for PO- 00000382 RC-00001247 for PO- 00000445 RC-00001400 for PO- 00000400 RC-00001400 for PO- 00000401	INSTRUMENTATION LLC Sadier Power Train Inc MICRODYNAMICS INSTRUMENTATION LLC Airgas USA LLC MICRODYNAMICS INSTRUMENTATION LLC O'HALLORAN INTERNATIONAL INC Dultmeier Sales	Model: H-3f93 Distance Meter JAMAR RAC Geo II K or Microdynamics DOT-Z1 Pro or equivalent Body Prop, Dump-Lok DLN-105WT pair (2) notched model Microdynamics DOT-Z1 Pro Distance Meter PARR Powered Welding Helmet System 3M 36-1101-205W & 3M Speedglas 15-0499-99x02 cartridges Microdynamics DOT-Z1 Pro Distance Meter Radiator Coolant Filler Navistar model KL5007NAV for Navistar trucks Dultmeier BPS3000-SS Brine Maker Dultmeier BPS3000-SS Brine Maker Pump 3*-7.5 HP, 208V 3-Phase	37.00 3.00 3.00 5.00 1.00 2.00	\$585.00 \$1,029.95 \$585.00 \$1,702.23 \$585.00 \$1,450.00	\$3,089.85 \$1,755.00 \$8,511.15 \$585.00 \$2,900.00
Equipment 7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-0000661 for PO- 00000055 RC-0001014 for PO- 00000056 RC-00001103 for PO- 00000186 RC-00001226 for PO- 00000382 RC-00001247 for PO- 00000382 RC-00001263 for PO- 00000445 RC-00001400 for PO- 00000400 RC-00001400 for PO- 00000400 RC-00001401 for PO- 00000401 RC-00001401 for PO- 000001401 for PO-	INSTRUMENTATION LLC Sadier Power Train Inc MICRODYNAMICS INSTRUMENTATION LLC Airgas USA LLC MICRODYNAMICS INSTRUMENTATION LLC OHALLORAN INTERNATIONAL INC Dultmeier Sales Dultmeier Sales	Model: H-3193 Distance Meter JAMAR RAC Geo II K or Microdynamics DOT-Z1 Pro or equivalent Body Prop, Dump-Lok DLN-105WT pair (2) notched model Microdynamics DOT-Z1 Pro Distance Meter PARR Powered Welding Helmet System 3M 36-1101-205W & 3M Speedglas 15-0499-99x02 cartridges Microdynamics DOT-Z1 Pro Distance Meter Radiator Coolant Filler Navistar model KL500TNAV for Navistar trucks Dultmeier BPS3000-SS Brine Maker Duttmeier BPS3000-SS Brine Maker Pump 3*-7.5 HP, 208V 3-Phase 3* inlet and outlet Pump 3*-7.5 HP, 208V-3-01-Phase	37.00 3.00 3.00 5.00 1.00 2.00 1.00	\$585.00 \$1,029.95 \$585.00 \$1,702.23 \$585.00 \$1,450.00 \$42,800.00	\$3,089.85 \$1,755.00 \$8,511.15 \$585.00 \$2,900.00 \$42,800.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	RC-0000661 for PO- 00000055 RC-0001014 for PO- 00000056 RC-00001123 for PO- 00000186 RC-00001226 for PO- 00000382 RC-00001226 for PO- 00000382 RC-00001263 for PO- 00000445 RC-00001400 for PO- 00000400 RC-00001400 for PO- 00000400 RC-00001451 for PO- 00000111 RC-00001451 for PO- 00000111 RC-00001451 for PO- 00000111	INSTRUMENTATION LLC Sadler Power Train Inc MICRODYNAMICS INSTRUMENTATION LLC Airgas USA LLC MICRODYNAMICS INSTRUMENTATION LLC OHALLORAN INTERNATIONAL INC Dultmeier Sales Dultmeier Sales Sprayer Specialties Inc	Model: H-3193 Distance Meter JAMAR RAC Geo II K or Microdynamics DOT-Z1 Pro or equivalent Body Prop, Dump-Lok DLN-105WT pair (2) notched model Microdynamics DOT-Z1 Pro Distance Meter PARR Powered Welding Helmet System 3M 36-1101-205W & 3M Speedglas 15-0499-99x02 cartridges Microdynamics DOT-Z1 Pro Distance Meter Radiator Coolant Filler Radiator Coolant Filler Navistar model KL5007NAV for Navistar trucks Dultmeier BPS3000-SS Brine Maker Duttmeier BPS3000-SS Brine Maker Pump 3*-7.5 HP, 208V 3-Phase 3* inlet and outlet Pump 3*-7.5 HP, 208-230V 1-Phase 3* inlet and outlet Pump 2*-7.5 HP, 208-230V 1-Phase 3* inlet and outlet	37.00 3.00 3.00 5.00 1.00 2.00 1.00 4.00	\$585.00 \$1,029.95 \$585.00 \$1,702.23 \$585.00 \$1,450.00 \$42,800.00 \$42,800.00	\$3,089.85 \$1,755.00 \$8,511.15 \$585.00 \$2,900.00 \$42,800.00 \$42,800.00
Equipment 7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-0000661 for PO- 00000055 RC-0001014 for PO- 00000056 RC-0000113 for PO- 00000168 RC-00001226 for PO- 0000032 RC-00001226 for PO- 00000382 RC-00001247 for PO- 0000045 RC-00001263 for PO- 00000400 RC-00001400 for PO- 00000400 RC-00001451 for PO- 00000111 RC-00001481 for PO-	INSTRUMENTATION LLC Sadler Power Train Inc MICRODYNAMICS INSTRUMENTATION LLC Airgas USA LLC MICRODYNAMICS INSTRUMENTATION LLC OHALLORAN INTERNATIONAL INC Dultmeier Sales Dultmeier Sales Sprayer Specialties Inc Sprayer Specialties Inc	Model: H-3193 Distance Meter JAMAR RAC Geo II K or Microdynamics DOT-Z1 Pro or equivalent Body Prop, Dump-Lok DLN-105WT pair (2) notched model Microdynamics DOT-Z1 Pro Distance Meter PARR Powered Welding Helmet System 3M 36-1101-205W & 3M Speedglas 15-0499-99x02 cartridges Microdynamics DOT-Z1 Pro Distance Meter Radiator Coolant Filler Navistar model KL5007NAV for Navistar trucks Duttmeier BPS3000-SS Brine Maker Duttmeier BPS3000-SS Brine Maker Pump 3'-7.5 HP, 208V 3-Phase 3' inlet and outlet Pump 3'-7.5 HP, 208-230V 1-Phase 3' inlet and outlet	37.00 3.00 3.00 5.00 1.00 2.00 1.00 4.00	\$585.00 \$1,029.95 \$585.00 \$1,702.23 \$585.00 \$1,450.00 \$42,800.00 \$42,800.00 \$1,621.62 \$1,583.40	\$3,089.85 \$1,755.00 \$8,511.15 \$585.00 \$2,900.00 \$42,800.00 \$42,800.00 \$6,486.48
Equipment 7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-0000661 for PO- 00000055 RC-00001014 for PO- 00000056 RC-00001103 for PO- 00000186 RC-00001126 for PO- 00000382 RC-00001227 for PO- 00000382 RC-00001283 for PO- 00000445 RC-00001400 for PO- 00000400 RC-00001400 for PO- 000001400 RC-00001410 for PO- 000001401 RC-00001451 for PO- 00000111 RC-00001451 for PO- 00000111 RC-00001451 for PO- 00000111	INSTRUMENTATION LLC Sadler Power Train Inc MICRODYNAMICS INSTRUMENTATION LLC Airgas USA LLC MICRODYNAMICS INSTRUMENTATION LLC OTHALLORAN INTERNATIONAL INC Dultmeier Sales Dultmeier Sales Sprayer Specialties Inc Sprayer Specialties Inc Sprayer Specialties Inc	Model: H-3/193 Distance Meter JAMAR RAC Geo II K or Microdynamics DOT-Z1 Pro or equivalent Body Prop, Dump-Lok DLN-105WT pair (2) notched model Microdynamics DOT-Z1 Pro Distance Meter PARR Powered Welding Helmet System 3M 36-1101-205W & 3M Speedglas 15-0499-99x02 cartridges Microdynamics DOT-Z1 Pro Distance Meter Radiator Coolant Filler Navistar model KL5007NAV for Navistar trucks Dultmeier BPS3000-SS Brine Maker Duttmeier BPS3000-SS Brine Maker Pump 3*-7.5 HP, 208V 3-Phase 3* inlet and outlet Pump 2*-7.5 HP, 208-230V 1-Phase 3* inlet and outlet Pump 2*-5 HP, 208V-230V 1-Phase 2* linet and outlet	37.00 3.00 3.00 5.00 1.00 1.00 4.00 7.00	\$585.00 \$1,029.95 \$585.00 \$1,702.23 \$585.00 \$1,450.00 \$42,800.00 \$1,621.62 \$1,583.40 \$1,425.06	\$3,089.85 \$1,755.00 \$8,511.15 \$585.00 \$2,900.00 \$42,800.00 \$42,800.00 \$6,486.48 \$11,083.80
Equipment 7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-0000661 for PO- 00000055 RC-0001014 for PO- 00000056 RC-00001128 for PO- 00000128 for PO- 00000140 for PO- 0000011 RC-00001451 for PO- 0000011 RC-00001451 for PO- 0000011 RC-00001451 for PO- 00000111 RC-00001451 for PO- 00000111 RC-00001451 for PO- 00000111 RC-00001481 for PO- 00000111 RC-00001481 for PO- 00000111 RC-00001483 for PO- 00000111	INSTRUMENTATION LLC Sadier Power Train Inc MICRODYNAMICS INSTRUMENTATION LLC Airgas USA LLC MICRODYNAMICS INSTRUMENTATION LLC OHALLORAN INTERNATIONAL INC Dultmeier Sales Dultmeier Sales Sprayer Specialties Inc Sprayer Specialties Inc Dultmeier Sales Dultmeier Sales Dultmeier Sales	Model: H-3193 Distance Meter JAMAR RAC Geo II K or Microdynamics DOT-Z1 Pro or equivalent Body Prop, Dump-Lok DLN-105WT pair (2) notched model Microdynamics DOT-Z1 Pro Distance Meter PARR Powered Welding Helmet System 3M 36-1101-205W & 3M Speedglas 15-0499-99x02 cartridges Microdynamics DOT-Z1 Pro Distance Meter Radiator Coolant Filler Radiator Coolant Filler Navistar model KL5007NAV for Navistar trucks Dultmeier BPS3000-SS Brine Maker Dutmeier BPS3000-SS Brine Maker Pump 3*-7.5 HP, 208V-30V 1-Phase 3* inlet and outlet Pump 2*-5 HP, 208V-230V 1-Phase 2* Inlet and outlet Dultmeier BPS3000-SS Brine Maker Dutmeier BPS3000-SS Brine Maker	37.00 3.00 3.00 5.00 1.00 1.00 1.00 4.00 7.00 0.00	\$585.00 \$1,029.95 \$585.00 \$1,702.23 \$585.00 \$1,450.00 \$42,800.00 \$41,621.62 \$1,583.40 \$1,425.06 \$42,800.00 \$42,800.00	\$3,089.85 \$1,755.00 \$8,511.15 \$585.00 \$2,900.00 \$42,800.00 \$42,800.00 \$1,425.06 \$0.00 \$42,800.00
Equipment 7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-0000661 for PO- 00000055 RC-0001014 for PO- 00000056 RC-00001103 for PO- 00000056 RC-00001226 for PO- 00000382 RC-00001247 for PO- 00000427 RC-00001429 for PO- 00000445 RC-00001409 for PO- 00000400 RC-00001409 for PO- 000001401 RC-00001451 for PO- 00000111 RC-00001451 for PO- 00000111 RC-00001481 for PO- 00000111 RC-00001483 for PO- 000001181 RC-00001483 for PO- 0000010184 for PO- 0000010184 for PO- 0000010184 for PO- 0000001187 RC-00001484 for PO- 0000001496 for PO- 0000001496 for PO- 0000001496	INSTRUMENTATION LLC Sadier Power Train Inc MICRODYNAMICS INSTRUMENTATION LLC Airgas USA LLC MICRODYNAMICS INSTRUMENTATION LLC OHALLORAN INTERNATIONAL INC Dultmeier Sales Dultmeier Sales Sprayer Specialties Inc Sprayer Specialties Inc Sprayer Specialties Inc Unitmeier Sales Dultmeier Sales	Model: H-3193 Distance Meter JAMAR RAC Geo II K or Microdynamics DOT-Z1 Pro or equivalent Body Prop, Dump-Lok DLN-105WT pair (2) notched model Microdynamics DOT-Z1 Pro Distance Meter PARR Powered Welding Helmet System 3M 36-1101-205W & 3M Speedglas 15-0499-99x02 cartridges Microdynamics DOT-Z1 Pro Distance Meter Radiator Coolant Filler Navistar model KL5007NAV for Navistar trucks Duttmeier BPS3000-SS Brine Maker Duttmeier BPS3000-SS Brine Maker Pump 3"-7.5 HP, 208V 3-Phase 3" inlet and outlet Pump 3"-7.5 HP, 208-230V 1-Phase 3" inlet and outlet Pump 2"-5 HP, 208-230V 1-Phase 2" inlet and outlet Duttmeier BPS3000-SS Brine Maker Duttmeier BPS3000-SS Brine Maker	37.00 3.00 3.00 5.00 1.00 1.00 4.00 7.00 1.00 1.00 1.00	\$585.00 \$1,029.95 \$585.00 \$1,702.23 \$585.00 \$1,450.00 \$42,800.00 \$41,621.62 \$1,583.40 \$1,425.06 \$42,800.00 \$42,800.00 \$41,425.06	\$3,089.85 \$1,755.00 \$8,511.15 \$585.00 \$2,900.00 \$42,800.00 \$44,800.00 \$6,486.48 \$11,083.80 \$1,425.06 \$0.00 \$42,800.00
Equipment 7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-0000661 for PO- 00000055 RC-0001014 for PO- 00000056 RC-00001103 for PO- 00000168 RC-00001126 for PO- 00000382 RC-00001227 for PO- 00000382 RC-00001247 for PO- 0000045 RC-00001400 for PO- 00000400 RC-00001400 for PO- 00000400 RC-00001401 for PO- 00000111 RC-00001451 for PO- 000001451 for PO- 0000015001500 for PO- 0000001500 for PO- 0000001500 for PO- 0000001500 for PO-	INSTRUMENTATION LLC Sadler Power Train Inc MICRODYNAMICS INSTRUMENTATION LLC Airgas USA LLC MICRODYNAMICS INSTRUMENTATION LLC OTHALLORAN INTERNATIONAL INC Dultmeier Sales Duttmeier Sales Sprayer Specialties Inc Sprayer Specialties Inc Dultmeier Sales	Model: H-3193 Distance Meter JAMAR RAC Geo II K or Microdynamics DOT-Z1 Pro or equivalent Body Prop, Dump-Lok DLN-105WT pair (2) notched model Microdynamics DOT-Z1 Pro Distance Meter PARR Powered Welding Helmet System 3M 36-1101-205W & 3M Speedglas 15-0499-99x02 cartridges Microdynamics DOT-Z1 Pro Distance Meter Radiator Coolant Filler Navistar model KL5007NAV for Navistar trucks Dultmeier BPS3000-SS Brine Maker Duttmeier BPS3000-SS Brine Maker Pump 3*-7.5 HP, 208V-3-Phase 3* inlet and outlet Pump 3*-7.5 HP, 208V-230V 1-Phase 3* inlet and outlet Duttmeier BPS3000-SS Brine Maker Duttmeier BPS3000-SS Brine Maker Duttmeier BPS300-SS Brine Maker Unump 2*-5 HP, 208V-230V 1-Phase 2* inlet and outlet Duttmeier BPS3000-SS Brine Maker Unutmeier BPS3000-SS Brine Maker Klutch 49677 FY22 D49S Sheet Metal Shear Duttmeier BPS5000-SS Brine Maker	37.00 3.00 3.00 5.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	\$585.00 \$1,029.95 \$585.00 \$1,702.23 \$585.00 \$1,702.23 \$586.00 \$1,450.00 \$42,800.00 \$42,800.00 \$1,621.62 \$1,583.40 \$1,425.06 \$42,800.00 \$42,800.00 \$42,800.00	\$3,089.85 \$1,755.00 \$8,511.15 \$585.00 \$2,900.00 \$42,800.00 \$42,800.00 \$6,486.48 \$11,083.80 \$1,425.06 \$0.00 \$42,800.00 \$42,800.00
Equipment 7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-0000661 for PO- 00000055 RC-0001014 for PO- 00000056 RC-00001126 for PO- 00000186 RC-00001126 for PO- 00000382 RC-00001247 for PO- 00000382 RC-00001247 for PO- 00000445 RC-00001400 for PO- 00000401 RC-00001400 for PO- 00000401 RC-00001451 for PO- 0000011 RC-00001451 for PO- 0000011 RC-00001451 for PO- 0000111 RC-00001451 for PO- 00000111 RC-00001451 for PO- 00000111 RC-00001451 for PO- 00000111 RC-00001451 for PO- 00000111 RC-00001451 for PO- 00000401 RC-00001509 for PO- 00000403 RC-00001509 for PO- 00000403	INSTRUMENTATION LLC Sadier Power Train Inc MICRODYNAMICS INSTRUMENTATION LLC Airgas USA LLC MICRODYNAMICS INSTRUMENTATION LLC OHALLORAN INTERNATIONAL INC Dultmeier Sales Dultmeier Sales Dultmeier Sales Exprayer Specialties Inc Sprayer Specialties Inc Sprayer Specialties Inc Dultmeier Sales Dultmeier Sales Dultmeier Sales Dultmeier Sales Dultmeier Sales Anarool & Equipment Company Inc (Inactive) Dultmeier Sales	Model: H-3/193 Distance Meter JAMAR RAC Geo II K or Microdynamics DOT-Z1 Pro or equivalent Body Prop, Dump-Lok DLN-105WT pair (2) notched model Microdynamics DOT-Z1 Pro Distance Meter PARR Powered Welding Helmet System 3M 36-1101-205W & 3M Speedglas 15-0499-99x02 cartridges Microdynamics DOT-Z1 Pro Distance Meter Radiator Coolant Filler Radiator Coolant Filler Radiator Coolant Filler Navistar model KL5007NAV for Navistar trucks Dultmeier BPS3000-SS Brine Maker Dultmeier BPS3000-SS Brine Maker Pump 3*-7.5 HP, 208V 3-Phase 3* inlet and outlet Pump 3*-7.5 HP, 208-230V 1-Phase 2* inlet and outlet Pump 2*-5 HP, 208V-230V 1-Phase 2* inlet and outlet Dultmeier BPS3000-SS Brine Maker Uuttmeier BPS3000-SS Brine Maker Klutch 49677 FYZ2 D49S Sheet Metal Shear Dultmeier BPS5000-SS Brine Maker Options at no additional costs. Bosch Brute BH2760VCB Electric Breaker with cart & 1 point & 1 flat 1-1/8* chisels	37.00 3.00 5.00 1.00 2.00 1.00 4.00 7.00 1.00 1.00 1.00 1.00 1.00	\$585.00 \$1,029.95 \$585.00 \$1,702.23 \$585.00 \$1,450.00 \$42,800.00 \$1,621.62 \$1,583.40 \$1,425.06 \$42,800.00 \$42,800.00 \$42,800.00 \$41,800.00 \$41,800.00 \$41,800.00 \$41,800.00 \$41,800.00 \$41,800.00 \$41,800.00 \$41,800.00	\$3,089.85 \$1,755.00 \$8,511.15 \$585.00 \$2,900.00 \$42,800.00 \$6,486.48 \$11,083.80 \$1,425.06 \$0.00 \$42,800.00 \$42,800.00 \$1,760.00 \$42,800.00
Equipment 7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-0000661 for PO- 00000055 RC-0001014 for PO- 00000056 RC-00001103 for PO- 00000168 RC-00001226 for PO- 0000032 RC-00001226 for PO- 00000382 RC-00001247 for PO- 0000048 RC-00001247 for PO- 0000048 RC-00001400 for PO- 00000400 RC-00001409 for PO- 00000141 RC-00001451 for PO- 00000111 RC-00001451 for PO- 00000141 RC-00001481 for PO- 00000141 RC-00001481 for PO- 000001481 for PO- 000001491 RC-00001484 for PO- 000001491 RC-00001496 for PO- 000001401 RC-00001519 for PO-	INSTRUMENTATION LLC Sadler Power Train Inc MICRODYNAMICS INSTRUMENTATION LLC Airgas USA LLC MICRODYNAMICS INSTRUMENTATION LLC OTHALLORAN INTERNATIONAL INC Dultmeier Sales Duttmeier Sales Sprayer Specialties Inc Sprayer Specialties Inc Dultmeier Sales	Model: H-3193 Distance Meter JAMAR RAC Geo II K or Microdynamics DOT-Z1 Pro or equivalent Body Prop, Dump-Lok DLN-105WT pair (2) notched model Microdynamics DOT-Z1 Pro Distance Meter PARR Powered Welding Helmet System 3M 36-1101-205W & 3M Speedglas 15-0499-99x02 cartridges Microdynamics DOT-Z1 Pro Distance Meter Radiator Coolant Filler Navistar model KL5007NAV for Navistar trucks Dultmeier BPS3000-SS Brine Maker Duttmeier BPS3000-SS Brine Maker Pump 3"-7.5 HP, 208V 3-Phase 3" inlet and outlet Pump 3"-7.5 HP, 208V-230V 1-Phase 3" inlet and outlet Pump 2"-5 HP, 208V-230V 1-Phase 2" inlet and outlet Pump 2"-5 HP, 208V-230V 1-Phase 2" inlet and outlet Duttmeier BPS3000-SS Brine Maker Duttmeier BPS5000-SS Brine Maker	37.00 3.00 3.00 5.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00	\$585.00 \$1,029.95 \$585.00 \$1,702.23 \$585.00 \$1,702.23 \$586.00 \$1,450.00 \$42,800.00 \$42,800.00 \$1,621.62 \$1,583.40 \$1,425.06 \$42,800.00 \$42,800.00 \$42,800.00	\$3,089.85 \$1,755.00 \$8,511.15 \$585.00 \$2,900.00 \$42,800.00 \$42,800.00 \$6,486.48 \$11,083.80 \$1,425.06 \$0.00 \$42,800.00 \$42,800.00

7040 - Shop Tools & Small	7040 "D" Equipment	RC-00001711 for PO-	Campbell Supply Co	Chicago Pneumatic CP-1210-SVR (1") #8900003005Pneumatic Breaker, 30#	2.00	\$1,091.00	\$2,182.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00000710 RC-00001711 for PO-	Campbell Supply Co	Class w/Muffler & Vibration Reduction - 1" shank Chicago Pneumatic CP-1260-SVR (1-1/8") #8900003033 Pneumatic Breaker, 60#	1.00	\$1,149.00	\$1,149.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00000710 RC-00001772 for PO-	CENTRAL IOWA DIST INC	Class w/Muffler & Vibration Reduction - 1-1/8" shank Nobles SS300 - 430D Floor Scrubber 17" Disc, Walk-Behind Pad Assist, Battery	3.00	\$4,146.00	\$12,438.00
Equipment		00000536		Powered with On-Board Charger, 8 gal. Solution Tank, 10 gal. Recovery Tank,			
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00001784 for PO- 00000732	MATHESON TRI-GAS INC	Thermal Dynamics Cutmaster 82 #111301 Plasma Cutter - Manual Cut Capacity Recommended 3/4", Max 1-1/4"	2.00	\$2,357.70	\$4,715.40
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00001807 for PO- 00000534	CRANE SALES & SERVIC	Harrington Hoist Model# SEQP-816257 Electric Chain Hoist - 1 Ton, w/ Plain Trolley, Chain Container	1.00	\$3,076.31	\$3,076.31
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00001904 for PO- 00000797	Shadran Ind & San Supply	LINDHAUS RX HEPA ECO FORCE 380e Upright vacuum cleaner: , size 15" with magnetic bar	3.00	\$449.50	\$1,348.50
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00001904 for PO- 00000797	Shadran Ind & San Supply	LINHAUS RX HEPA ECO FORCE 450e Upright Vacuum Cleaner , size 18" with magnetic bar	2.00	\$489.50	\$979.00
7040 - Shop Tools & Small	7040 "D" Equipment	RC-000534002 for PO-	CRANE SALES & SERVIC	Abell-Howe J-904-160-W12B Pillar Jib Crane	1.00	\$10,416.56	\$10,416.56
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00000534 RC-00001967 for PO-		Capacity: 2,000 lb Honda WT20XK4 Trash Pump 2" Gas	0.00	\$1,195.00	\$0.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00000857 RC-00001993 for PO-	Company Inc (Inactive) Omaha Pneumatic	2" inlet & outlet ports Castair PUK5508G Portable Air Compressor, Wheelbarrow Style	1.00	\$1,380.01	\$1,380.01
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00000813 RC-00001994 for PO-	Equipment Company Northern Tool & Equipment	5.5 - 6.5 Honda Gas Engine, Recoil Start Honda WT20XK4 Trash Pump 2" Gas	1.00	\$1,195.00	\$1,195.00
Equipment		00000857	Company Inc (Inactive)	2" inlet & outlet ports			
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00002045 for PO- 00000534	CRANE SALES & SERVIC	Harrington Hoist Model# SEQP-816267 Electric Chain Hoist - 1/2 Ton, w/ Plain Trolley, Chain Container	1.00	\$2,681.88	\$2,681.88
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-000885001 for PO- 00000885	The Home Depot Pro	Tomahawk #TVSAH + TSB14-P Concrete Vibrating Screed with 8' & 14' magnesium screed boards	2.00	\$2,080.52	\$4,161.04
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-000813001 for PO- 00000813	Omaha Pneumatic Equipment Company	Mi-T-M AG1-PM07-08M1 Portable Air Compressor/Generator, Wheelbarrow Style 6.5 Honda Gas Engine, Recoil Start	2.00	\$2,000.00	\$4,000.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-000898001 for PO- 00000898	Campbell Supply Co	Chicago Pneumatic PDR-95-RV with Driver Kit B PN 3371-8060-48 Hydraulic Sign Post Driver - Crane Suspended	1.00	\$2,999.00	\$2,999.00
7040 - Shop Tools & Small	7040 "D" Equipment	RC-000452001 for PO-	WHO ASSOCIATES LLC	Delta Light & Optics DR64 Reflectometer - Traffic Marking	1.00	\$25,750.00	\$25,750.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00000452 RC-000897001 for PO-	Graybar Electric Co Inc	Fairmont HPD-HV-U Hydraulic Sign Post Driver - Crane Suspended; Remote	5.00	\$2,917.07	\$14,585.35
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00000897 RC-00002280 for PO-	Midwest Wheel Co	Valve; Weight Min 64 lbs.; Impact Energy Min 80 ft-lb; Universal Post Adapter for 2- American Forge & Foundry Model 3420ASD Truck Service Ramps, 20 ton, 16*	3.00	\$750.00	\$2,250.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00000199 RC-00002298 for PO-	MATHESON TRI-GAS INC	Ellis 9400 Drill Press	4.00	\$3,901.30	\$15,605.20
Equipment		00001099		Variable Speeds 0 to 1200 RPM			
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00002298 for PO- 00001099	MATHESON TRI-GAS INC	Ellis 1600 Band Saw	2.00	\$2,920.50	\$5,841.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-001074001 for PO- 00001074	Campbell Supply Co	Evolution EVOMAG42 with 10 Cutter Set Magnetic Drill, w/Chuck Adapter, 1/2" Chuck & Key	3.00	\$970.00	\$2,910.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-000826001 for PO- 00000826	Campbell Supply Co	Bosch GRL2000-400HK Grading Rotary Laser Level & Spectra CR600 Boom Receiver	2.00	\$1,149.95	\$2,299.90
7040 - Shop Tools & Small	7040 "D" Equipment	RC-000899001 for PO-	HOLZBERG	Clemco Classic 150 model 2452 Portable Sandblaster 6 cu ft	1.00	\$7,339.99	\$7,339.99
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00000899 RC-00002435 for PO-		with HP respirator and accessory package Robinair 34788Ni A/C Recover, Recycle, Recharge, Machine, Fully Automatic	1.00	\$3,790.00	\$3,790.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00001199 RC-00002435 for PO-	- AMES, IA ARNOLD MOTOR SUPPLY	R134A Refrigerant Robinair AC1234-4 A/C Recover, Recycle, Recharge, Machine, Fully Automatic	1.00	\$5,368.00	\$5,368.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00001199 RC-00002575 for PO-	- AMES, IA Northern Tool & Equipment	R1234YF Refrigerant Titan PGD3200 with PGDSM2.5	1.00	\$1,247.65	\$1,247.65
Equipment 7040 - Shop Tools & Small		00000896 RC-00002576 for PO-	Company Inc (Inactive)	Post Driver Gas Engine Powered Powerhorse Portable Generator, 7K, Gas, Electric/Recoil Start	2.00	\$910.00	\$1,820.00
Equipment	7040 "D" Equipment	00001168	Company Inc (Inactive)	7000 Running Watts			
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-001262001 for PO- 00001262	Midwest Wheel Co	OTC UA22 Axle Jack, 22 ton air/hyd Lifetime mfg. defect warranty	2.00	\$583.50	\$1,167.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00002584 for PO- 00000829	AUTOMOTIVE SERVICE EQUIPMENT	Industrial Gold CI521E80V-P Air Compressor, Stationary - 5 hp Industrial 17 cfm @ 175 psi 2-Stage	1.00	\$2,970.00	\$2,970.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00002634 for PO- 00000348	Dultmeier Sales	ACE VT9500-120 Vertical Tank, 9500 gal. 120"D per attached specification	4.00	\$7,010.00	\$28,040.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00002652 for PO- 00000353	Dultmeier Sales	ACE VT6250-102 Vertical Tank, 5000 gal. 102"D per attached specification	4.00	\$4,675.00	\$18,700.00
7040 - Shop Tools & Small	7040 "D" Equipment	RC-00002653 for PO-	Dultmeier Sales	ACE VT7800-120 Vertical Tank, 7800 gal. 120"D per attached specification	4.00	\$5,913.00	\$23,652.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00000342 RC-00002659 for PO-	WASHER SYSTEMS OF	Hotsy 943N, Hydrotek HN20004E2G Hot Pressure Washer - Stationary with	1.00	\$3,960.00	\$3,960.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00000533 RC-000814001 for PO-	IOWA Midwest Wheel Co	Remote Control & Hose Reel OTC 4122A 50 Ton Hollow Cylinder Ram	1.00	\$1,928.85	\$1,928.85
Equipment 7040 - Shop Tools & Small		00000814 RC-00002705 for PO-	Dultmeier Sales	ACE VT9500-120 Vertical Tank, 9500 gal. 120"D per attached specification	3.00	\$7,230,00	\$21,690.00
Equipment		00000352		. •		, ,	
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00002724 for PO- 00001289	IMPERIAL SUPPLIES LLC	OTC HDJ5 Service Jack, 5 ton hyd Saddle to load with 1 pump	2.00	\$805.83	\$1,611.66
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-001264001 for PO- 00001264	INDI ENTERPRISE INC	NORCO 72230A Service Jack, 20 ton air/hyd Lifetime mfg. defect warranty	1.00	\$3,319.89	\$3,319.89
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-001260001 for PO- 00001260	O'HALLORAN INTERNATIONAL INC	NORCO 82990C Frame Jack/Stand, 10 ton air Lifetime mfg. defect warranty	8.00	\$965.57	\$7,724.56
7040 - Shop Tools & Small	7040 "D" Equipment	RC-001262002 for PO- 00001262	Midwest Wheel Co	OTC UA22 Axle Jack, 22 ton air/hyd Lifetime mfg. defect warrantv	2.00	\$583.50	\$1,167.00
Fequipment 7040 - Shop Tools & Small	7040 "D" Equipment	RC-00002844 for PO-	WASHER SYSTEMS OF	Hydrotek HN20004E2G Hot Pressure Washer - Stationary with Remote Control &	1.00	\$3,960.00	\$3,960.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00000527 RC-00002852 for PO-	IOWA Varitech Industries	Hose Reel SALT BRINE PRODUCTION PLANT 5000 GPH	1.00	\$37,024.74	\$37,024.74
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00000237 RC-00002922 for PO-	Dultmeier Sales	Stainless Steel Dump Clean-Out ACE VT9500-120 Vertical Tank, 9500 gal. 120"D per attached specification	2.00	\$7,010.00	\$14,020.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00000348 RC-00003060 for PO-	MATHESON TRI-GAS INC	Ellis 9400 Drill Press	1.00	\$3,901.30	\$3,901.30
Equipment		00001099		Variable Speeds 0 to 1200 RPM			
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00003060 for PO- 00001099		Ellis 1600 Band Saw	2.00	\$2,920.50	\$5,841.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00003063 for PO- 00000349	Dultmeier Sales	ACE VT6250-102 Vertical Tank, 6000 gal. 102"D per attached specification	2.00	\$4,712.50	\$9,425.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00003064 for PO- 00000343	Dultmeier Sales	ACE VT6250-102 Vertical Tank, 6000 gal. 102"D per attached specification	3.00	\$4,540.00	\$13,620.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00003068 for PO- 00000343	Dultmeier Sales	ACE VT6250-102 Vertical Tank, 6000 gal. 102"D per attached specification	3.00	\$4,540.00	\$13,620.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00003073 for PO- 00000346	Dultmeier Sales	ACE VT9500-120 Vertical Tank, 9500 gal. 120"D per attached specification	0.00	\$7,070.00	\$0.00
7040 - Shop Tools & Small	7040 "D" Equipment	RC-00003075 for PO-	Dultmeier Sales	ACE VT9500-120 Vertical Tank, 9500 gal. 120"D per attached specification	4.00	\$7,070.00	\$28,280.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00000346 RC-00003091 for PO-	Dultmeier Sales	ACE VT6250-102 Vertical Tank, 6000 gal. 102"D per attached specification	5.00	\$4,609.00	\$23,045.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00000350 RC-00003100 for PO-	Dultmeier Sales	ACE VT9500-120 Vertical Tank, 9500 gal. 120"D per attached specification	4.00	\$7,070.00	\$28,280.00
Equipment 7040 - Shop Tools & Small		00000351 RC-00003217 for PO-	INDI ENTERPRISE INC	Industrial Gold CI7521E80V-CI10P Air Compressor, Stationary - 7.5 hp Industrial	1.00	\$3,719.89	\$3,719.89
Equipment	7040 "D" Equipment	00000812		28 CFM @ 175 PSI Minimum (no exception)			
7040 - Shop Tools & Small Equipment		RC-00003237 for PO- 00001099	MATHESON TRI-GAS INC	Ellis 1600 Band Saw	1.00	\$2,920.50	\$2,920.50
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00003269 for PO- 00000526	WASHER SYSTEMS OF IOWA	Hydrotek HN20004E2G Hot Pressure Washer - Stationary NG Fuel	1.00	\$3,901.00	\$3,901.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00003270 for PO- 00000529	WASHER SYSTEMS OF IOWA	Hydrotek HN20004E2G Hot Pressure Washer - Stationary NG Fuel	1.00	\$3,901.00	\$3,901.00
7040 - Shop Tools & Small	7040 "D" Equipment	RC-00003335 for PO-	Dultmeier Sales	ACE VT6250-102 Vertical Tank, 6000 gal. 102"D per attached specification	4.00	\$4,770.00	\$19,080.00
Fequipment 7040 - Shop Tools & Small	7040 "D" Equipment	00000341 RC-001171001 for PO-	SNAP-ON	NEXIQ USB-Link 2, Bluetooth Edition 124032	1.00	\$617.21	\$617.21
Equipment	7040 "D" Equipment	00001171 RC-00003439 for PO-	INCORPORATED Dultmeier Sales	ACE VT6250-102 Vertical Tank, 6000 gal. 102"D per attached specification	5.00	\$4,609.00	\$23,045.00
7040 - Shop Tools & Small Equipment		00000345	i e	1			

	7040 "D" Equipment	RC-00003445 for PO-	Dultmeier Sales	ACE VT9500-120 Vertical Tank, 9500 gal. 120"D per attached specification	4.00	\$7,010.00	\$28,040.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00000344 RC-00003446 for PO-	Dultmeier Sales	ACE VT9500-120 Vertical Tank, 9500 gal. 120"D per attached specification	0.00	\$7,010.00	\$0.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00000344 RC-00003474 for PO-	Dultmeier Sales	ACE VT9500-120 Vertical Tank, 9500 gal. 120"D per attached specification	6.00	\$7,010.00	\$42,060.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00000347 RC-00003555 for PO-	WASHER SYSTEMS OF	Hydrotek HN20004E2G Hot Pressure Washer - Stationary with Remote Control &	1.00	\$3,960.00	\$3,960.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00001731 RC-00003615 for PO-	IOWA CEDAR VALLEY	Hose Reel Easy-Kleen EZN2004-1-A Hot Pressure Washer - Stationary with Remote Control	1.00	\$4,571.21	\$4,571.21
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00001308 RC-001073001 for PO-	PRESSURE WASHING Campbell Supply Co	& Hose Reel Lincoln 4490 Oil Dispenser System with Meter Control & Cart	2.00	\$1,219.00	\$2,438.00
Equipment		00001073		Lincoln 4490 Pump W/55 Gal Bung Adapter And Pickup Tube			
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00003639 for PO- 00001263	MATHESON TRI-GAS INC	Miller Millermatic 252 #907322 Welder, MIG 1-phase Wheel kit	3.00	\$3,562.89	\$10,688.67
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00003639 for PO- 00001263	MATHESON TRI-GAS INC	Miller Multimatic 255 - 951768 Welder, Multi Process Dual Cylinder Cart	1.00	\$4,821.60	\$4,821.60
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00003639 for PO- 00001263	MATHESON TRI-GAS INC	Miller Spoolmatic 130-831 Welder, Spool Gun 30A, 30' Cable for Aluminum Welding	4.00	\$1,452.56	\$5,810.24
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00003676 for PO- 00001289	IMPERIAL SUPPLIES LLC	OTC HDJ5 Service Jack, 5 ton hyd Saddle to load with 1 pump	2.00	\$805.83	\$1,611.66
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-001169001 for PO- 00001169	VIRGINIA LAB SUPPLY	Proceq USA Profoscope+ 39120000 Rebar Detector	1.00	\$2,497.00	\$2,497.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00003833 for PO- 00000478	ACME Tools	WACKER WP1550AW Compactor, Vibra Pan 5.5 hp	2.00	\$1,781.95	\$3,563.90
7040 - Shop Tools & Small	7040 "D" Equipment	RC-001210001 for PO- 00001210	INDI ENTERPRISE INC	GatorBuilt Part # GB -723018RC 72" Roller Tool Cabinet - 18 Drawer	4.00	\$3,599.89	\$14,399.56
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	RC-001210002 for PO-	INDI ENTERPRISE INC	GatorBuilt Part # GB -723018RC	4.00	\$3,599.89	\$14,399.56
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00001210 RC-001262003 for PO-	Midwest Wheel Co	72" Roller Tool Cabinet - 18 Drawer OTC HDJ10 Service Jack, 10 ton hyd	1.00	\$905.76	\$905.76
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00001262 RC-00003987 for PO-	SNAP-ON	Min, 2 yr. warranty Snap-On KRSC46 40" Roll Cart - 6 Drawer	1.00	\$1,421.58	\$1,421.58
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00001209 RC-00004114 for PO-	INCORPORATED Matheson Tri-Gas	JET BG-379-1 #414610 Belt Grinder	2.00	\$1,748,45	\$3,496.90
Equipment		00001357		Pacer SE3LL-CSS Pump 3"-7.5 HP, 208-230V 1-Phase		.,	
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-001123001 for PO- 00001123	Sprayer Specialties Inc	3" inlet and outlet	2.00	\$1,583.00	\$3,166.00
Equipment	7040 "D" Equipment	RC-001123001 for PO- 00001123	Sprayer Specialties Inc	Pacer SE2JLL-CSS Pump 2"-5 HP, 208V-230V 1-Phase 2" inlet and outlet	1.00	\$1,425.00	\$1,425.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-001527001 for PO- 00001527	Sprayer Specialties Inc	Pacer SE3LL-CSS Pump 3"-7.5 HP, 208-230V 1-Phase 3" inlet and outlet	3.00	\$1,583.00	\$4,749.00
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-001171002 for PO- 00001171	SNAP-ON INCORPORATED	NEXIQ USB-Link 2, Bluetooth Edition 124032	2.00	\$617.21	\$1,234.42
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	RC-00005228 for PO- 00001289	IMPERIAL SUPPLIES LLC	OTC HDJ5 Service Jack, 5 ton hyd Saddle to load with 1 pump	2.00	\$805.83	\$1,611.66
7040 - Shop Tools & Small	7040 "D" Equipment	RC-00005410 for PO- 00002227	SNAP-ON INCORPORATED	NEXIQ USB-Link 2, Bluetooth Edition 124032	11.00	\$671.74	\$7,389.14
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	RC-002256001 for PO-	MICRODYNAMICS	Distance Meter	13.00	\$585.00	\$7,605.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00002256 RC-00006070 for PO-	INSTRUMENTATION LLC Msc Industrial Supply Co	JAMAR RAC Geo II K or Microdynamics DOT-Z1 Pro or equivalent All Directional Lock Step Rolling Safety Ladder Balleymore	1.00	\$976.57	\$976.57
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00000688 RC-00006524 for PO-	Campbell Supply Co	MSC #74438821 Castair I718VC2-S Air Compressor, Stationary - 7.5 hp Industrial	1.00	\$3,245.00	\$3,245.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00002758 RC-00006641 for PO-	MICRODYNAMICS	28 CFM @ 175 PSI Minimum (no exception) Microdynamics DOT-Z1 Pro Distance Meter	4.00	\$585.00	\$2,340.00
Equipment 7040 - Shop Tools & Small	7040 "D" Equipment	00002864 RC-00006655 for PO-	INSTRUMENTATION LLC ARNOLD MOTOR SUPPLY	,	1.00	\$5,482.78	\$5,482.78
Equipment	' '	00002950 RC-003003001 for PO-	- AMES, IA	R1234YF Refrigerant	1.00	\$699.00	
			Transit Works	Schonstedt GA-52CX Magnetic Metal Locator with hard carry/storage case			
7040 - Shop Tools & Small Equipment	7040 "D" Equipment	00003003		With Trade In Schonstedt GA-32			\$699.00
Equipment 7040 - Shop Tools & Small Equipment	7040 "D" Equipment		SPEX SAMPLEPREP LLC	With Trade In Schonstedt GA-32 Katanax Electric Multi-position Fusion Fluxer -X-300T 01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION	1.00	\$53,768.00	\$53,768.00
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total	7040 "D" Equipment	00003003 RC-002746001 for PO- 00002746	SPEX SAMPLEPREP LLC	Katanax Electric Multi-position Fusion Fluxer -X-300T[01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION	1.00	\$53,768.00 0	\$53,768.00 \$967,518.02
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small		00003003 RC-002746001 for PO-		Katanax Electric Multi-position Fusion Fluxer	1.00		\$53,768.00
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey &	7040 "D" Equipment	00003003 RC-002746001 for PO- 00002746 RC-00000115 for PO-	SPEX SAMPLEPREP LLC Rangemasters Training	Katanax Electric Multi-position Fusion Fluxer -X-300T[01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION	1.00	\$53,768.00 0	\$53,768.00 \$967,518.02
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment 7050 - Engineer, Survey & Measuring Equipment 7050 - Engineer, Survey &	7040 "D" Equipment 7050 "E" Equipment	0003003 RC-002746001 for PO- 00002746 RC-0000115 for PO- CNV303126 RC-00000211 for PO- CNV307236 RC-0000024 for PO-	SPEX SAMPLEPREP LLC Rangemasters Training Center	Katanax Electric Multi-position Fusion Fluxer -x-300Tj01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 E21G Pistol, Banshee 300, MKGS, 9mm 21 E17B Ballistic Plate Body Armor BP1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only	1.00 277.00 3.00	\$53,768.00 0 \$2,590.05	\$53,768.00 \$967,518.02 \$7,770.15
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment 7050 - Engineer, Survey &	7040 "D" Equipment 7050 "E" Equipment 7050 "E" Equipment	00003003 RC-002746001 for PO- 00002746 RC-00000115 for PO- CNV303126 RC-00000211 for PO- CNV307236 RC-00000344 for PO- CNV306377 RC-00002513 for PO-	SPEX SAMPLEPREP LLC Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial	Katanax Electric Multi-position Fusion Fluxer -x-300T 01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 E21G Pistol, Banshee 300, MKGS, 9mm 21 E17B Ballistic Plate Body Armor BP1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, 1Hz with 9-pin Port -Price includes	1.00 277.00 3.00 1.00	\$53,768.00 0 \$2,590.05 \$660.96	\$53,768.00 \$967,518.02 \$7,770.15
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment 7050 - Engineer, Survey &	7040 'D' Equipment 7050 'E' Equipment 7050 'E' Equipment 7050 'E' Equipment	00003003 RC-002746001 for PO- 00002746 RC-00000115 for PO- CNV303126 RC-00000211 for PO- CNV307236 RC-00000344 for PO- CNV306377 RC-00002513 for PO- 00000333 RC-00003856 for PO-	SPEX SAMPLEPREP LLC Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC Rangemasters Training	Katanax Electric Multi-position Fusion Fluxer -X-300T[01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 E21G Pistol, Banshee 300, MKGS, 9mm 21 E17B Ballistic Plate Body Armor BP1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 E25P Pistol	1.00 277.00 3.00 1.00	\$53,768.00 0 \$2,590.05 \$660.96	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment	7040 *D* Equipment 7050 *E* Equipment 7050 *E* Equipment 7050 *E* Equipment 7050 *E* Equipment	0003303 RC-002746001 for PO- 0002746 RC-00000115 for PO- CNV303126 RC-00000211 for PO- CNV306377 RC-00002513 for PO- 00000333 RC-00003856 for PO- 00000853 RC-00003865 for PO-	SPEX SAMPLEPREP LLC Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC	Katanax Electric Multi-position Fusion Fluxer -X-300T 01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 E21G Pistol, Banshee 300, MKGS, 9mm 21 E17B Ballistic Plate Body Armor BP1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, 1Hz with 9-pin Port -Price includes a 7% discount. Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Alpha Elite Axbiiia W/2 carriers	1.00 277.00 3.00 1.00 107.00	\$53,768.00 0 \$2,590.05 \$660.96 \$193.50 \$1,889.76	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment	7040 °D' Equipment 7050 °E' Equipment	0003303 RC-002746001 for PO- 00002746 RC-00000115 for PO- CNV303126 RC-00000211 for PO- CNV307236 RC-00000344 for PO- CNV306377 RC-00003856 for PO- 00000853 RC-00003856 for PO- 00001192 RC-00003879 for PO-	SPEX SAMPLEPREP LLC Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC Rangemasters Training Center	Katanax Electric Multi-position Fusion Fluxer -X-300T[01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 E21G Pistol, Banshee 300, MKGS, 9mm 21 E17B Ballistic Plate Body Armor B971899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, THz with 9-pin Port -Price includes a 7% discount. Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Alpha Elite Axbiila W/Z carriers litem #: BP2617 BLK CSTM 00 Alpha Elite Axbiila W/Z carriers	1.00 277.00 3.00 1.00 107.00 1.00	\$53,768.00 0 \$2,590.05 \$660.96 \$193.50 \$1,889.76 \$2,590.05	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50 \$1,889.76
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment	7040 °D' Equipment 7050 °E' Equipment	00003003 RC-002746001 for PO- 00002746 RC-00000115 for PO- CNV303126 RC-00000211 for PO- CNV307236 RC-00000344 for PO- CNV306377 RC-000002513 for PO- 00000383 RC-00003856 for PO- 00000182 RC-00003865 for PO- 00001182	SPEX SAMPLEPREP LLC Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC Rangemasters Training Center GALLS LLC	Katanax Electric Multi-position Fusion Fluxer -x-300T 01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 E21G Pistol, Banshee 300, MKGS, 9mm 21 E17B Ballistic Plate Body Armor BP1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, 1Hz with 9-pin Port -Price includes a 7% discount. Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00	1.00 277.00 3.00 1.00 107.00 1.00 0.00 13.00	\$53,768.00 0 \$2,590.05 \$660.96 \$193.50 \$1,889.76 \$2,590.05	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50 \$1,889.76 \$0.00
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment	7040 'D' Equipment 7050 'E' Equipment	0003003 RC-0002746001 for PO- 00002746 RC-00000115 for PO- CNV303126 RC-00000211 for PO- CNV306377 RC-00002513 for PO- 00000383 RC-00003856 for PO- 00001192 RC-00003879 for PO- 00001192 RC-00003890 for PO- 00001192	Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC Rangemasters Training Center GALLS LLC GALLS LLC GALLS LLC	Katanax Electric Multi-position Fusion Fluxer -X-300T[01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 E21G Pistol, Banshee 300, MKGS, 9mm 21 E17B Ballistic Plate Body Armor BP1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, 1Hz with 9-pin Port -Price includes a 7% discount. Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Alpha Elite Axbilia W/Z carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/Z carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/Z carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/Z carriers item #: BP2617 BLK CSTM 00	1.00 277.00 3.00 1.00 107.00 1.00 0.00 13.00 5.00	\$53,768.00 0 \$2,590.05 \$660.96 \$193.50 \$1,889.76 \$2,590.05 \$1,050.00 \$1,050.00	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50 \$1,889.76 \$0.00 \$13,650.00 \$5,250.00
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment	7040 'D' Equipment 7050 'E' Equipment	0003003 RC-002746001 for PO- 00002746 RC-00000115 for PO- CNV303126 RC-00000211 for PO- CNV307236 RC-00000344 for PO- CNV306373 RC-00003856 for PO- 00000182 RC-00003865 for PO- 00001192 RC-0000380 for PO-	Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC Rangemasters Training Center GALLS LLC GALLS LLC	Katanax Electric Multi-position Fusion Fluxer -X-300T[01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 E21G Pistol, Banshee 300, MKGS, 9mm 21 E17B Ballistic Plate Body Armor Bp1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, 1Hz with 9-pin Port -Price includes a 7% discount. Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Alpha Elite Abbilia W/2 carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/2 carriers	1.00 277.00 3.00 1.00 107.00 1.00 0.00 13.00 4.00 17.00	\$53,768.00 0 \$2,590.05 \$660.96 \$193.50 \$1,889.76 \$2,590.05	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50 \$1,889.76 \$0.00 \$13,650.00 \$4,200.00 \$44,030.85
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment Total	7040 'D' Equipment 7050 'E' Equipment	0003003 RC-002746001 for PO- 00002746 RC-00000115 for PO- CNV303126 RC-0000211 for PO- CNV307236 RC-00000344 for PO- CNV306377 RC-00003856 for PO- 00000192 RC-00003876 for PO- 00001192 RC-00003876 for PO- 00001192 RC-00003890 for PO- 00001192 RC-00001893	SPEX SAMPLEPREP LLC Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC Rangemasters Training Center GALLS LLC GALLS LLC GALLS LLC Rangemasters Training Center GALLS LLC	Katanax Electric Multi-position Fusion Fluxer -X-300T 01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 E21G Pistol, Banshee 300, MKGS, 9mm 21 E17B Ballistic Plate Body Armor BP1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, 1Hz with 9-pin Port -Price includes a 7% discount. Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each	1.00 277.00 3.00 1.00 107.00 1.00 0.00 13.00 5.00 17.00 151.00	\$53,768.00 \$2,590.05 \$660.96 \$193.50 \$1,889.76 \$2,590.05 \$1,050.00 \$1,050.00	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50 \$1,889.76 \$0.00 \$13,650.00 \$5,250.00 \$44,030.85 \$98,156.22
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment Total 7060 Copiers, Fax & Communication Equipment	7040 'D' Equipment 7050 'E' Equipment	0003003 RC-00274601 for PO- 0002746 RC-0000115 for PO- CNV303126 RC-0000211 for PO- CNV307236 RC-00002513 for PO- 00000383 RC-00003856 for PO- 00000387 RC-00003865 for PO- 00001192 RC-00003896 for PO- 00001192 RC-00001192 RC-00001900019000019000190000190001900019	SPEX SAMPLEPREP LLC Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC Rangemasters Training Center GALLS LLC GALLS LLC Rangemasters Training Center GALLS LLC CARRIER ACCESS IT LC	Katanax Electric Multi-position Fusion Fluxer -X-300T[01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 E21G Pistol, Banshee 300, MKGS, 9mm 21 E17B Ballistic Plate Body Armor Bp1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, 1Hz with 9-pin Port -Price includes a 7% discount. Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Cisco IP Phone 7841	1.00 277.00 3.00 1.00 107.00 1.00 13.00 5.00 4.00 17.00 800.00	\$53,768.00 0 \$2,590.05 \$660.96 \$193.50 \$1,889.76 \$2,590.05 \$1,050.00 \$1,050.00 \$2,590.05 \$2,590.05 \$2,590.05	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50 \$1,889.76 \$0.00 \$13,650.00 \$5,250.00 \$44,030.85 \$98,156.22 \$84,976.00
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment Total 7060 Copiers, Fax & Communication Equipment 7060 Copiers, Fax & Communication Equipment	7040 'D' Equipment 7050 'E' Equipment 7060 'F' Equipment	0003003 RC-0000115 for PO- 00002746 RC-00000115 for PO- CNV303126 RC-00000211 for PO- CNV306377 RC-00000341 for PO- CNV306377 RC-00003856 for PO- 00001192 RC-00003865 for PO- 00001192 RC-0000386742 RC-00003876 for PO- 00001192 RC-00003879 for PO- 00001192 RC-00000192	Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC Rangemasters Training Center GALLS LLC GALLS LLC GALLS LLC CARRIER ACCESS IT LC CDW GOVERNMENT INC	Katanax Electric Multi-position Fusion Fluxer -X-300T[01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 E21G Pistol, Banshee 300, MKGS, 9mm 21 E17B Ballistic Plate Body Armor BP1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, 1Hz with 9-pin Port -Price includes a 7% discount. Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Alpha Elite Axbiiia W/2 carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbiiia W/2 carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbiiia W/2 carriers item #: BP2617 BLK CSTM 00 Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Cisco IP Phone 7841 Samsung 43" Class TU7000 Crystal UHD 4K Smart TV (2020)	1.00 277.00 3.00 1.00 107.00 1.00 13.00 5.00 4.00 151.00 800.00	\$53,768.00 0 \$2,590.05 \$660.96 \$193.50 \$1,889.76 \$2,590.05 \$1,050.00 \$1,050.00 \$2,590.05 0 \$106.22	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50 \$1,889.76 \$0.00 \$13,650.00 \$44,00.00 \$44,030.85 \$98,156.22 \$84,976.00
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment 7060 Copiers, Fax & Communication Equipment 7060 Copiers, Fax & Communication Equipment	7040 'D' Equipment 7050 'E' Equipment 7060 'F' Equipment	0003003 RC-002746001 for PO- 00002746 RC-00000115 for PO- CNV303126 RC-00000211 for PO- CNV307236 RC-00000211 for PO- 00000384 for PO- 00000385 for PO- 00000192 RC-00003865 for PO- 0000192 RC-00003879 for PO- 00001192 RC-00003879 for PO- 00001192 RC-00003870 for PO- 00001192 RC-00003870 for PO- 00001192 RC-00003870 for PO- 00001853 RC-00003870 for PO- 000001853 RC-00003870 for PO- 000001853 RC-000003870 for PO- 00000853	Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC Rangemasters Training Center GALLS LLC GALLS LLC GALLS LLC CARRIER ACCESS IT LC CDW GOVERNMENT INC CDW GOVERNMENT INC	Katanax Electric Multi-position Fusion Fluxer -X-300T[01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 E21G Pistol, Banshee 300, MKGS, 9mm 21 E17B Ballistic Plate Body Armor Bp1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, 1Hz with 9-pin Port -Price includes a 7% discount. Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Alpha Elite Axbiiia W/z carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbiiia W/z carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbiiia W/z carriers item #: BP2617 BLK CSTM 00 Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Cisco IP Phone 7841 Samsung 43" Class TU7000 Crystal UHD 4K Smart TV (2020) Samsung 65" Class TU7000 Crystal UHD 4K Smart TV (2020)	1.00 277.00 3.00 1.00 107.00 1.00 13.00 4.00 17.00 151.00 800.00 2.00	\$53,768.00 0 \$2,590.05 \$660.96 \$193.50 \$1,889.76 \$2,590.05 \$1,050.00 \$1,050.00 \$2,590.05 0 \$2,590.05 \$324.50 \$590.00	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50 \$1,889.76 \$0.00 \$13,650.00 \$44,200.00 \$44,203.85 \$98,156.22 \$84,976.00 \$649.00
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment 7060 Copiers, Fax & Communication Equipment	7040 'D' Equipment 7050 'E' Equipment 7060 'F' Equipment	0003003 RC-002746001 for PO- 00002746 RC-00000115 for PO- CNV303126 RC-00000211 for PO- CNV306377 RC-00002513 for PO- 00000333 RC-00003856 for PO- 000001192 RC-00003896 for PO- 00001192 RC-00003890 for PO- 0000192 RC-00003890 for PO- 0000192 RC-00003890 for PO- 00000192 RC-000003890 for PO- 00000192 RC-000003890 for PO- 00000192 RC-000003890 for PO- 000003890 for PO-	Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC Rangemasters Training Center GALLS LLC GALLS LLC GALLS LLC CARRIER ACCESS IT LC CDW GOVERNMENT INC	Katanax Electric Multi-position Fusion Fluxer -X-300T[01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 E21G Pistol, Banshee 300, MKGS, 9mm 21 E17B Ballistic Plate Body Armor BP1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, 1Hz with 9-pin Port -Price includes a 7% discount. Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Alpha Elite Axbiiia W/2 carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbiiia W/2 carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbiiia W/2 carriers item #: BP2617 BLK CSTM 00 Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Cisco IP Phone 7841 Samsung 43" Class TU7000 Crystal UHD 4K Smart TV (2020)	1.00 277.00 3.00 1.00 107.00 1.00 13.00 5.00 4.00 151.00 800.00	\$53,768.00 0 \$2,590.05 \$660.96 \$193.50 \$1,889.76 \$2,590.05 \$1,050.00 \$1,050.00 \$2,590.05 0 \$106.22	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50 \$1,889.76 \$0.00 \$13,650.00 \$44,00.00 \$44,030.85 \$98,156.22 \$84,976.00
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment 7060 Copiers, Fax & Communication Equipment	7040 'D' Equipment 7050 'E' Equipment 7060 'F' Equipment	0003003 RC-0000274601 for PO- 00002746 RC-00000115 for PO- CNV303126 RC-00000211 for PO- CNV307236 RC-00000211 for PO- CNV306377 RC-00002513 for PO- 00000383 RC-00003856 for PO- 00001192 RC-00003897 for PO- 00001192 RC-00003897 for PO- 00001192 RC-00003897 for PO- 00001192 RC-0000387 for PO- 00001192 RC-0000387 for PO- 00001192 RC-0000387 for PO- 0000194 RC-0000387 for PO- 00000194 RC-00000387 for PO- 00000387 for PO-	Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC Rangemasters Training Center GALLS LLC GALLS LLC GALLS LLC CARRIER ACCESS IT LC CDW GOVERNMENT INC CDW GOVERNMENT INC	Katanax Electric Multi-position Fusion Fluxer -X-300T[01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 E21G Pistol, Banshee 300, MKGS, 9mm 21 E17B Ballistic Plate Body Armor Bp1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, 1Hz with 9-pin Port -Price includes a 7% discount. Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Alpha Elite Axbiiia W/z carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbiiia W/z carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbiiia W/z carriers item #: BP2617 BLK CSTM 00 Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Cisco IP Phone 7841 Samsung 43" Class TU7000 Crystal UHD 4K Smart TV (2020) Samsung 65" Class TU7000 Crystal UHD 4K Smart TV (2020)	1.00 277.00 3.00 1.00 107.00 1.00 13.00 4.00 17.00 151.00 800.00 2.00	\$53,768.00 0 \$2,590.05 \$660.96 \$193.50 \$1,889.76 \$2,590.05 \$1,050.00 \$1,050.00 \$2,590.05 0 \$2,590.05 \$324.50 \$590.00	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50 \$1,889.76 \$0.00 \$13,650.00 \$44,200.00 \$44,203.85 \$98,156.22 \$84,976.00 \$649.00
Equipment 7040 - Shop Tools & Small Equipment 17040 - Shop Tools & Small Equipment Total 17050 - Engineer, Survey & Measuring Equipment 17050 - Copiers, Fax & Communication Equipment 17060 Copiers, Fax & Communication Equipment	7040 'D' Equipment 7050 'E' Equipment 7060 'F' Equipment 7060 'F' Equipment 7060 'F' Equipment	0003003 RC-002746001 for PO- 00002746 RC-00000115 for PO- CNV303126 RC-0000211 for PO- CNV307236 RC-00000211 for PO- CNV306377 RC-00002513 for PO- 00000383 RC-00003856 for PO- 00001192 RC-00003876 for PO- 0000192 RC-00003876 for PO- 0000192 RC-00003876 for PO- 00000372 for PO- CNV307494 RC-00000372 for PO- CNV307494 RC-00000372 for PO- CNV3077299 RC-00000372 for PO-	Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC Rangemasters Training Center GALLS LLC GALLS LLC GALLS LLC CARRIER ACCESS IT LC CDW GOVERNMENT INC CARRIER ACCESS IT LC CARRIER ACCESS IT LC CDW GOVERNMENT INC CARRIER ACCESS IT LC	Katanax Electric Multi-position Fusion Fluxer -X-300T[01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 E21G Pistol, Banshee 300, MKGS, 9mm 21 E17B Ballistic Plate Body Armor BP1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, 1Hz with 9-pin Port -Price includes a 7% discount. Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Cisco IP Phone 7841 Samsung 43° Class TU7000 Crystal UHD 4K Smart TV (2020) Samsung 65° Class TU7000 Crystal UHD 4K Smart TV (2020	1.00 277.00 3.00 1.00 107.00 13.00 13.00 151.00 2.00 151.00 1.00 1.00	\$53,768.00 0 \$2,590.05 \$660.96 \$193.50 \$1,889.76 \$2,590.05 \$1,050.00 \$1,050.00 \$2,590.05 \$2,590.05 \$2,590.05 \$2,590.05 \$2,590.05 \$2,590.05 \$2,590.05 \$2,590.05 \$2,590.05 \$2,590.05 \$2,590.05	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50 \$1,889.76 \$0.00 \$13,650.00 \$4,200.00 \$44,200.00 \$44,030.85 \$98,156.22 \$84,976.00 \$649.00 \$590.00
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment Total 7060 Copiers, Fax & Communication Equipment	7040 'D' Equipment 7050 'E' Equipment 7060 'F' Equipment 7060 'F' Equipment 7060 'F' Equipment 7060 'F' Equipment	0003003 RC-002746001 for PO- 00002746 RC-002746001 for PO- 00002746 RC-00000115 for PO- CNV303126 RC-0000211 for PO- CNV306377 RC-00002513 for PO- 00000333 RC-00003856 for PO- 00000387 RC-00003865 for PO- 00001192 RC-00003890 for PO- 00001192 RC-00003890 for PO- 00001192 RC-00003890 for PO- 00001192 RC-00003870 for PO- CNV307494 RC-00000372 for PO- CNV307494 RC-00000372 for PO- CNV307499 RC-00000372 for PO- CNV307299 RC-00000372 for PO-	Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC Rangemasters Training Center GALLS LLC GALLS LLC GALLS LLC GALLS LLC CARRIER ACCESS IT LC CARRIER ACCESS IT LC CARRIER ACCESS IT LC CARRIER ACCESS IT LC	Katanax Electric Multi-position Fusion Fluxer -X-300T[01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 [E21G Pistol, Banshee 300, MKGS, 9mm 21 [E17B Ballistic Plate Body Armor BP1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 [E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, 1Hz with 9-pin Port -Price includes a 7% discount. Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Cisco IP Phone 7841 Samsung 43° Class TU7000 Crystal UHD 4K Smart TV (2020) Samsung 65° Class TU7000 Crystal UHD 4K Smart TV (2020 Cisco VG310 Cisco SMARTnet Extended Service - VG310	1.00 277.00 3.00 1.00 107.00 1.00 13.00 5.00 17.00 2.00 1.00 1.00 1.00 1.00 1.00 1.00 1	\$53,768.00 0 \$2,590.05 \$660.96 \$193.50 \$1,889.76 \$2,590.05 \$1,050.00 \$1,050.00 \$2,590.05 \$2,590.05 \$2,590.05 \$1,06.22 \$324.50 \$590.00 \$2,352.50 \$1,168.50	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50 \$1,889.76 \$0.00 \$13,650.00 \$44,00.00 \$44,00.00 \$44,00.00 \$44,90.00 \$649.00 \$590.00 \$2,352.50 \$1,168.50
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment 7050 - Copiers, Fax & Communication Equipment 7060 Copiers, Fax & Communication Equipment	7040 'D' Equipment 7050 'E' Equipment 7060 'F' Equipment	0003003 RC-0000274601 for PO- 00002746 RC-00000115 for PO- CNV303126 RC-00000211 for PO- CNV307238 RC-00000211 for PO- CNV306377 RC-00002513 for PO- 00000383 RC-00003856 for PO- 00000387 RC-00003886 for PO- 00001192 RC-00003897 for PO- 00001192 RC-00003897 for PO- 00001192 RC-00003870 for PO- 0000194 RC-00003870 for PO- 0000195 RC-00003870 for PO- 00000372 for PO- CNV307494 RC-00000372 for PO- CNV307799 RC-00000372 for PO- CNV307299 RC-00000372 for PO-	Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC Rangemasters Training Center GALLS LLC GALLS LLC GALLS LLC CARRIER ACCESS IT LC	Katanax Electric Multi-position Fusion Fluxer -X-300Tj01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 E21G Pistol, Banshee 300, MKGS, 9mm 21 E17B Ballistic Plate Body Armor BP1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, 1Hz with 9-pin Port -Price includes a 7% discount. Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Cisco IP Phone 7841 Samsung 43° Class TU7000 Crystal UHD 4K Smart TV (2020) Samsung 65° Class TU7000 Crystal UHD 4K Smart TV (2020) Cisco VG310 Cisco SMARTnet Extended Service - VG310 Cisco SMARTnet Extended Service - VG320 Cisco VG320 Cisco VG320	1.00 277.00 3.00 1.00 107.00 1.00 1.00 13.00 151.00 2.00 1.00 1.00 1.00 2.00 1.00 1.00	\$53,768.00 0 \$2,590.05 \$660.96 \$193.50 \$1,889.76 \$2,590.05 \$1,050.00 \$1,050.00 \$2,590.05 \$2,590.05 \$324.50 \$324.50 \$590.00 \$1,168.50 \$3,446.49	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50 \$1,889.76 \$0.00 \$13,650.00 \$5,250.00 \$44,030.85 \$98,156.22 \$84,976.00 \$649.00 \$2,352.50 \$1,168.50 \$6,892.98
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment 7060 - Engineer, Survey & Measuring Equipment 7060 Copiers, Fax & Communication Equipment	7040 'D' Equipment 7050 'E' Equipment 7060 'F' Equipment	0003003 RC-0000274601 for PO- 00002746 RC-0000115 for PO- CNV303126 RC-0000211 for PO- CNV307236 RC-00002813 for PO- CNV306377 RC-00003856 for PO- 00003856 for PO- 00003856 for PO- 00001192 RC-00003865 for PO- 00001192 RC-00003879 for PO- 00001192 RC-00003879 for PO- 00001194 RC-00003879 for PO- 00001194 RC-0000372 for PO- CNV307494 RC-00000372 for PO- CNV3077299 RC-00000372 for PO- CNV307299 RC-00000372 for PO- CNV307399 RC-00000372 for PO- CNV307299 RC-00000423 for PO- CNV30740 RC-00000423 for PO- CNV30740 RC-00000423 for PO- CNV3076742 RC-00000423 for PO-	Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC Rangemasters Training Center GALLS LLC GALLS LLC GALLS LLC GALLS LLC CARRIER ACCESS IT LC	Katanax Electric Multi-position Fusion Fluxer -X-300T[01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 E21G Pistol, Banshee 300, MKGS, 9mm 21 E17B Ballistic Plate Body Armor Bp1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, 1Hz with 9-pin Port -Price includes a 7% discount. Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Alpha Elite Axbiiia W/z carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbiiia W/z carriers item #: BP2617 BLK CSTM 00 Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Cisco IP Phone 7841 Samsung 43" Class TU7000 Crystal UHD 4K Smart TV (2020) Samsung 65" Class TU7000 Crystal UHD 4K Smart TV (2020) Cisco SMARTnet Extended Service - VG320 Cisco VG320	1.00 277.00 3.00 1.00 1.00 1.00 1.00 1.00 1.00 2.00 1.00 1	\$53,768.00 0 \$2,590.05 \$660.96 \$193.50 \$1,889.76 \$2,590.05 \$1,050.00 \$1,050.00 \$2,590.05 \$324.50 \$590.00 \$2,352.50 \$1,168.50 \$3,446.49 \$4,689.58	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50 \$1,889.76 \$0.00 \$13,650.00 \$5,250.00 \$4,200.00 \$44,030.85 \$98,156.22 \$84,976.00 \$649.00 \$590.00 \$2,352.50 \$1,168.50 \$6,892.98
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment 7050 - Copiers, Fax & Communication Equipment 7060 Copiers, Fax & Communication Equipment	7040 'D' Equipment 7050 'E' Equipment 7060 'F' Equipment	0003003 RC-0000274601 for PO- 0002746 RC-0000115 for PO- CNV303126 RC-0000211 for PO- CNV307236 RC-0000341 for PO- CNV306377 RC-00003856 for PO- 0000383 RC-00003856 for PO- 00001192 RC-00003879 for PO- 00001192 RC-00003879 for PO- 00001192 RC-00003879 for PO- 00001192 RC-00003879 for PO- 00001192 RC-0000372 for PO- CNV307494 RC-00000372 for PO- CNV307299 RC-00000423 for PO- CNV307494 RC-00000372 for PO- CNV307299 RC-00000423 for PO- CNV307299 RC-00000423 for PO- CNV306742 RC-00000423 for PO- CNV306742 RC-00000423 for PO- CNV306742 RC-00000423 for PO-	Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC Rangemasters Training Center GALLS LLC GALLS LLC GALLS LLC GALLS LLC CARRIER ACCESS IT LC	Katanax Electric Multi-position Fusion Fluxer -X-300T[01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 E21G Pistol, Banshee 300, MKGS, 9mm 21 E17B Ballistic Plate Body Armor BP1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, 1Hz with 9-pin Port -Price includes a 7% discount. Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Alpha Elite Axbilia W/2 carriers litem #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/2 carriers litem #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/2 carriers litem #: BP2617 BLK CSTM 00 Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Cisco IP Phone 7841 Samsung 43° Class TU7000 Crystal UHD 4K Smart TV (2020) Samsung 65° Class TU7000 Crystal UHD 4K Smart TV (2020) Cisco SMARTnet Extended Service - VG310 Cisco SMARTnet Extended Service - VG320 Cisco ISR 4431 UC Bundle w/ License, PVDM4-64 - IP Base License for Cisco ISR 4440 Series	1.00 277.00 3.00 1.00 107.00 13.00 13.00 151.00 2.00 1.00 1.00 2.00 1.00 2.00 1.00	\$53,768.00 \$2,590.05 \$660.96 \$193.50 \$1,889.76 \$2,590.05 \$1,050.00 \$1,050.00 \$2,590.05 \$2,590.05 \$324.50 \$590.00 \$1,168.50 \$3,446.49 \$4,689.58	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50 \$1,889.76 \$0.00 \$13,650.00 \$4,200.00 \$44,200.00 \$44,030.85 \$98,156.22 \$84,976.00 \$649.00 \$5,352.50 \$1,168.50 \$6,892.98 \$9,379.16
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment 7060 Copiers, Fax & Communication Equipment	7040 'D' Equipment 7050 'E' Equipment 7060 'F' Equipment	0003003 RC-00274601 for PO- 00002746 RC-00274601 for PO- 00002746 RC-00000115 for PO- CNV303126 RC-00000211 for PO- CNV306377 RC-00002513 for PO- 00000383 RC-00003856 for PO- 00000383 RC-00003865 for PO- 00001192 RC-00003886 for PO- 00001192 RC-00003897 for PO- 00001192 RC-00003870 for PO- 00001192 RC-00003872 for PO- CNV307494 RC-00000372 for PO- CNV307494 RC-00000372 for PO- CNV307799 RC-00000372 for PO- CNV307299 RC-00000423 for PO- CNV306742	Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC Rangemasters Training Center GALLS LLC Rangemasters Training Center GALLS LLC CARLER ACCESS IT LC CARRIER ACCESS IT LC	Katanax Electric Multi-position Fusion Fluxer -X-300T 01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 E21G Pistol, Banshee 300, MKGS, 9mm 21 E17B Ballistic Plate Body Armor BP1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, 1Hz with 9-pin Port -Price includes a 7% discount. Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Cisco IP Phone 7841 Samsung 43* Class TU7000 Crystal UHD 4K Smart TV (2020) Samsung 65* Class TU7000 Crystal UHD 4K Smart TV (2020) Cisco VG310 Cisco SMARTnet Extended Service - VG310 Cisco SMARTnet Extended Service - VG320 Cisco ISR 4431 UC Bundle w/ License, PVDM4-64 - IP Base License for Cisco ISR 4400 Series AC Power Supply (Secondary PS) for Cisco ISR 4430	1.00 277.00 3.00 1.00 107.00 1.00 13.00 13.00 151.00 2.00 1.00 1.00 1.00 1.00 1.00 1.00	\$53,768.00 0 \$2,590.05 \$660.96 \$193.50 \$1,889.76 \$2,590.05 \$1,050.00 \$1,050.00 \$1,050.00 \$2,590.05 \$2,590.05 \$324.50 \$324.50 \$590.00 \$2,352.50 \$1,168.50 \$3,446.49 \$4,689.58 \$5,017.24 \$232.81 \$1,280.47	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50 \$1,889.76 \$0.00 \$13,650.00 \$5,250.00 \$44,030.85 \$98,156.22 \$84,976.00 \$649.00 \$5,352.50 \$1,168.50 \$6,892.98 \$9,379.16 \$5,017.24 \$232.81
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment 7060 Copiers, Fax & Communication Equipment	7040 'D' Equipment 7050 'E' Equipment 7060 'F' Equipment	0003003 RC-0000274601 for PO- 00002746 RC-0000115 for PO- CNV303126 RC-0000211 for PO- CNV307236 RC-0000341 for PO- CNV306377 RC-00003856 for PO- 00003856 for PO- 00001192 RC-00003865 for PO- 00001192 RC-00003879 for PO- 00001192 RC-0000372 for PO- CNV307494 RC-00000372 for PO- CNV307299 RC-00000423 for PO- CNV307299 RC-00000423 for PO- CNV307299 RC-00000423 for PO- CNV306742	Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC Rangemasters Training Center GALLS LLC GALLS LLC GALLS LLC GALLS LLC CARRIER ACCESS IT LC	Katanax Electric Multi-position Fusion Fluxer -X-300T[01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 E21G Pistol, Banshee 300, MKGS, 9mm 21 E17B Ballistic Plate Body Armor Bp1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, 1Hz with 9-pin Port -Price includes a 7% discount. Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Alpha Elite Axbiiia W/z carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbiiia W/z carriers item #: BP2617 BLK CSTM 00 Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Cisco IP Phone 7841 Samsung 43" Class TU7000 Crystal UHD 4K Smart TV (2020) Samsung 65" Class TU7000 Crystal UHD 4K Smart TV (2020) Cisco SMARTnet Extended Service - VG310 Cisco SMARTnet Extended Service - VG320 Cisco ISR 4431 UC Bundle w/ License, PVDM4-64 - IP Base License for Cisco ISR 4400 Series AC Power Supply (Secondary PS) for Cisco ISR 4430 4 port Multiflex Trunk Voice/Clear-channel Data T1/E1 Module 128-channel DSP module	1.00 277.00 3.00 1.00 1.00 1.00 1.00 1.00 1.00 1	\$53,768.00 0 \$2,590.05 \$660.96 \$193.50 \$1,889.76 \$2,590.05 \$1,050.00 \$1,050.00 \$1,050.00 \$2,590.05 \$324.50 \$590.00 \$2,352.50 \$1,168.50 \$3,446.49 \$4,689.58 \$5,017.24 \$232.81 \$1,280.47	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50 \$1,889.76 \$0.00 \$13,650.00 \$4,200.00 \$44,030.85 \$98,156.22 \$84,976.00 \$5,250.00 \$1,168.50 \$6,892.98 \$9,379.16 \$5,017.24 \$232.81 \$2,560.94
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment 7060 Copiers, Fax & Communication Equipment	7040 'D' Equipment 7050 'E' Equipment 7060 'F' Equipment	0003003 RC-002746001 for PO- 00002746 RC-00000115 for PO- CNV303126 RC-00000211 for PO- CNV306377 RC-00002513 for PO- 00000333 RC-00003856 for PO- 00000383 RC-00003865 for PO- 00001192 RC-00003886 for PO- 00001192 RC-00003880 for PO- 00001192 RC-00003810 for PO- 00001192 RC-00003870 for PO- 00001192 RC-0000372 for PO- CNV307494 RC-00000372 for PO- CNV307494 RC-00000372 for PO- CNV3077494 RC-00000372 for PO- CNV3077494 RC-00000372 for PO- CNV3077299 RC-00000372 for PO- CNV307729 RC-00000372 for PO- CNV307729 RC-00000372 for PO- CNV307729 RC-00000423 for PO- CNV307729 RC-00000423 for PO- CNV306742	Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC Rangemasters Training Center GALLS LLC GALLS LLC GALLS LLC GALLS LLC CARRIER ACCESS IT LC	Katanax Electric Multi-position Fusion Fluxer -X-300T[01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 E21G Pistol, Banshee 300, MKGS, 9mm 21 E17B Ballistic Plate Body Armor BP1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, 1Hz with 9-pin Port -Price includes a 7% discount. Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Alpha Elite Axbilia W/2 carriers litem #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/2 carriers litem #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/2 carriers litem #: BP2617 BLK CSTM 00 Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Cisco IP Phone 7841 Samsung 43° Class TU7000 Crystal UHD 4K Smart TV (2020) Samsung 65° Class TU7000 Crystal UHD 4K Smart TV (2020) Cisco VG310 Cisco SMARTnet Extended Service - VG320 Cisco SMARTnet Extended Service - VG320 Cisco ISR 4431 UC Bundle w/ License, PVDM4-64 - IP Base License for Cisco ISR 4400 Series AC Power Supply (Secondary PS) for Cisco ISR 4430 4 port Multiflex Trunk Voice/Clear-channel Data T1/E1 Module 128-channel DSP module Cisco ISR 4431 UC Bundle w/ License, PVDM4-64 - IP Base License for Cisco ISR 4400 Series	1.00 277.00 3.00 1.00 107.00 13.00 13.00 13.00 151.00 2.00 1.00 1.00 1.00 2.00 1.00 2.00 1.00 2.00 1.00 1	\$53,768.00 \$2,590.05 \$660.96 \$193.50 \$1,889.76 \$2,590.05 \$1,050.00 \$1,050.00 \$2,590.05 \$2,590.05 \$324.50 \$590.00 \$1,168.50 \$3,446.49 \$4,689.58 \$5,017.24 \$232.81 \$1,280.47	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50 \$1,889.76 \$0.00 \$13,650.00 \$4,200.00 \$44,200.00 \$44,030.85 \$98,156.22 \$84,976.00 \$649.00 \$5,250.00 \$1,168.50 \$6,892.98 \$9,379.16 \$5,017.24 \$232.81 \$2,560.94 \$3,957.80
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment 7060 Copiers, Fax & Communication Equipment	7040 'D' Equipment 7050 'E' Equipment 7060 'F' Equipment	0003003 RC-0000115 for PO- 00002746 RC-00000115 for PO- 00002746 RC-00000115 for PO- 00002746 RC-00000211 for PO- 00000274 RC-000002813 for PO- 00000383 RC-00003856 for PO- 00000383 RC-00003856 for PO- 00001192 RC-00003886 for PO- 00001192 RC-00003887 for PO- 00001192 RC-00003879 for PO- 00001192 RC-00003879 for PO- 0000192 RC-00003879 for PO- 00000192 RC-00000372 for PO- 00000372 for PO- 00000423 for PO- 000000423 for PO- 00000423 for PO- 000000423 for PO- 000000423 for PO- 000000423 for PO- 000000000000000000000000000000000000	Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC Rangemasters Training Center GALLS LLC GALLS LLC GALLS LLC GALLS LLC CARRIER ACCESS IT LC	Katanax Electric Multi-position Fusion Fluxer -X-300T[01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 [E21G Pistol, Banshee 300, MKGS, 9mm 21 [E17B Ballistic Plate Body Armor BP1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 [E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, 1Hz with 9-pin Port -Price includes a 7% discount. Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Alpha Elite Axbilia W/z carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/z carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/z carriers item #: BP2617 BLK CSTM 00 Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Cisco IP Phone 7841 Samsung 43° Class TU7000 Crystal UHD 4K Smart TV (2020) Samsung 65° Class TU7000 Crystal UHD 4K Smart TV (2020) Cisco VG310 Cisco SMARTnet Extended Service - VG310 Cisco SMARTnet Extended Service - VG320 Cisco ISR 4431 UC Bundle w/ License, PVDM4-64 - IP Base License for Cisco ISR 4400 Series AC Power Supply (Secondary PS) for Cisco ISR 4430 4 port Multiflex Trunk Volce/Clear-channel Data T1/E1 Module 128-channel DSP module Cisco ISR 4431 UC Bundle w/ License, PVDM4-64 - IP Base License for Cisco ISR 4400 Series AC Power Supply (Secondary PS) for Cisco ISR 4430 Cisco ISR 4431 UC Bundle w/ License, PVDM4-64 - IP Base License for Cisco ISR 4400 Series AC Power Supply (Secondary PS) for Cisco ISR 4430 A port Multiflex Trunk Volce/Clear-channel Data T1/E1 Module	1.00 277.00 3.00 1.00 107.00 1.00 13.00 13.00 151.00 2.00 1.00 1.00 1.00 2.00 1.00 2.00 1.00 1	\$53,768.00 \$2,590.05 \$660.96 \$193.50 \$1,889.76 \$2,590.05 \$1,050.00 \$1,050.00 \$1,050.00 \$2,590.05 \$2,590.05 \$2,352.50 \$1,168.50 \$3,446.49 \$4,689.58 \$5,017.24 \$232.81 \$1,280.47 \$1,978.90 \$5,017.24	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50 \$1,889.76 \$0.00 \$13,650.00 \$4,200.00 \$44,030.85 \$98,156.22 \$84,976.00 \$649.00 \$2,352.50 \$1,168.50 \$6,892.98 \$9,379.16 \$5,017.24 \$232.81
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment 7060 Copiers, Fax & Communication Equipment	7040 'D' Equipment 7050 'E' Equipment 7060 'F' Equipment	0003003 RC-0000274601 for PO- 00002746 RC-0000115 for PO- CNV303126 RC-0000211 for PO- CNV307236 RC-0000211 for PO- CNV306377 RC-00002513 for PO- 00003856 for PO- 00003856 for PO- 00001192 RC-00003867 for PO- 00001192 RC-00003879 for PO- 00001192 RC-00003879 for PO- 00001192 RC-00003879 for PO- 0000192 RC-0000372 for PO- CNV307494 RC-00000332 for PO- CNV307494 RC-00000372 for PO- CNV307299 RC-00000423 for PO- CNV307299 RC-00000423 for PO- CNV307494 RC-00000372 for PO- CNV307299 RC-00000423 for PO- CNV307299 RC-00000423 for PO- CNV306742	Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC Rangemasters Training Center GALLS LLC Rangemasters Training Center GALLS LLC Rangemasters Training Center CARLE LLC CARRIER ACCESS IT LC	Katanax Electric Multi-position Fusion Fluxer -X-300T[01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 [E21G Pistol, Banshee 300, MKGS, 9mm 21 [E17B Ballistic Plate Body Armor BP1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 [E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, 1Hz with 9-pin Port -Price includes a 7% discount. Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Cisco IP Phone 7841 Samsung 43° Class TU7000 Crystal UHD 4K Smart TV (2020) Samsung 65° Class TU7000 Crystal UHD 4K Smart TV (2020) Cisco WG310 Cisco SMARTnet Extended Service - VG310 Cisco SMARTnet Extended Service - VG320 Cisco VG320 Cisco ISR 4431 UC Bundle w/ License, PVDM4-64 - IP Base License for Cisco ISR 4400 Series AC Power Supply (Secondary PS) for Cisco ISR 4430 4 port Multiflex Trunk Voice/Clear-channel Data T1/E1 Module Cisco ISR 4431 UC Bundle w/ License, PVDM4-64 - IP Base License for Cisco ISR 4400 Series AC Power Supply (Secondary PS) for Cisco ISR 4430 4-port Network Interface Module - FXO (Universal)	1.00 277.00 3.00 1.00 107.00 1.00 13.00 13.00 15.00 17.00 2.00 1.00 1.00 2.00 1.00 1.00 2.00 1.00 1	\$53,768.00 0 \$2,590.05 \$660.96 \$193.50 \$1,889.76 \$2,590.05 \$1,050.00 \$1,050.00 \$1,050.00 \$2,590.05 \$2,590.05 \$3,24.50 \$3,24.50 \$3,446.49 \$4,689.58 \$5,017.24 \$232.81 \$1,280.47 \$1,978.90 \$5,017.24 \$232.81 \$291.02	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50 \$1,889.76 \$0.00 \$13,650.00 \$4,200.00 \$44,030.85 \$98,156.22 \$84,976.00 \$649.00 \$590.00 \$2,352.50 \$1,168.50 \$6,892.98 \$9,379.16 \$5,017.24 \$232.81 \$2,560.94 \$3,957.80
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment 7060 - Engineer, Survey & Measuring Equipment 7060 Copiers, Fax & Communication Equipment	7040 'D' Equipment 7050 'E' Equipment 7060 'F' Equipment	0003003 RC-0000274601 for PO- 00002746 RC-0000115 for PO- CNV303126 RC-0000211 for PO- CNV307236 RC-00002513 for PO- CNV306377 RC-00003856 for PO- 00003856 for PO- 00003856 for PO- 00003857 RC-00003865 for PO- 00001192 RC-00003867 for PO- 00001192 RC-00003879 for PO- 00001192 RC-00003879 for PO- 00001194 RC-00003879 for PO- 00001194 RC-0000372 for PO- CNV307494 RC-00000372 for PO- CNV307299 RC-00000423 for PO- CNV307290 RC-00000423 for PO- CNV30742 RC-00000423 for PO- CNV306742	Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC Rangemasters Training Center GALLS LLC GALLS LLC GALLS LLC GALLS LLC CARRIER ACCESS IT LC	Katanax Electric Multi-position Fusion Fluxer -X-300T[01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 [E21G Pistol, Banshee 300, MKGS, 9mm 21 [E17B Ballistic Plate Body Armor BP1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 [E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, 1Hz with 9-pin Port -Price includes a 7% discount. Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Alpha Elite Axbilia W/z carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/z carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/z carriers item #: BP2617 BLK CSTM 00 Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Cisco IP Phone 7841 Samsung 43° Class TU7000 Crystal UHD 4K Smart TV (2020) Samsung 65° Class TU7000 Crystal UHD 4K Smart TV (2020) Cisco VG310 Cisco SMARTnet Extended Service - VG310 Cisco SMARTnet Extended Service - VG320 Cisco ISR 4431 UC Bundle w/ License, PVDM4-64 - IP Base License for Cisco ISR 4400 Series AC Power Supply (Secondary PS) for Cisco ISR 4430 4 port Multiflex Trunk Volce/Clear-channel Data T1/E1 Module 128-channel DSP module Cisco ISR 4431 UC Bundle w/ License, PVDM4-64 - IP Base License for Cisco ISR 4400 Series AC Power Supply (Secondary PS) for Cisco ISR 4430 Cisco ISR 4431 UC Bundle w/ License, PVDM4-64 - IP Base License for Cisco ISR 4400 Series AC Power Supply (Secondary PS) for Cisco ISR 4430 A port Multiflex Trunk Volce/Clear-channel Data T1/E1 Module	1.00 277.00 3.00 1.00 107.00 1.00 13.00 13.00 151.00 2.00 1.00 1.00 1.00 2.00 1.00 2.00 1.00 1	\$53,768.00 \$2,590.05 \$660.96 \$193.50 \$1,889.76 \$2,590.05 \$1,050.00 \$1,050.00 \$1,050.00 \$2,590.05 \$2,590.05 \$2,352.50 \$1,168.50 \$3,446.49 \$4,689.58 \$5,017.24 \$232.81 \$1,280.47 \$1,978.90 \$5,017.24	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50 \$1,889.76 \$0.00 \$13,650.00 \$4,200.00 \$44,030.85 \$98,156.22 \$84,976.00 \$649.00 \$2,352.50 \$1,168.50 \$6,892.98 \$9,379.16 \$5,017.24 \$232.81
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment 7060 Copiers, Fax & Communication Equipment	7040 'D' Equipment 7050 'E' Equipment 7060 'F' Equipment	0003003 RC-002746001 for PO- 00002746 RC-00000115 for PO- CNV303126 RC-00000211 for PO- CNV307236 RC-00000211 for PO- CNV306377 RC-00002513 for PO- 00000333 RC-00003856 for PO- 00000383 RC-00003856 for PO- 00001192 RC-00003890 for PO- 00001192 RC-00003891 for PO- 00001192 RC-00003870 for PO- 00001192 RC-00003870 for PO- 0000192 RC-00003870 for PO- 00000192 RC-00000372 for PO- CNV307494 RC-00000372 for PO- CNV307494 RC-00000372 for PO- CNV3077299 RC-00000372 for PO- CNV307299 RC-00000372 for PO- CNV307299 RC-00000423 for PO- CNV307299 RC-00000423 for PO- CNV307494 RC-00000423 for PO- CNV307299 RC-00000423 for PO- CNV307494 RC-00000423 for PO- CNV306742	Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC Rangemasters Training Center GALLS LLC Rangemasters Training Center GALLS LLC Rangemasters Training Center CARLE LLC CARRIER ACCESS IT LC	Katanax Electric Multi-position Fusion Fluxer -X-300T[01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 [E21G Pistol, Banshee 300, MKGS, 9mm 21 [E17B Ballistic Plate Body Armor BP1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 [E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, 1Hz with 9-pin Port -Price includes a 7% discount. Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbilia W/2 carriers item #: BP2617 BLK CSTM 00 Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Cisco IP Phone 7841 Samsung 43° Class TU7000 Crystal UHD 4K Smart TV (2020) Samsung 65° Class TU7000 Crystal UHD 4K Smart TV (2020) Cisco WG310 Cisco SMARTnet Extended Service - VG310 Cisco SMARTnet Extended Service - VG320 Cisco VG320 Cisco ISR 4431 UC Bundle w/ License, PVDM4-64 - IP Base License for Cisco ISR 4400 Series AC Power Supply (Secondary PS) for Cisco ISR 4430 4 port Multiflex Trunk Voice/Clear-channel Data T1/E1 Module Cisco ISR 4431 UC Bundle w/ License, PVDM4-64 - IP Base License for Cisco ISR 4400 Series AC Power Supply (Secondary PS) for Cisco ISR 4430 4-port Network Interface Module - FXO (Universal)	1.00 277.00 3.00 1.00 107.00 1.00 13.00 13.00 15.00 17.00 2.00 1.00 1.00 2.00 1.00 1.00 2.00 1.00 1	\$53,768.00 0 \$2,590.05 \$660.96 \$193.50 \$1,889.76 \$2,590.05 \$1,050.00 \$1,050.00 \$1,050.00 \$2,590.05 \$2,590.05 \$3,24.50 \$3,24.50 \$3,446.49 \$4,689.58 \$5,017.24 \$232.81 \$1,280.47 \$1,978.90 \$5,017.24 \$232.81 \$291.02	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50 \$1,889.76 \$0.00 \$13,650.00 \$4,200.00 \$44,030.85 \$98,156.22 \$84,976.00 \$649.00 \$590.00 \$2,352.50 \$1,168.50 \$6,892.98 \$9,379.16 \$5,017.24 \$232.81 \$2,560.94 \$3,957.80 \$5,017.24
Equipment 7040 - Shop Tools & Small Equipment 7040 - Shop Tools & Small Equipment Total 7050 - Engineer, Survey & Measuring Equipment 7050 - Copiers, Fax & Communication Equipment 7060 Copiers, Fax & Communication Equipment	7040 'D' Equipment 7050 'E' Equipment 7060 'F' Equipment	0003003 RC-0000274601 for PO- 00002746 RC-00000115 for PO- CNV303126 RC-00000211 for PO- CNV307236 RC-00000211 for PO- CNV306377 RC-00002513 for PO- 00000383 RC-00003856 for PO- 00000383 RC-00003856 for PO- 00001192 RC-00003887 for PO- 00001192 RC-00003897 for PO- 00001192 RC-00003879 for PO- 00001192 RC-00003879 for PO- 00001792 RC-00003879 for PO- 000001792 RC-00000372 for PO- CNV307494 RC-00000372 for PO- CNV307494 RC-00000372 for PO- CNV307299 RC-00000423 for PO- CNV307299 RC-00000423 for PO- CNV306742	Rangemasters Training Center GALLS LLC KIESLER POLICE SUPPLY LandMark Spatial Solutions, LLC Rangemasters Training Center GALLS LLC GALLS LLC GALLS LLC GALLS LLC CARRIER ACCESS IT LC	Katanax Electric Multi-position Fusion Fluxer -X-300T[01 FLUXER, 230V, THREE POS. FLUXER, 230V, THREE POSITION 21 E21G Pistol, Banshee 300, MKGS, 9mm 21 E17B Ballistic Plate Body Armor Bp1899 CSTM 00 Armor Express Razor Level II Bravo Cut Ballistics Only 21 E25P Pistol Geode GNS2 Multi-GNSS Sub-meter Receiver, 1Hz with 9-pin Port -Price includes a 7% discount. Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Alpha Elite Axbiiia W/z carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbiiia W/z carriers item #: BP2617 BLK CSTM 00 Alpha Elite Axbiiia W/z carriers item #: BP2617 BLK CSTM 00 Pistol, Banshee 300, MK4, 9mm - \$1,225.95 each Cisco IP Phone 7841 Samsung 43° Class TU7000 Crystal UHD 4K Smart TV (2020) Samsung 65° Class TU7000 Crystal UHD 4K Smart TV (2020) Cisco VG310 Cisco SMARTnet Extended Service - VG310 Cisco SMARTnet Extended Service - VG320 Cisco VG320 Cisco VG320 Cisco ISR 4431 UC Bundle w/ License, PVDM4-64 - IP Base License for Cisco ISR 4400 Series AC Power Supply (Secondary PS) for Cisco ISR 4430 4 port Multiflex Trunk Voice/Clear-channel Data T1/E1 Module 128-channel DSP module Cisco ISR 4431 UC Bundle w/ License, PVDM4-64 - IP Base License for Cisco ISR 4400 Series AC Power Supply (Secondary PS) for Cisco ISR 4430 4-port Network Interface Module - FXO (Universal) 2 port Multiflex Trunk Voice/Clear-channel Data T1/E1 Module	1.00 277.00 3.00 1.00 1.00 1.00 1.00 1.00 1.00 1	\$53,768.00 0 \$2,590.05 \$660.96 \$193.50 \$1,889.76 \$2,590.05 \$1,050.00 \$1,050.00 \$1,050.00 \$2,590.05 \$324.50 \$324.50 \$31,168.50 \$3,446.49 \$4,689.58 \$5,017.24 \$232.81 \$1,280.47 \$1,978.90 \$5,017.24 \$232.81 \$291.02 \$661.98	\$53,768.00 \$967,518.02 \$7,770.15 \$660.96 \$20,704.50 \$1,889.76 \$0.00 \$13,650.00 \$44,200.00 \$44,030.85 \$98,156.22 \$84,976.00 \$5,250.00 \$1,168.50 \$6,892.98 \$9,379.16 \$5,017.24 \$232.81 \$2,560.94 \$3,957.80 \$5,017.24 \$232.81 \$232.81

Communication Equipment CN/306742 CARRIER ACCESS IT LC Cisco VG320 Bundles NEED TO UPDATE THIS LINE 3.00 \$4,689.58	\$14,068.74 \$436.53 \$2,837.50 \$1,337.34 \$17,897.00 \$10,529.76 \$10,339.47 \$0.00 \$92,570.00 \$92,570.00 \$429.97 \$44,051.50
7060 Copiers, Fax & Communication Equipment 7060 "F" Equipment 706	\$2,837.50 \$1,337.34 \$17,897.00 \$10,529.76 \$10,339.47 \$0.00 \$92,570.00 \$62,304.00 \$19,912.50
7660 Copiers, Fax & Communication Equipment 7660 'F' Equipment 7660 'F' Equipment 7660 'F' Equipment 7660 Copiers, Fax & Communication Equipment 766	\$1,337.34 \$17,897.00 \$10,529.76 \$10,339.47 \$0.00 \$0.00 \$92,570.00 \$62,304.00 \$19,912.50
7060 Copiers, Fax & Communication Equipment 7060 °F" Equipment 706	\$17,897.00 \$10,529.76 \$10,339.47 \$0.00 \$0.00 \$92,570.00 \$62,304.00 \$19,912.50
7060 Copiers, Fax & Communication Equipment 7060 °F" Equipment 706	\$10,529.76 \$10,339.47 \$0.00 \$0.00 \$92,570.00 \$62,304.00 \$19,912.50
7060 Copiers, Fax & Communication Equipment 7060 °F" Equipment RC-00000423 for PO- CNV306742 CARRIER ACCESS IT LC Exchange - Parts - Physical Replacement Cisco SMARTnet Extended Service - ISR 4431 UC Bundle - 24 x 7 x 4 Hour - 2.00 \$5,264.88 7060 Copiers, Fax & Communication Equipment 7060 °F" Equipment RC-00000423 for PO- CNV306742 CARRIER ACCESS IT LC Exchange - Parts - Physical Replacement CARRIER ACCESS IT LC CNV306742 Akkadian Labs - APM Cisco Collaboration Fix Standard, 3 Years 0.00 \$3,446.49 7060 Copiers, Fax & Communication Equipment 7060 °F" Equipment RC-00000423 for PO- CNV306742 CARRIER ACCESS IT LC Akkadian Labs - APM Cisco Collaboration Fix Standard, 3 Years 0.00 \$40,735.20 7060 Copiers, Fax & Communication Equipment 7060 °F" Equipment RC-00000423 for PO- CNV306742 CARRIER ACCESS IT LC Akkadian Labs - APM Cisco Collaboration Fix Standard, 3 Years 0.00 \$40,735.20 Communication Equipment RC-00000423 for PO- CNV306742 CARRIER ACCESS IT LC Akkadian Labs - APM Cisco Collaboration Fix Standard, 3 Years 0.00 \$120,000.00 7060 Copiers, Fax & Communication Equipment 7060 °F" Equipment RC-00000627 for PO- CNV306742 ACT TRAFFIC SOLUTIONS PEK ADR2000+BL/8W/SD WIM UNITS 10.00 \$9,257.00 7060 Copiers, Fax & Communication Equipment 7060 °F" Equ	\$10,339.47 \$0.00 \$0.00 \$92,570.00 \$62,304.00 \$19,912.50
Communication Equipment	\$10,339.47 \$0.00 \$0.00 \$92,570.00 \$62,304.00 \$19,912.50
Communication Equipment	\$0.00 \$0.00 \$92,570.00 \$62,304.00 \$19,912.50 \$429.97
Communication Equipment CNV306742 CARRIER ACCESS IT LC Project Services (see Project Tasks) 0.00 \$120,000.00	\$0.00 \$92,570.00 \$62,304.00 \$19,912.50
Communication Equipment	\$92,570.00 \$62,304.00 \$19,912.50 \$429.97
Communication Equipment	\$62,304.00 \$19,912.50 \$429.97
Communication Equipment 00001005 00001005 7060 Copiers, Fax & 7060 "F" Equipment RC-002358001 for PO- 00002358 000002358 000002358 00000000000000000000000000000000000	\$19,912.50 \$429.97
Communication Equipment 00002358 QA01648AAADD: HW KEY SUPPLEMENTAL DATA	\$429.97
7060 Copiers, Fax & 7060 "F" Equipment RC-002852001 for PO- AMAZON RUSINESS Amazon Rasics High-Speed HDML Cable - 25 Feet 19 001 \$22 621	
Voto Cuprier, Fax a Voto F Equipment Re-00283201 To FO AMAZON BUSINESS Aliazon Basics nigir-speed nowl Cable - 23 Feet 19.00 322.63	\$4 0E4 F0
7060 Copiers, Fax & 7060 "F" Equipment RC-002640001 for PO- Motorola Solutions Inc NMO150/450/758 ALL BAND WHIP ANTENNA 75.00 \$54.02 Communication Equipment 00002640	\$4,051.50
7060 Copiers, Fax & 7060 "F" Equipment RC-002640002 for PO- Motorola Solutions Inc CABLE WITH ATTACHED 75.00 \$32.67 OMA CONNECTOR FOR RICK	\$2,450.25
7060 Copiers, Fax & 7060 "F" Equipment RC-002640003 for PO- Motorola Solutions Inc M37TSS9PW1AN,APX8500 ALL BAND MP MOBILE \$2,833.50 75.00 \$3,744.50 GA09007AA, ADD: OUT OF THE BOX WIFI PROVISIONING, \$0.00	\$280,837.50
Communication Equipment Communication Eq	\$2,850.00
7060 Copiers, Fax & 7060 "F" Equipment RC-00006877 for PO- Motorola Solutions Inc ASTRO TECHNICAL ASSISTANCE 75.00 \$38.00	\$2,850.00
7060 Copiers, Fax & 7060 "F" Equipment RC-002850002 for PO- CDW GOVERNMENT INC Chief Thinstall Wall Display Mount with Dual Swing 1.00 \$435.00	\$435.00
Communication Equipment 00002850 7060 Copiers, Fax & 7060 "F" Equipment RC-002851001 for PO- CDW GOVERNMENT INC Chief Fusion Large Adjustable Tilt Wall Mount 4.00 \$235.00	\$940.00
Communication Equipment 00002851 7060 Copiers, Fax & 7060 "F" Equipment RC-002358002 for PO Motorola Solutions Inc ANT 1/4 WAVE 7/800 STUBBY 5.00 \$22.86	\$114.30
Communication Equipment 00002358 00002358 7060 Copiers, Fax & 7060 "F" Equipment RC-002358002 for PO- Motorola Solutions Inc XTL5000 KEYPAD MICROPHONE 5.00 \$252.29	\$1,261.45
Communication Equipment 00002358 00002358 7060 Copiers, Fax & 7060 "F" Equipment RC-002358002 for PO- Motorola Solutions Inc TRUNION KIT 5.00 \$43.36	\$216.80
Communication Equipment	\$238.50
Communication Equipment 00002358	
Communication Equipment 00002851	\$6,525.00
7060 Copiers, Fax & 1,500.00 Communication Equipment	\$663,689.15
7070 to 7110 - Computers RC-00000050 for PO- CNV307319 AMAZON BUSINESS Amazon Basics HDMI Cable - 25 feet 6.00 \$15.06	\$90.36
7070 to 7110 - Computers 7100 "G" Equipment RC-00000056 for PO- CNV307123 Related Equipment RC-00000056 for PO- CNV307123 SYSTEMS LLC SYSTEMS LLC \$\$9,999.60\$	\$39,998.40
7070 to 7110 - Computers 7070 "G" Equipment RC-00000220 for PO- CNV307454 Related Equipment RC-0000220 for PO- CNV307454 RG-0000220 for PO- CNV307454 RG-00000220 for PO- CNV307454 RG-000000220 for PO- CNV307454 RG-00000220 for PO- CNV307454 RG-000000220 for PO- CNV307454 RG-000000220 for PO- CNV307454 RG-000000220 for PO- CNV307454 RG-000000000000000000000000000000000000	\$0.00
7070 to 7110 - Computers 7070 *G* Equipment RC-00000266 for PO- HIGH SIERRA High Sierra Subsurface Temperature Probe 5.00 \$654.41 *CNV305956 ELECTRONICS INC *Model should be 4-20 mA output version**	\$3,272.05
7070 to 7110 - Computers 7070 "G" Equipment RC-00000272 for PO- Lenovo Inc ThinkPad X1 Carbon 9 Gen - 17, 16GB, 256GB SSD touch display 15.00 \$1,155.75 & Related Equipment	\$17,336.25
7070 to 7110 - Computers RC-00000280 for PO- CDW GOVERNMENT INC HP Z22n G2 1080p LED Monitor 32.00 \$170.00 & Related Equipment CNV307227	\$5,440.00
7070 to 7110 - Computers 7070 "G" Equipment RC-00000280 for PO- CDW GOVERNMENT INC HP Z22n G2 1080p LED Monitor 32.00 \$170.00	\$5,440.00
7070 to 7110 - Computers 7070 "G" Equipment RC-00000332 for PO- CDW GOVERNMENT INC Epson Universal Projector Ceiling Mount 1.00 \$115.00	\$115.00
& Related Equipment CNV307494 7070 to 7110 - Computers 7100 "G" Equipment RC-00000426 for PO- HEARTLAND BUSINESS Baker Electric - AP Install 1.00 \$14,877.00	\$14,877.00
& Related Equipment CNV303153 SYSTEMS LLC 7070 to 7110 - Computers 7070 "G" Equipment RC-00000481 for PO- CDW GOVERNMENT INC Epson PowerLite 2142W WXGA 3LCD Projector 0.00 \$1,150.00	\$0.00
& Related Equipment CNV307494 7070 to 7110 - Computers 7110 "G" Equipment RC-00000578 for PO- MARCO TECHNOLOGIES Lexmark Caster Base 4.00 \$214.00	\$856.00
& Related Equipment CNV307068 LLC for MCS 7070 to 7110 - Computers 7110 "G" Equipment RC-00000578 for PO- MARCO TECHNOLOGIES Lexmark 2100 Sheet Drawer 4.00 \$303.00	\$1,212.00
& Related Equipment CNV307068 LLC for MCS 7070 to 7110 - Computers 7110 "G" Equipment RC-00000578 for PO- MARCO TECHNOLOGIES Lexmark High Yield Toner Cartridge 4.00 \$352.00	\$1,408.00
& Related Equipment CNV307068 LLC for MCS 7070 to 7110 - Computers 7110 "G" Equipment RC-00000578 for PO- MARCO TECHNOLOGIES Marco/Lexmark MS725dvn laser printer 336.00 \$859.00	\$288,624.00
Red-00000578 for PO-	\$288,624.00
& Related Equipment CNV307068 LLC	
& Related Equipment CNV307123 SYSTEMS LLC	\$56,341.52
7070 to 7110 - Computers RC-00000688 for PO- CNV307428 RC-00000688 for PO- CNV307428 RC-0000688 for PO- CNV307428 RC-000688 FOR PO- CNV307428 RC-00068 RC-000688 FOR PO- CNV307428 RC-000688 FOR	\$0.00
7070 to 7110 - Computers & RC-00000943 for PO- CNV307123	\$0.00
7070 to 7110 - Computers RC-00000943 for PO- REARTLAND BUSINESS Meraki Enterprise - Z3C Gateway - License and Support - 1 Year License 0.00 \$0.0	\$0.00
7070 to 7110 - Computers 7100 °G" Equipment RC-00000943 for PO- CNV307123 SYSTEMS LLC Switch - 120 V AC - United States 9.000 Systems LLC Switch - 120 V AC - United States	\$0.00
7070 to 7110 - Computers 7100 "G" Equipment RC-00000943 for PO- HEARTLAND BUSINESS CISCO MERAKI Z3C LTE 0.00 \$0.00 & Related Equipment CNV307123 SYSTEMS LLC	\$0.00
7070 to 7110 - Computers 7100 "G" Equipment RC-00000943 for PO- HEARTLAND BUSINESS Cisco 10GBASE-LR SFP+ Module for SMF - For Data Networking, Optical 0.00 \$855.26 & Related Equipment CNV307123 SYSTEMS LLC Network10	\$0.00
7070 to 7110 - Computers RC-00000943 for PO- HEARTLAND BUSINESS CISCO DNA ADVANTAGE ON-PREM LIC 5Y - UPT 0.00 \$11,115.00 & Related Equipment CNV307123 SYSTEMS LLC	\$0.00
7070 to 7110 - Computers 7100 *G* Equipment RC-00000943 for PO- HEARTLAND BUSINESS SNTC-8X5XNBD Cisco Catalyst 8500 Series 12-port SFP+, 0.00 \$9,999.60	\$0.00
& Related Equipment CNV307123 SYSTEMS LLC 7070 to 7110 - Computers 7100 "G" Equipment RC-00000943 for PO- HEARTLAND BUSINESS Cisco Network Cable - 3.28 ft Network Cable for Network Device - First End: 1 x 0.00 \$112.29	\$0.00
& Related Equipment CNV307123 SYSTEMS LLC Male QSFP+ - Second End: 1 x Male QSFP+ - Tangerine 7070 to 7110 - Computers 7100 "G" Equipment RC-00000943 for PO- HEARTLAND BUSINESS SWSS UPGRADES NX-OS Essentials license for Nexus 9300 0.00 \$2,574.00	\$0.00
& Related Equipment CNV307123 SYSTEMS LLC 7070 to 7110 - Computers 7100 "G" Equipment RC-00000943 for PO- HEARTLAND BUSINESS NX-OS Essentials license for Nexus 9300 (10G+) Platforms 0.00 \$4,305.02	\$0.00
& Related Equipment CNV307123 SYSTEMS LLC 7070 to 7110 - Computers 7100 "G" Equipment RC-00000943 for PO- HEARTLAND BUSINESS Additional memory of 16GB for Nexus Switches 0.00 \$465.76	\$0.00
& Related Equipment CNV307123 SYSTEMS LLC 7070 to 7110 - Computers 7100 °G" Equipment RC-00000943 for PO- HEARTLAND BUSINESS Nexus 9K 930W DC PS, Port-side Intake 0.00 \$461.61	\$0.00
8 Related Equipment CNV307123 SYSTEMS LLC SYSTEMS LLC SYSTEMS LLC FOR 7100 "G" Equipment RC-00000943 for PO- HEARTLAND BUSINESS SNTC-8X5XNBD Nexus 9300 48p 1/10/25G, 6p 40/100G, MAC 0.00 \$4,215.90	\$0.00
Related Equipment RC-00000943 for PO- HEARTLAND BUSINESS Nexus 9300 48p 1/10/25G, 6p 40/100G, MACSec UP. SyncE 0.00 \$10,617.03	\$0.00
RC-0000943 for PC- HEARTLAND BUSINESS Nexus 9300 48p 1/10/25G, bp 40/100G, MACSec UP. SyncE 0.00 \$10,617.03 8 Related Equipment CNV307123 SYSTEMS LLC	\$0.00

7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00000943 for PO- CNV307123	HEARTLAND BUSINESS SYSTEMS LLC	Cisco SFP (mini-GBIC) Module - 1	0.00	\$422.09	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00000943 for PO- CNV307123	HEARTLAND BUSINESS SYSTEMS LLC	Cisco 10GBASE-SR SFP+ Module for MMF - For Data Networking, Optical Network10	0.00	\$299.48	\$0.00
7070 to 7110 - Computers & Related Equipment	7110 "G" Equipment	RC-00001228 for PO- 00000443	CDW GOVERNMENT INC	HP OfficeJet Pro 7740 Wide Format All-in-One Printer	1.00	\$264.23	\$264.23
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001354 for PO- 00000149	Sirius Enterprise System	F200 NODE HARDWARE	3.00	\$0.00	\$0.00
7070 to 7110 - Computers	7100 "G" Equipment	RC-00001355 for PO-	Sirius Enterprise System	S4112F DELL NETWORKING SWITCH	1.00	\$4,196.96	\$4,196.96
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	SUPERNA SEL AIRGAP DESIGN AND IMPLEMENTATION SERVICE (SWSERV)	0.00	\$0.00	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	SUPERNA SEL IGLS DATA PROTECT 2 CLSTR BUNDLE 5Y	0.00	\$0.00	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	SUPERNA SEL 4 HOUR BLOCK DR PLAN HOURS	0.00	\$0.00	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	ISG PRODUCT (INFO)	0.00	\$0.00	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	DELL HARDWARE LIMITED WARRANTY INITIAL YEAR	0.00	\$149.66	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	BASIC HARDWARE SERVICES BUSINESS HOURS 5X10 NEXT BUSINESS DAY	0.00	\$0.00	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	PARTS DELIVERY INITIAL YEAR MOUNTING KIT; TITAN-HD RACK; ANTI-TIP	0.00	\$272.14	\$0.00
& Related Equipment		00000149		·		·	·
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	PWCRD,6, SINGLE PHASE G2/3 15F L6-30P/NORTH AMER	0.00	\$520.19	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	RACK ASSY TITAN-HD 42U FULL HGT PDU SINGLE PHASE	0.00	\$12,202.83	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	CABLE ETHERNET 10G PASS SFP+ 3M	0.00	\$57.57	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	PWCRD KIT FOR GEN6 DEEP CHASSIS	0.00	\$37.75	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	ISG PRODUCT (INFO)	0.00	\$0.00	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	ACCESSORIES LABEL BASE	0.00	\$0.00	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	DELL LIMITED HARDWARE WARRANTY EXTENDED YEAR(S)	0.00	\$0.00	\$0.00
7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System	PROSUPPORT PLUS MISSION CRITICAL 7X24 HW-SW TECH SUPPORT AND	0.00	\$2,375.70	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	ASSISTANCE 5 YEARS PROSUPPORT PLUS MISSION CRITICAL 4-HOUR 7X24 ON-SITE SERVICE	0.00	\$621.10	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	WITH EMERGENCY DISPATCH 4 YEARS EXTENDED PROSUPPORT PLUS MISSION CRITICAL 4-HOUR 7X24 ON-SITE SERVICE	0.00	\$143.36	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	WITH EMERGENCY DISPATCH 1 YEAR DELL HARDWARE LIMITED WARRANTY INITIAL YEAR	0.00	\$39.13	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	OS10 ENTERPRISE SOFTWARE, S4112F	0.00	\$814.57	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	S4112 SERIES USER GUIDE	0.00	\$2.03	\$0.00
& Related Equipment		00000149					
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	DELL LIMITED HARDWARE WARRANTY EXTENDED YEAR(S)	0.00	\$0.00	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	PROSUPPORT PLUS MISSION CRITICAL 7X24 HW-SW TECH SUPPORT AND ASSISTANCE 5 YEARS	0.00	\$2,375.70	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	PROSUPPORT PLUS MISSION CRITICAL 4-HOUR 7X24 ON-SITE SERVICE WITH EMERGENCY DISPATCH 4 YEARS EXTENDED	0.00	\$621.10	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	PROSUPPORT PLUS MISSION CRITICAL 4-HOUR 7X24 ON-SITE SERVICE WITH EMERGENCY DISPATCH 1 YEAR	0.00	\$143.36	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	DELL HARDWARE LIMITED WARRANTY INITIAL YEAR	0.00	\$39.13	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	OS10 ENTERPRISE SOFTWARE, S4112F	0.00	\$814.57	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	EMC GEN3 SWITCH RAIL 22-31IN OFFSET KIT, S4112F	0.00	\$74.55	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	DELL SWITCH, DUAL TRAY KIT FOR S4112F, 1U	0.00	\$85.53	\$0.00
7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System	S4112F INSTALL KIT	0.00	\$59.70	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	S4112 SERIES USER GUIDE	0.00	\$2.03	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	S4112F DELL NETWORKING SWITCH	0.00	\$4,196.96	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	ISG PRODUCT (INFO)	0.00	\$0.00	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	DELL HARDWARE LIMITED WARRANTY PLUS ON SITE SERVICE EXTENDED	0.00	\$0.00	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	YEAR PROSUPPORT PLUS MISSION CRITICAL 7X24 HW-SW TECH SUPPORT AND	0.00	\$1,126.01	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	ASSISTANCE 5 YEARS PROSUPPORT PLUS MISSION CRITICAL 4-HOUR 7X24 ON-SITE SERVICE	0.00	\$298.09	\$0.00
& Related Equipment		00000149	, ,	WITH EMERGENCY DISPATCH 4 YEARS EXTENDED			
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	PROSUPPORT PLUS MISSION CRITICAL 4-HOUR 7X24 ON-SITE SERVICE WITH EMERGENCY DISPATCH 1 YEAR	0.00	\$74.74	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	DELL HARDWARE LIMITED WARRANTY INITIAL YEAR	0.00	\$97.26	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	BASE,CHASSIS,DEEP	0.00	\$2,230.53	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	EDUCATION SERVICES - DELL EMC PROVEN PROFESSIONAL EXAM VOUCHER EXPIRE1YR	0.00	\$87.69	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	EDU SERV-DELL TECH POWERSCALE ADMINISTRATION ON-DEMAND TRAINING EXPIRES 1YR	0.00	\$1,406.96	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	PROSUPPORT PLUS MISSION CRITICAL 4-HOUR 7X24 ON-SITE CAPACITY ADD-ON PER TERABYTE 5 YEARS	0.00	\$14.15	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	PROSUPPORT PLUS MISSION CRITICAL ENTERPRISE ADVANCED BUNDLE CAPACITY SOFTWARE SUPPORT-MAINTENANCE 5 YEARS	0.00	\$34.31	\$0.00
7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System	PROSUPPORT PLUS MISSION CRITICAL ONEFS CAPACITY SOFTWARE	0.00	\$24.42	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	SUPPORT-MAINTENANCE 5 YEARS ENTERPRISE ADV BUNDLE CAP T4 PER TB=CB	0.00	\$34.31	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	SMARTCONNECT CAPACITY LICENSE TIER 4=CB	0.00	\$0.00	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	SNAPSHOTIQ CAPACITY LICENSE TIER 4 = CB	0.00	\$0.00	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	SMARTPOOL CAPACITY LICENSE TIER 4 =CB	0.00	\$0.00	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 'G' Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	SMARTQUOTAS CAPACITY LICENSE TIER 4 = CB	0.00	\$0.00	\$0.00
& Related Equipment		00000149					
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	SYNCIQ CAPACITY LICENSE TIER 4 =CB	0.00	\$0.00	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	ONEFS CAPACITY LICENSE TIER 4 = CB	0.00	\$34.87	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	ISG PRODUCT (INFO)	0.00	\$0.00	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	CERTIFIED DEPLOYMENT PARTNER T2	0.00	\$0.00	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	PROSUPPORT PLUS MISSION CRITICAL ENTERPRISE ADVANCED BUNDLE BASE SOFTWARE SUPPORT-MAINTENANCE 5 YEARS	0.00	\$1,634.59	\$0.00
	i	1	1	The state of the s			

Company Comp	7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	US ORDER	0.00	\$0.00	\$0.00
Comment Comm	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System		0.00	\$0.00	\$0.00
The control of the	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System	PROSUPPORT PLUS MISSION CRITICAL ONEFS BASE SOFTWARE SUPPORT-	0.00	\$2,179.70	\$0.00
Section Company Comp	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System		0.00	\$0.00	\$0.00
Section Company Comp	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System		0.00	\$6,448.74	\$0.00
Martin Property Company Comp		7100 "G" Equipment		Sirius Enterprise System		0.00	\$1,707.02	\$0.00
Marche Prince March Ma	& Related Equipment		00000149		WITH EMERGENCY DISPATCH 4 YEARS EXTENDED			
Comparison Com	& Related Equipment		00000149		WITH EMERGENCY DISPATCH 1 YEAR			
Control September Cont	& Related Equipment		00000149	' '			·	
A count of Equation County		7100 "G" Equipment		Sirius Enterprise System	HDFS FOR ONEFS (\$0.00)	0.00	\$0.00	\$0.00
Section Company Comp		7100 "G" Equipment		Sirius Enterprise System	ENTERPRISE ADVANCED BUNDLE TIER 4=ID	0.00	\$1,634.59	\$0.00
Month Time Company Month September Septemb	7070 to 7110 - Computers	7100 "G" Equipment		Sirius Enterprise System	SYNCIQ BASE LICENSE TIER 4 =ID	0.00	\$0.00	\$0.00
STATE File Company	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System	SNAPSHOTIQ BASE LICENSE TIER 4 =ID	0.00	\$0.00	\$0.00
Color 1907 Company Color 1907 Color 1	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System	SMARTCONNECT BASE LICENSE TIER 4=ID	0.00	\$0.00	\$0.00
Part		7100 "G" Equipment		Sirius Enterprise System	SMARTPOOL BASE LICENSE TIER 4 =ID	0.00	\$0.00	\$0.00
A County Experience		7100 "G" Equipment		Sirius Enterprise System	SMARTQUOTAS BASE LICENSE TIER 4 =ID	0.00	\$0.00	\$0.00
Amount Engeword	& Related Equipment		00000149					
	& Related Equipment	' '	00000149					
And And Company And And Co	& Related Equipment		00000149		` '			
	& Related Equipment		00000149		, ,			
NO. S. P. 17. Company Page		7100 "G" Equipment		Sirius Enterprise System	A2000 - 320TB (20X16TB)/800GB SSD/64GB MEMORY	0.00	\$22,471.43	\$0.00
100 1711 Company 100 1	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System		0.00	\$316.47	\$0.00
NOTO BETTO Companies 100 OF Equipment 100 OF	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System	DELL NETWORKING CABLE,100GBE QSFP28 TO 4XSFP28 PASSIVE	0.00	\$218.88	\$0.00
NOT STATE Compared	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System		0.00	\$0.00	\$0.00
NOT DE TITLE COMMONSTRUCTURED FOR COMMONSTRUCTURE	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System		0.00	\$1,292.56	\$0.00
Benefit Sequence		7100 "G" Equipment		Sirius Enterprise System		0.00	\$336.30	\$0.00
Decident Companies Deciden	& Related Equipment		00000149		CAPACITY SOFTWARE SPT-MAINTENANCE 5 YEARS			
	& Related Equipment		00000149		SUPPORT-MAINTENANCE 5 YEARS			
	& Related Equipment		00000149					
Additional Enginement 10000149 1000014		7100 "G" Equipment		Sirius Enterprise System	SNAPSHOTIQ CAPACITY LICENSE TIER 6 =CB	0.00	\$0.00	\$0.00
Decided Cognoment		7100 "G" Equipment		Sirius Enterprise System	SMARTCONNECT CAPACITY LICENSE TIER 6 =CB	0.00	\$0.00	\$0.00
Monte Capitament Monte		7100 "G" Equipment		Sirius Enterprise System	ENTERPRISE ADV BUNDLE CAP T6 PER TB =CB	0.00	\$269.04	\$0.00
100 to 17-10 Computers 76.00 C Equipment	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System	SMARTQUOTAS CAPACITY LICENSE TIER 6 =CB	0.00	\$0.00	\$0.00
2000 2000	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System	SYNCIQ CAPACITY LICENSE TIER 6 =CB	0.00	\$0.00	\$0.00
270 to 7110 - Computers 710 O'C Featherest Co.0001381 for PO Sinus Enterprise System Co.0001381 for PO Sinus Enterprise System Co.0001381 for PO Sinus Enterprise System Co.0001381 for PO Computers 710 O'C Featherest Co.0001381 for PO Co.000	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System	ONEFS CAPACITY LICENSE TIER 6 = CB	0.00	\$432.22	\$0.00
170 to Prince 170 to Computers 170 to Compute		7100 "G" Equipment		Sirius Enterprise System	CERTIFIED DEPLOYMENT PARTNER T2	0.00	\$0.00	\$0.00
A Realized Equipment 700 °C *Equipment R-GO0001381 for PO- Stills Enterprise System PROSUPPORT FULS MISSION CRITICAL ENTERPRISE ADVANCED BUNDLE 0.00 50.		7100 "G" Equipment		Sirius Enterprise System	STORAGE DELL FULFILLED INFO	0.00	\$0.00	\$0.00
Sealand Equipment	& Related Equipment		00000149	, ,				
Sealand Equipment 700 0° Equipment Record 18 100 1	& Related Equipment		00000149		BASE SOFTWARE SUPPORT-MAINTENANCE 5 YEARS			
S Related Equipment 7/100 Coff Equipment	& Related Equipment		00000149	, ,	SUPPORT-MAINTENANCE 5 YEARS			
Selland Equipment 00000149 000000149		7100 "G" Equipment		Sirius Enterprise System		0.00	\$0.00	\$0.00
Rollated Equipment RC00001381 for PC Sinus Enterprise System RR0SUPPORT FLUX MISSION CRITICAL 7x2x Hw-SW TECH SUPPORT AND 0.00 \$154.00 \$0.00 \$154.00 \$0.00 \$154.00 \$0.00 \$154.00 \$0.00 \$154.00 \$0.00 \$154.00 \$0.00 \$154.00 \$0.00 \$154.00 \$0.00 \$154.00 \$0.00 \$154.00 \$0.00 \$0.00 \$154.00		7100 "G" Equipment		Sirius Enterprise System	DELL LIMITED HARDWARE WARRANTY EXTENDED YEAR(S)	0.00	\$0.00	\$0.00
1707 to 7-170 - Computers 700 °C Equipment 70		7100 "G" Equipment		Sirius Enterprise System		0.00	\$154.80	\$0.00
1707 to 1710 - Computers 1707 to 70 or Equipment Ro-Quo001341 for PO. Sirius Enterprise System No.00 So.00	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System	PROSUPPORT PLUS MISSION CRITICAL 4-HOUR 7X24 ON-SITE SERVICE	0.00	\$40.80	\$0.00
Related Equipment Rocopol 381 for PO- 00000149 Sirus Enterprise System DELL HARDWARE LIMITED WARRANTY INITIAL YEAR 0.00 \$23.98 \$0.00 \$0.00 \$7070 to 7110 - Computers 7100 °G* Equipment Rocopol 381 for PO- 00000149 Sirus Enterprise System F00 NODE HARDWARE CONT 0.00 \$0.00	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System	PROSUPPORT PLUS MISSION CRITICAL 4-HOUR 7X24 ON-SITE SERVICE	0.00	\$8.39	\$0.00
No.	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System		0.00	\$23.98	\$0.00
8. Related Equipment 00000149 Sirius Enterprise System 0.00 \$234.49 \$0.00 707 To 710 To 17 Computers R. Computers R. Computers 0.00 \$234.49 \$0.00 9. Related Equipment R. Computers R. Computers R. Computers 0.00 \$0.00 \$0.00 9. Related Equipment R. Computers R.	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System	F200 NODE HARDWARE CONT	0.00	\$0.00	\$0.00
8. Related Equipment 00000149 Sirius Enterprise System DUAL PSU 7500 PT 10 Computers 0.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment RC-00001381 for PO-00000149 Sirius Enterprise System RACK RAILS WITH CMA 0.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment RC-00001381 for PO-00000149 Sirius Enterprise System RACK RAILS WITH CMA 0.00 \$0.00 \$0.00 7070 to 7110 - Computers Related Equipment 7100 °G* Equipment RC-00001381 for PO-00000149 Sirius Enterprise System INFO F200 ISG PRODUCT 0.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment 7100 °G* Equipment RC-00001381 for PO-00000149 Sirius Enterprise System TRUSTED PLATFORM MODULE 0.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment 700 °G* Equipment RC-00001381 for PO-00000149 Sirius Enterprise System Z.2 GHZ PROCESSOR 0.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment 700 °G* Equipment RC-00001381 for PO-00000149 Sirius Enterprise System BEZEL COMPONENTS 0.00 \$0.00 \$0.00					IDRAC, 14G, ENTERPRISE LICENSE	0.00	\$234 49	\$0.00
8. Related Equipment 00000149 RCACK PAILS WITH CMA 0.00 \$0.00	& Related Equipment	' '	00000149					
8. Related Equipment 0,0000149 R. C-00001381 for PO-0000149 INFO F200 ISG PRODUCT 0.00 \$0.00 \$0.00 7070 to 7110 - Computers Related Equipment 7100 °G* Equipment RC-00001381 for PO-0000149 Sirius Enterprise System (NFO F200 ISG PRODUCT 0.00 \$0.00 \$0.00 \$0.00 7070 to 7110 - Computers Agelated Equipment RC-00001381 for PO-0000149 Sirius Enterprise System (NFO F200 ISG PRODUCT 0.00 \$0.00 \$0.00 \$0.00 7070 to 7110 - Computers Related Equipment RC-00001381 for PO-0000149 Sirius Enterprise System (NFO F200 ISG PRODUCT 0.00 \$0.00	& Related Equipment		00000149					
8. Related Equipment 00000149 FROMORD T110 - Computers of Related Equipment CO0001381 for PO-00000149 Sirius Enterprise System TRUSTED PLATFORM MODULE 0.00 \$0.00	& Related Equipment	, ,	00000149					
8. Related Equipment 00000149 00000149 7070 to 7110 - Computers & Related Equipment RC-00001381 for PO-00001381 for PO-0000149 Sirius Enterprise System 2.2 GHZ PROCESSOR 0.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment RC-00001381 for PO-0000149 Sirius Enterprise System BEZEL COMPONENTS 0.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment 7100 "G" Equipment RC-00001381 for PO-0000149 Sirius Enterprise System POWERSCALE SHIPPING 0.00 \$0.00 \$0.00 8 Related Equipment 7100 "G" Equipment RC-00001381 for PO-0000149 Sirius Enterprise System SHIPPING MATERIAL 0.00 \$0.00 \$0.00 8 Related Equipment 7100 "G" Equipment RC-00001381 for PO-0000149 Sirius Enterprise System IDRAC RANDOM PASSWORD 0.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment RC-00001381 for PO-0000149 Sirius Enterprise System IDRAC RANDOM PASSWORD 0.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment RC-00001381 for PO-0000149 Sirius Enterprise System HDFS FOR ONEFS (\$0.00) 0.00 \$	& Related Equipment		00000149					
& Related Equipment 0000149 Scirius Enterprise System BEZEL COMPONENTS 0.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment 7100 "G" Equipment RC-00001381 for PO-00000149 Sirius Enterprise System POWERSCALE SHIPPING 0.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment 7100 "G" Equipment & RC-00001381 for PO-0000149 Sirius Enterprise System POWERSCALE SHIPPING 0.00 \$0.00 \$0.00 8 Related Equipment 7100 "G" Equipment & RC-00001381 for PO-0000149 Sirius Enterprise System SHIPPING MATERIAL 0.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment RC-00001381 for PO-0000149 Sirius Enterprise System IDRAC RANDOM PASSWORD 0.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment RC-00001381 for PO-00001381 for PO-0000149 Sirius Enterprise System HDFS FOR ONEFS (\$0.00) 0.00 \$0.00 \$0.00 8 Related Equipment 7100 "G" Equipment & RC-00001381 for PO-0000149 Sirius Enterprise System ENTERPRISE ADVANCED BUNDLE TIER 6 =ID 0.00 \$0.00 \$0.00 8 Related Equipment RC-00001381 for PO-0000149 <	& Related Equipment		00000149					
7070 to 7110 - Computers 7100 "G" Equipment RC-00001381 for PO-		7100 "G" Equipment		Sirius Enterprise System	2.2 GHZ PROCESSOR	0.00	\$0.00	\$0.00
7070 to 7110 - Computers 7100 "G" Equipment RC-00001381 for PO- 00000149 Sirius Enterprise System POWERSCALE SHIPPING 0.00 \$0.00		7100 "G" Equipment		Sirius Enterprise System	BEZEL COMPONENTS	0.00	\$0.00	\$0.00
7070 to 7110 - Computers 7100 "G" Equipment RC-00001381 for PO- 00000149 Sirius Enterprise System SHIPPING MATERIAL 0.00 \$0.00	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System	POWERSCALE SHIPPING	0.00	\$0.00	\$0.00
1070 to 7110 - Computers 7100 "G" Equipment RC-00001381 for PO- 00000149 Sirius Enterprise System IDRAC RANDOM PASSWORD 0.00 \$0.	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System	SHIPPING MATERIAL	0.00	\$0.00	\$0.00
7070 to 7110 - Computers 7100 "G" Equipment RC-00001381 for PO- 00000149 Sirius Enterprise System HDFS FOR ONEFS (\$0.00) 0.00 \$0	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System	IDRAC RANDOM PASSWORD	0.00	\$0.00	\$0.00
& Related Equipment 00000149 00000149 00000149 7070 to 7110 - Computers Related Equipment Related Equipment 000001381 for PO-00001381 for PO-00001381 for PO-00001381 for PO-00001381 for PO-00001381 for PO-0000149 Sirius Enterprise System ENTERPRISE ADVANCED BUNDLE TIER 6 = ID 0.00 \$0.00	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System	HDFS FOR ONEFS (\$0.00)	0.00	\$0.00	\$0.00
& Related Equipment 00000149 00000149 00000149 7070 or 7110 - Computers & Related Equipment RC-00001381 for PO-00000149 Sirius Enterprise System SNAPSHOTIQ BASE LICENSE TIER 6 =ID 0.00 \$0.00 7070 to 7110 - Computers & Related Equipment RC-00001381 for PO-00000149 Sirius Enterprise System SMARTPOOL BASE LICENSE TIER 6 =ID 0.00 \$0.00 & Related Equipment RC-00001381 for PO-0000149 Sirius Enterprise System SMARTPOOL BASE LICENSE TIER 6 =ID 0.00 \$0.00 7070 to 7110 - Computers & 7100 "G" Equipment RC-00001381 for PO-00001381 for PO-000001381 for PO-00001381 for PO-00001381 for PO-000001381 for PO-00001381 for PO-00001381 for P	& Related Equipment		00000149					\$0.00
& Related Equipment 00000149 7070 to 7110 - Computers RC-00001381 for PO- 00000149 Sirius Enterprise System 00000149 SMARTPOOL BASE LICENSE TIER 6 ⇒ID 0.00 \$0.00 \$0.00 A Related Equipment 7070 to 7110 - Computers 7100 "G" Equipment RC-00001381 for PO- Sirius Enterprise System SMARTQUOTAS BASE LICENSE TIER 6 ⇒ID 0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	& Related Equipment	' '	00000149					
& Related Equipment 00000149 7070 to 7110 - Computers 7100 *G* Equipment RC-00001381 for PO- Sirius Enterprise System SMARTQUOTAS BASE LICENSE TIER 6 =ID 0.00 \$0.00 \$0.00	& Related Equipment	* *	00000149					
	& Related Equipment		00000149				·	
		7100 "G" Equipment		Sirius Enterprise System	SMARTQUOTAS BASE LICENSE TIER 6 =ID	0.00	\$0.00	\$0.00

7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	SYNCIQ BASE LICENSE TIER 6 =ID	0.00	\$0.00	\$0.00
7070 to 7110 - Computers	7100 "G" Equipment	RC-00001381 for PO-	Sirius Enterprise System	SMARTCONNECT BASE LICENSE TIER 6 =ID	0.00	\$0.00	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	ONEFS BASE LICENSE 4TB TIER 6 =ID	0.00	\$0.00	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	C13/C14 US (2M) X2	0.00	\$12.96	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	96GB 3200 DIMM MEMORY	0.00	\$2,124.92	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	4TB (0.96TB X 4) SSD AG	0.00	\$2,719.73	\$0.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00000149 RC-00001381 for PO-	Sirius Enterprise System	BE 2X25GBE W/O OPTICS	0.00	\$339.73	\$0.00
& Related Equipment 7070 to 7110 - Computers		00000149 RC-00001381 for PO-		FE 2X25GBE W/O OPTICS	0.00	\$339.73	
& Related Equipment	7100 "G" Equipment	00000149	Sirius Enterprise System				\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	POWERSCALE F200	0.00	\$4,271.27	\$0.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00001381 for PO- 00000149	Sirius Enterprise System	MEMORY COMPONENTS	0.00	\$0.00	\$0.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00001416 for PO- 00000466	CDW GOVERNMENT INC	Epson PowerLite 2247U - 3LCD Projector	1.00	\$1,347.00	\$1,347.00
7070 to 7110 - Computers & Related Equipment	7110 "G" Equipment	RC-00001456 for PO- CNV304806	CDW GOVERNMENT INC	HP Officejet Pro 9015 All-in-One - multifunction printer - color	3.00	\$220.00	\$660.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00001464 for PO- CNV305660	HOOSIER COMPANY INC	RM Young Converter Module	1.00	\$279.45	\$279.45
7070 to 7110 - Computers	7070 "G" Equipment	RC-00001464 for PO-	HOOSIER COMPANY INC	FP2000 Converter	2.00	\$1,242.00	\$2,484.00
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	CNV305660 RC-00001464 for PO-	THE HOOSIER COMPANY INC	ANACON - Analog Converter	3.00	\$571.50	\$1,714.50
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	CNV305660 RC-00001464 for PO-	THE HOOSIER COMPANY INC	-(1) for Thies AT/RH ISOCON-Analog Converter	2.00	\$571.50	\$1,143.00
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	CNV305660 RC-00001464 for PO-	THE HOOSIER COMPANY INC	-(1) for Thies AT/RH Surge Strip/AC Protection	1.00	\$79.31	\$79.31
& Related Equipment		CNV305660	THE HOOSIER COMPANY INC				
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00001464 for PO- CNV305660	THE	Industrial Ethernet Real-Time 5-Port Switch	1.00	\$130.07	\$130.07
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00001464 for PO- CNV305660	THE	RPU Power Supply, 120VAC to 12VDC/5/VDC/-5VDC/-12VDC/24VDC	1.00	\$340.70	\$340.70
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00001464 for PO- CNV305660	HOOSIER COMPANY INC THE	LCOM Remote Processing Unit	1.00	\$5,473.94	\$5,473.94
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00001464 for PO- CNV305660	HOOSIER COMPANY INC	Back Panel only	1.00	\$122.57	\$122.57
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00001464 for PO- CNV305660	HOOSIER COMPANY INC	Surge Protection	1.00	\$338.87	\$338.87
7070 to 7110 - Computers	7070 "G" Equipment	RC-00001465 for PO- CNV305641	HOOSIER COMPANY INC	LCOM Remote Processing Unit	1.00	\$5,473.94	\$5,473.94
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	RC-00001465 for PO-	HOOSIER COMPANY INC	Back Panel only	1.00	\$122.57	\$122.57
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	CNV305641 RC-00001465 for PO-	THE HOOSIER COMPANY INC	Surge Protection	1.00	\$338.87	\$338.87
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	CNV305641 RC-00001465 for PO-	THE HOOSIER COMPANY INC	RM Young Converter Module	1.00	\$279.45	\$279.45
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	CNV305641 RC-00001465 for PO-	THE HOOSIER COMPANY INC		3.00	\$1,242.00	\$3,726.00
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	CNV305641 RC-00001465 for PO-	THE HOOSIER COMPANY INC	ANACON - Analog Converter	3.00	\$571.50	\$1,714.50
& Related Equipment		CNV305641	THE	-(1) for Thies AT/RH			
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00001465 for PO- CNV305641	HOOSIER COMPANY INC THE	ISOCON-Analog Converter -(1) for Thies AT/RH	2.00	\$571.50	\$1,143.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00001465 for PO- CNV305641	HOOSIER COMPANY INC THE	Surge Strip/AC Protection	1.00	\$79.31	\$79.31
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00001465 for PO- CNV305641	HOOSIER COMPANY INC THE	Industrial Ethernet Real-Time 5-Port Switch	1.00	\$130.07	\$130.07
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00001465 for PO- CNV305641	HOOSIER COMPANY INC	RPU Power Supply, 120VAC to 12VDC/5/VDC/-5VDC/-12VDC/24VDC	1.00	\$340.70	\$340.70
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00001466 for PO- CNV305637	HOOSIER COMPANY INC	ISOCON-Analog Converter -(1) for Thies AT/RH	3.00	\$571.50	\$1,714.50
7070 to 7110 - Computers	7070 "G" Equipment	RC-00001466 for PO-	HOOSIER COMPANY INC	Surge Strip/AC Protection	1.00	\$79.31	\$79.31
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	CNV305637 RC-00001466 for PO-		Industrial Ethernet Real-Time 5-Port Switch	1.00	\$130.07	\$130.07
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	CNV305637 RC-00001466 for PO-	THE HOOSIER COMPANY INC	RPU Power Supply, 120VAC to 12VDC/5/VDC/-5VDC/-12VDC/24VDC	1.00	\$340.70	\$340.70
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	CNV305637 RC-00001466 for PO-	THE HOOSIER COMPANY INC	LCOM Remote Processing Unit	1.00	\$5,473.94	\$5,473.94
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	CNV305637 RC-00001466 for PO-	THE HOOSIER COMPANY INC	Back Panel only	1.00	\$122.57	\$122.57
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	CNV305637 RC-00001466 for PO-	THE HOOSIER COMPANY INC		1.00	\$338.87	\$338.87
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	CNV305637	THE HOOSIER COMPANY INC				
& Related Equipment	, ,	RC-00001466 for PO- CNV305637	THE		1.00	\$279.45	\$279.45
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00001466 for PO- CNV305637	HOOSIER COMPANY INC THE	FP2000 Converter	4.00	\$1,242.00	\$4,968.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00001466 for PO- CNV305637	HOOSIER COMPANY INC THE	ANACON - Analog Converter -(1) for Thies AT/RH	3.00	\$571.50	\$1,714.50
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00001467 for PO- CNV305642	HOOSIER COMPANY INC THE	FP2000 Converter	4.00	\$1,242.00	\$4,968.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00001467 for PO- CNV305642	HOOSIER COMPANY INC	ANACON - Analog Converter -(1) for Thies AT/RH	2.00	\$571.50	\$1,143.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00001467 for PO- CNV305642	HOOSIER COMPANY INC	ISOCON-Analog Converter -(1) for Thies AT/RH	2.00	\$571.50	\$1,143.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00001467 for PO- CNV305642	HOOSIER COMPANY INC	Surge Strip/AC Protection	1.00	\$79.31	\$79.31
7070 to 7110 - Computers	7070 "G" Equipment	RC-00001467 for PO-	HOOSIER COMPANY INC	Industrial Ethernet Real-Time 5-Port Switch	1.00	\$130.07	\$130.07
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	CNV305642 RC-00001467 for PO-	THE HOOSIER COMPANY INC	RPU Power Supply, 120VAC to 12VDC/5/VDC/-5VDC/-12VDC/24VDC	1.00	\$340.70	\$340.70
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	CNV305642 RC-00001467 for PO-	THE HOOSIER COMPANY INC	LCOM Remote Processing Unit	1.00	\$5,473.94	\$5,473.94
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	CNV305642 RC-00001467 for PO-	THE HOOSIER COMPANY INC	Back Panel only	1.00	\$122.57	\$122.57
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	CNV305642 RC-00001467 for PO-	THE HOOSIER COMPANY INC		1.00	\$338.87	\$338.87
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	CNV305642 RC-00001467 for PO-	THE HOOSIER COMPANY INC		1.00	\$279.45	\$279.45
& Related Equipment	* *	CNV305642	THE				
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00001468 for PO- CNV305663	THE	RM Young Converter Module	1.00	\$279.45	\$279.45
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00001468 for PO- CNV305663	HOOSIER COMPANY INC THE	FP2000 Converter	1.00	\$1,242.00	\$1,242.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00001468 for PO- CNV305663	HOOSIER COMPANY INC	ANACON - Analog Converter -(1) for Thies AT/RH	2.00	\$571.50	\$1,143.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00001468 for PO- CNV305663	HOOSIER COMPANY INC	ISOCON-Analog Converter -(1) for Thies AT/RH	2.00	\$571.50	\$1,143.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00001468 for PO- CNV305663	HOOSIER COMPANY INC	Surge Strip/AC Protection	1.00	\$79.31	\$79.31
7070 to 7110 - Computers	7070 "G" Equipment	RC-00001468 for PO-	HOOSIER COMPANY INC	Industrial Ethernet Real-Time 5-Port Switch	1.00	\$130.07	\$130.07
& Related Equipment		CNV305663	THE				

Section 1.50		7070 "G" Equipment	RC-00001468 for PO-	HOOSIER COMPANY INC	RPU Power Supply, 120VAC to 12VDC/5/VDC/-5VDC/-12VDC/24VDC	1.00	\$340.70	\$340.70
Page		7070 "G" Equipment			LCOM Remote Processing Unit	1.00	\$5,473.94	\$5,473.94
The STATE Company Co		7070 "G" Equipment			Back Panel only	1.00	\$122.57	\$122.57
March of Septiment		7070 "G" Equipment			Surge Protection	1.00	\$338.87	\$338.87
	& Related Equipment		CNV305639	THE				\$279.45
Manual Principation Company Co	& Related Equipment		CNV305639	THE			·	·
About 67 Propried Control of Control o	& Related Equipment		CNV305639	THE				\$3,726.00
Activate fragment		7070 "G" Equipment				3.00	\$571.50	\$1,714.50
Page 175 Company		7070 "G" Equipment				2.00	\$571.50	\$1,143.00
The Common	7070 to 7110 - Computers	7070 "G" Equipment	RC-00001469 for PO-			1.00	\$79.31	\$79.31
Section Proceedings Procedings Proceedings Procedings Procedings Procedings Procedings Proceedings Procedings Proced	7070 to 7110 - Computers	7070 "G" Equipment	RC-00001469 for PO-	HOOSIER COMPANY INC	Industrial Ethernet Real-Time 5-Port Switch	1.00	\$130.07	\$130.07
\$10.000 \$10.0000 \$10.000000 \$10.000000 \$10.000000 \$10.0000000 \$10.000000 \$10.000000 \$10.000000 \$10.000000 \$10.000000 \$10.00000000000000000000000000000000000	7070 to 7110 - Computers	7070 "G" Equipment	RC-00001469 for PO-		RPU Power Supply, 120VAC to 12VDC/5/VDC/-5VDC/-12VDC/24VDC	1.00	\$340.70	\$340.70
Antoning State		7070 "G" Equipment			LCOM Remote Processing Unit	1.00	\$5,473.94	\$5,473.94
Annual Company	& Related Equipment				-	1.00	\$122.57	\$122.57
Analog of part	& Related Equipment		CNV305639	THE				\$0.00
Analos Estatorios	& Related Equipment		00000149				·	
Additional Companies	& Related Equipment	7100 "G" Equipment		Sirius Enterprise System	SUPERNA SEL IGLS DATA PROTECT 2 CLSTR BUNDLE 5Y	1.00	\$0.00	\$0.00
According to 1 Acco		7100 "G" Equipment		Sirius Enterprise System	SUPERNA SEL 4 HOUR BLOCK DR PLAN HOURS	3.00	\$0.00	\$0.00
The Part Companies 100 or Feynman		7100 "G" Equipment		Sirius Enterprise System	ISG PRODUCT (INFO)	1.00	\$0.00	\$0.00
This part Computer 100 or Experiment 100 or Computer	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	DELL HARDWARE LIMITED WARRANTY INITIAL YEAR	1.00	\$149.66	\$149.66
PRIOR DESIGNATION PRIOR CONTINUES PRIOR	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System		1.00	\$0.00	\$0.00
Millor Computer 1900 Victorines Computer Comp	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System		1.00	\$272.14	\$272.14
Related Columber Companies		7100 "G" Equipment		Sirius Enterprise System	PWCRD,6, SINGLE PHASE G2/3 15F L6-30P/NORTH AMER	1.00	\$520.19	\$520.19
	& Related Equipment		00000149				·	\$12,202.83
Malaust Figures 100	& Related Equipment		00000149					
Acceptable Engagement 1000	& Related Equipment		00000149				·	\$460.56
Restance Sequence 100 10		7100 "G" Equipment		Sirius Enterprise System	PWCRD KIT FOR GEN6 DEEP CHASSIS	2.00	\$37.75	\$75.50
April Computer Fig. 100 5 5 5 5 5 5 5 5 5		7100 "G" Equipment		Sirius Enterprise System	ISG PRODUCT (INFO)	1.00	\$0.00	\$0.00
2003 b 171	7070 to 7110 - Computers	7100 "G" Equipment		Sirius Enterprise System	ACCESSORIES LABEL BASE	1.00	\$0.00	\$0.00
April	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	DELL LIMITED HARDWARE WARRANTY EXTENDED YEAR(S)	1.00	\$0.00	\$0.00
\$700 b 1711 Computers 100 \$70	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System		1.00	\$2,375.70	\$2,375.70
1979 b 711 - Computer 1/10 OF Explaned 1/10 O	7070 to 7110 - Computers	7100 "G" Equipment		Sirius Enterprise System		1.00	\$621.10	\$621.10
Relation Equipment 100 °C Eq		7100 "G" Equipment		Sirius Enterprise System		1.00	\$143.36	\$143.36
Relatios Equipment 7/07 07 07 Equipment 7/07 07	& Related Equipment		00000149		WITH EMERGENCY DISPATCH 1 YEAR		·	·
Related Equipment 7:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise System OCCUPATION 17:00 °C Equipment RC-00001635 for PO- Shue Enterprise Sys	& Related Equipment		00000149	, ,				\$39.13
Related Equipment 7070 to 7110 - Computers 1	& Related Equipment	7100 "G" Equipment		Sirius Enterprise System	OS10 ENTERPRISE SOFTWARE, S4112F	1.00	\$814.57	\$814.57
Related Equipment 00000149		7100 "G" Equipment		Sirius Enterprise System	S4112 SERIES USER GUIDE	1.00	\$2.03	\$2.03
1070 to 710 - Computers		7100 "G" Equipment		Sirius Enterprise System	DELL LIMITED HARDWARE WARRANTY EXTENDED YEAR(S)	1.00	\$0.00	\$0.00
1070 to 7110 - Computers 100	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System		1.00	\$2,375.70	\$2,375.70
1707 to 1710 - Computers 100 CF Equipment 1707 to 1710 - Computers	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	PROSUPPORT PLUS MISSION CRITICAL 4-HOUR 7X24 ON-SITE SERVICE	1.00	\$621.10	\$621.10
1707 to 7110 - Computers 7001 OF Equipment R. Co-0001635 for PO-0000149 Sinus Enterprise System Set Library Set	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	PROSUPPORT PLUS MISSION CRITICAL 4-HOUR 7X24 ON-SITE SERVICE	1.00	\$143.36	\$143.36
Related Equipment 00000149 000000149 00000149 00000149 000000149 000000149 000000149 000000149 000000149 000000149 000000149 0000000149 0		7100 "G" Equipment		Sirius Enterprise System		1.00	\$39.13	\$39.13
Related Equipment	& Related Equipment		00000149					\$814.57
Related Equipment	& Related Equipment		00000149		·			·
S. Pelated Equipment 00000149 1.00 559.7	& Related Equipment		00000149				·	\$74.55
Related Equipment	& Related Equipment		00000149					\$85.53
Related Equipment 1,00 1	& Related Equipment	7100 "G" Equipment		Sirius Enterprise System		1.00	\$59.70	\$59.70
1707 to 1710 - Computers 1700 "G" Equipment 1	7070 to 7110 - Computers	7100 "G" Equipment		Sirius Enterprise System	S4112 SERIES USER GUIDE	1.00	\$2.03	\$2.03
1707 to 7110 - Computers 1700 "G" Equipment 1	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	S4112F DELL NETWORKING SWITCH	1.00	\$4,196.96	\$4,196.96
700 to 7110 - Computers RC-00001635 for PO- 00000149 RC-00	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	ISG PRODUCT (INFO)	1.00	\$0.00	\$0.00
7070 to 7110 - Computers 7100 "G" Equipment RC-00001635 for PO- 00000149 00000149 00000149 ASSISTANCE 5 YEARS PROSUPPORT PLUS MISSION CRITICAL 7X24 HW-SW TECH SUPPORT AND 1.00 \$1,126.01 \$1	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System		1.00	\$0.00	\$0.00
& Related Equipment 00000149 ASSISTANCE 5 YEARS 1.00 \$298.09 \$29 7070 to 7110 - Computers & Related Equipment 7100 °G" Equipment RC-00001635 for PO-0000149 Sirius Enterprise System PROSUPPORT PLUS MISSION CRITICAL 4-HOUR 7X24 ON-SITE SERVICE 1.00 \$298.09 \$29 7070 to 7110 - Computers & Related Equipment 7100 °G" Equipment RC-00001635 for PO-00000149 Sirius Enterprise System PROSUPPORT PLUS MISSION CRITICAL 4-HOUR 7X24 ON-SITE SERVICE 1.00 \$74.74 \$7 7070 to 7110 - Computers & Related Equipment 7100 °G" Equipment RC-00001635 for PO-0000149 Sirius Enterprise System DELL HARDWARE LIMITED WARRANTY INITIAL YEAR 1.00 \$97.26 \$9 8 Related Equipment RC-00001635 for PO-00000149 Sirius Enterprise System BASE, CHASSIS, DEEP 1.00 \$2,230.53 \$2,23 8 Related Equipment 7100 °G" Equipment RC-00001635 for PO-0000149 Sirius Enterprise System EDUCATION SERVICES - DELL EMC PROVEN PROFESSIONAL EXAM 4.00 \$87.69 \$35 7070 to 7110 - Computers & Related Equipment 7100 °G" Equipment RC-00001635 for PO-0000149 Sirius Enterprise System EDU SERV-DELL TECH POWERSCALE ADMINISTRATION ON-DEMAND <td></td> <td>7100 "G" Equipment</td> <td>RC-00001635 for PO-</td> <td>Sirius Enterprise System</td> <td>· =· · · ·</td> <td>1.00</td> <td>\$1,126.01</td> <td>\$1,126.01</td>		7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	· =· · · ·	1.00	\$1,126.01	\$1,126.01
& Related Equipment 00000149 WITH EMERGENCY DISPATCH 4 YEARS EXTENDED 7070 to 7110 - Computers & Related Equipment 7100 "G" Equipment RC-00001635 for PO-00000149 Sirius Enterprise System WITH EMERGENCY DISPATCH 1 YEAR 1.00 \$74.74 \$7 7070 to 7110 - Computers & Related Equipment 7100 "G" Equipment RC-00001635 for PO-00000149 Sirius Enterprise System DELL HARDWARE LIMITED WARRANTY INITIAL YEAR 1.00 \$97.26 \$8 8 Related Equipment 7100 "G" Equipment RC-00001635 for PO-00000149 Sirius Enterprise System DELL HARDWARE LIMITED WARRANTY INITIAL YEAR 1.00 \$9.726 \$9 4 Related Equipment 7100 "G" Equipment RC-00001635 for PO-00000149 Sirius Enterprise System BASE, CHASSIS, DEEP 1.00 \$2,230.53 \$2,23 8 Related Equipment 7100 "G" Equipment RC-00001635 for PO-00000149 Sirius Enterprise System EDUCATION SERVICES - DELL EMC PROVEN PROFESSIONAL EXAM 4.00 \$87.69 \$35 7070 to 7110 - Computers & Related Equipment 7100 "G" Equipment RC-00001635 for PO-00000149 Sirius Enterprise System EDU SERV-DELL TECH POWERSCALE ADMINISTRATION ON-DEMAND 4.00 \$1,406.99 \$5,62	& Related Equipment		00000149		ASSISTANCE 5 YEARS			\$298.09
& Related Equipment 0000149 WITH EMERGENCY DISPATCH 1 YEAR WITH EMERGENCY DISPATCH 1 YEAR 7070 to 7110 - Computers & Related Equipment 7100 "G" Equipment RC-00001635 for PO-00000149 Sirius Enterprise System DELL HARDWARE LIMITED WARRANTY INITIAL YEAR 1.00 \$97.26 \$9 7070 to 7110 - Computers & Related Equipment 7100 "G" Equipment RC-00001635 for PO-00000149 Sirius Enterprise System BASE,CHASSIS,DEEP 1.00 \$2,230.53 \$2,2	& Related Equipment		00000149		WITH EMERGENCY DISPATCH 4 YEARS EXTENDED		·	
& Related Equipment 00000149 00000149 1.00 "G" Equipment 7100 "G" Equipment RC-00001635 for PO-00000149 Sirius Enterprise System BASE, CHASSIS, DEEP 1.00 \$2,230.53 \$2,23 7070 to 7110 - Computers & Related Equipment 7100 "G" Equipment RC-00001635 for PO-00000149 Sirius Enterprise System EDUCATION SERVICES - DELL EMC PROVEN PROFESSIONAL EXAM 4.00 \$87.69 \$35 7070 to 7110 - Computers & Related Equipment RC-00001635 for PO-00000149 Sirius Enterprise System EDUSEN/-DELL TECH POWERSCALE ADMINISTRATION ON-DEMAND TRAINING EXPIRES 1YR 4.00 \$1,406.96 \$5,62 8 Related Equipment RC-00001635 for PO-00000149 Sirius Enterprise System PROSUPPORT PLUS MISSION CRITICAL 4+HOUR 7X24 ON-SITE CAPACITY AD-00 PER TERRABYTE 5 YEARS 1,280.00 \$14.15 \$18,11 7070 to 7110 - Computers & Related Equipment RC-00001635 for PO-0000149 Sirius Enterprise System PROSUPPORT PLUS MISSION CRITICAL ENTERPRISE ADVANCED BUNDLE CAPACITY SOFTWARE SUPPORT-MAINTENANCE 5 YEARS 1,280.00 \$34.31 \$43,91 7070 to 7110 - Computers & Related Equipment RC-00001635 for PO-0000149 Sirius Enterprise System PROSUPPORT PLUS MISSION CRITICAL ENTERPRISE ADVANCED BUNDLE CAPACITY SOFTWARE 1,280.00 \$34.31	& Related Equipment		00000149		WITH EMERGENCY DISPATCH 1 YEAR			\$74.74
& Related Equipment 0000149 00000149 000000149 000000149 <	& Related Equipment		00000149				·	\$97.26
7070 to 7110 - Computers		7100 "G" Equipment	00000149	Sirius Enterprise System	BASE,CHASSIS,DEEP	1.00	\$2,230.53	\$2,230.53
7070 to 7110 - Computers 7100 "G" Equipment RC-00001635 for PO- 00000149 Sirius Enterprise System EDU SERV-DELL TECH POWERSCALE ADMINISTRATION ON-DEMAND 4.00 \$1,406.96 \$5,62 Related Equipment 7100 "G" Equipment RC-00001635 for PO- 00000149 Sirius Enterprise System PROSUPPORT PLUS MISSION CRITICAL 4-HOUR 7X24 ON-SITE CAPACITY 1,280.00 \$14.15 \$18,11 \$18,11 \$100.00 \$1,000.0000149 Sirius Enterprise System PROSUPPORT PLUS MISSION CRITICAL ENTERPRISE ADVANCED BUNDLE 1,280.00 \$34.31 \$43,91 \$48,9	7070 to 7110 - Computers	7100 "G" Equipment		Sirius Enterprise System		4.00	\$87.69	\$350.76
7070 to 7110 - Computers & Redujement 7100 "G" Equipment RC-00001635 for PO-0000149 Sirius Enterprise System PROSUPPORT PLUS MISSION CRITICAL 4-HOUR 7X24 ON-SITE CAPACITY 1,280.00 \$14.15 \$18,11 7070 to 7110 - Computers 7070 to 7110 - Computers & Recomposition of the Computers 1 (and the Computers of Stephane) Related Equipment (and the Computers of Stephane) Too "G" Equipment (and the Computers of Stephane) PROSUPPORT PLUS MISSION CRITICAL 4-HOUR 7X24 ON-SITE CAPACITY (and the Computers of Stephane) \$1,280.00 \$34.31 \$43,91 & Related Equipment 7070 to 7110 - Computers A Related Equipment 8 Related Equipment 1 (and the Computers of Stephane) 7100 "G" Equipment 1 (and the Computers of Stephane) Sirius Enterprise System PROSUPPORT PLUS MISSION CRITICAL 4-HOUR 7X24 ON-SITE CAPACITY SOFTWARE DATE OF STEPHANE (and the Computer Stephane) \$34.31 \$43,91 7070 to 7110 - Computers A Related Equipment 1 (and the Computers of Stephane) 7100 "G" Equipment 1 (and the Computer Stephane) Related Equipment 1 (and the Computer Stephane) 7100 "G" Equipment 1 (and the Computer Stephane) \$34.31 \$43,91 7070 to 7110 - Computers 2 (and the Computer Stephane) 7100 "G" Equipment 1 (and the Computer Stephane) Related Equipment 1 (and the Computer Stephane) 7100 "G" Equipment 1 (and the Computer Stephane) \$34.31 \$43,91 8 Related Equipment 2 (and the Computer Stephane) 7100 "G" Equipment 1 (an	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	EDU SERV-DELL TECH POWERSCALE ADMINISTRATION ON-DEMAND	4.00	\$1,406.96	\$5,627.84
7070 to 7110 - Computers 7100 "G" Equipment RC-00001635 for PO-0000149 Sirius Enterprise System PROSUPPORT PLUS MISSION CRITICAL ENTERPRISE ADVANCED BUNDLE (CAPACITY SOFTWARE SUPPORT-MAINTENANCE 5 YEARS) 1,280.00 \$34.31 \$43,91 7070 to 7110 - Computers Related Equipment 7100 "G" Equipment RC-00001635 for PO-00001635 for PO-000001635 for PO-00001635 for PO-000001635 for PO-00001635 for PO-00001635 for PO-00001635 for PO-000001635 for	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	PROSUPPORT PLUS MISSION CRITICAL 4-HOUR 7X24 ON-SITE CAPACITY	1,280.00	\$14.15	\$18,112.00
7070 to 7111 - Computers RC-00001635 for PO-0000149 RC-00001635 for PO-0000149 RC-00001635 for PO-00000149 PROSUPPORT PLUS MISSION CRITICAL ONEFS CAPACITY SOFTWARE 1,280.00 \$24.42 \$31,25	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	PROSUPPORT PLUS MISSION CRITICAL ENTERPRISE ADVANCED BUNDLE	1,280.00	\$34.31	\$43,916.80
& Related Equipment 00000149 SUPPORT-MAINTENANCE 5 YEARS		7100 "G" Equipment		Sirius Enterprise System		1,280.00	\$24.42	\$31,257.60
TOWARD CLIVE NORMARIS A COME A EQUIDIDATION OF THE TOWARD STREET TOWARD AND STREET T	& Related Equipment	7100 "G" Equipment		Sirius Enterprise System		1,280.00	\$34.31	\$43,916.80
& Related Equipment 00000149	& Related Equipment		00000149				· ·	
7070 to 7110 - Computers RC-00001635 for PO- 8 Related Equipment RC-00001649 Sirius Enterprise System SMARTCONNECT CAPACITY LICENSE TIER 4=CB 1,280.00 \$0.00 \$		7100 G Equipment		Sinus Enterprise System	SWANTOUNNEOT CAFACITE LICENSE HER 4=CB	1,280.00	\$0.00	\$0.00

Comparison Com	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	SNAPSHOTIQ CAPACITY LICENSE TIER 4 =CB	1,280.00	\$0.00	\$0.00
Part		7100 "G" Equipment		Sirius Enterprise System	SMARTPOOL CAPACITY LICENSE TIER 4 =CB	1,280.00	\$0.00	\$0.00
Security Company Com	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	SMARTQUOTAS CAPACITY LICENSE TIER 4 =CB	1,280.00	\$0.00	\$0.00
Description		7100 "G" Equipment		Sirius Enterprise System	SYNCIQ CAPACITY LICENSE TIER 4 =CB	1,280.00	\$0.00	\$0.00
Company		7100 "G" Equipment		Sirius Enterprise System	ONEFS CAPACITY LICENSE TIER 4 = CB	1,280.00	\$34.87	\$44,633.60
Amening Company Comp	& Related Equipment	7100 "G" Equipment					·	
Above Paper Above Abov	& Related Equipment		00000149		, ,		·	
Abover Principation Company	& Related Equipment		00000149				·	
Content Cont	& Related Equipment		00000149		BASE SOFTWARE SUPPORT-MAINTENANCE 5 YEARS			
Activate Language	& Related Equipment	7100 "G" Equipment	00000149	Sirius Enterprise System		4.00	·	
A Baston Springer Control Cont		7100 "G" Equipment		Sirius Enterprise System		4.00	\$0.00	\$0.00
A Baster Sagering Company Comp		7100 "G" Equipment		Sirius Enterprise System		4.00	\$2,179.70	\$8,718.80
Proceedings	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System		4.00	\$0.00	\$0.00
200 201	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System		4.00	\$6,448.74	\$25,794.96
1976 File Company 1976 File File File 1976	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	PROSUPPORT PLUS MISSION CRITICAL 4-HOUR 7X24 ON-SITE SERVICE	4.00	\$1,707.02	\$6,828.08
200.00 2	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	PROSUPPORT PLUS MISSION CRITICAL 4-HOUR 7X24 ON-SITE SERVICE	4.00	\$426.67	\$1,706.68
Property		7100 "G" Equipment		Sirius Enterprise System		4.00	\$97.26	\$389.04
Anthon Engineer		7100 "G" Equipment		Sirius Enterprise System	HDFS FOR ONEFS (\$0.00)	4.00	\$0.00	\$0.00
A Contract Represent Contract	& Related Equipment		00000149				·	
	& Related Equipment		00000149					
5	& Related Equipment		00000149				·	
R. READER SERVICES 1997	& Related Equipment	' '	00000149				·	\$0.00
A Fiddle Caption Computer C	& Related Equipment	7100 "G" Equipment		Sirius Enterprise System		4.00	\$0.00	\$0.00
NOT DE TITLE COMPANIES NOT DE Experience		7100 "G" Equipment		Sirius Enterprise System	SMARTPOOL BASE LICENSE TIER 4 =ID	4.00	\$0.00	\$0.00
NOT 5 THE COMMAND 100 OF Experiment		7100 "G" Equipment		Sirius Enterprise System	SMARTQUOTAS BASE LICENSE TIER 4 =ID	4.00	\$0.00	\$0.00
NOTE 11 Computer 100 Computer	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	ONEFS BASE LICENSE TIER 4=ID	4.00	\$3,113.86	\$12,455.44
2000 EFFECT Computers	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	2X25GBE (SFP28) W/O OPTICS	4.00	\$339.73	\$1,358.92
2003 1971 Computed 100 °C Experiment 1	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	2X10GBE (SFP+) BACK END W/O OPTICS	4.00	\$385.11	\$1,540.44
200 1971 1	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	A2000 - 320TB (20X16TB)/800GB SSD/64GB MEMORY	4.00	\$22,471.43	\$89,885.72
200 Oct 174 Completed 100 Oct 200 Oc		7100 "G" Equipment		Sirius Enterprise System	SFP+ SR 10GBE OPTICAL TRANSCEIVER, HIGH TEMPERATURE, DELL,	7.00	\$316.47	\$2,215.29
Reducted Engineering						2.00	\$218.88	\$437.76
A Boston Edyparient 1700 °C Flagsprent 1700 °C Equipment 1	& Related Equipment		00000149		DIRECTATTACHBREAKOUT CABLE, 3 METER, CUSTOMER KIT			
A Selekte Equipment Company Co	& Related Equipment		00000149				·	
Selected Equipment Top Or Eq	& Related Equipment		00000149		ADD-ON PER TERABYTE 5 YEARS			
A Pacisson Equipment Computers Compu	& Related Equipment		00000149		CAPACITY SOFTWARE SPT-MAINTENANCE 5 YEARS			
A Related Equipment 100 °C E	& Related Equipment	* *		Sirius Enterprise System	SUPPORT-MAINTENANCE 5 YEARS	12.00	\$324.16	\$3,889.92
Sealed Equipment		7100 "G" Equipment		Sirius Enterprise System	SMARTPOOL CAPACITY LICENSE TIER 6 = CB	12.00	\$0.00	\$0.00
2000 2000		7100 "G" Equipment		Sirius Enterprise System	SNAPSHOTIQ CAPACITY LICENSE TIER 6 =CB	12.00	\$0.00	\$0.00
NTREPRISE ADV BUNDLE CAP TO PER TB - CR 12.00 \$200.00 \$3.22.4.4	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	SMARTCONNECT CAPACITY LICENSE TIER 6 = CB	12.00	\$0.00	\$0.00
17070 to 7110 - Computers Recognitions Recogn	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	ENTERPRISE ADV BUNDLE CAP T6 PER TB =CB	12.00	\$269.04	\$3,228.48
20000149	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	SMARTQUOTAS CAPACITY LICENSE TIER 6 =CB	12.00	\$0.00	\$0.00
1707 to Computers 1700 °C Equipment 1700	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	SYNCIQ CAPACITY LICENSE TIER 6 =CB	12.00	\$0.00	\$0.00
Related Equipment Rocoport		7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	ONEFS CAPACITY LICENSE TIER 6 =CB	12.00	\$432.22	\$5,186.64
& Related Equipment 00000149 00000149 00000149 7070 to 7110 - Computers & Related Equipment 700 or 710 - Computers & Related Equipment 8 Computers 00000149 \$100 Or 5 Equipment 300 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment 8 Computers & Related Equipment \$100 Or 5 Equipment \$0.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment \$100 Or 5 Equipment \$0.00 \$0.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment \$100 Or 5 Equipment \$0.00 \$0.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment \$0.00			00000149 RC-00001635 for PO-			3.00	\$0.00	\$0.00
& Related Equipment 0000149 0000149 ROSUPPORT PLUS MISSION CRITICAL ENTERPRISE ADVANCED BUNDLE 3.00 \$0.00 7070 To 710 To 710 To 70 T	& Related Equipment	' '	00000149				·	
8. Related Equipment 00000149 BASE SOFTWARE SUPPORT-MAINTENANCE 9 YEARS 9 7070 to 7110 - Computers 6. Related Equipment 7100 'G' Equipment R. Co0001635 for PO-0000149 Sirius Enterprise System PROSUPPORT PLUS MISSION CRITICAL HOFS FOR ONEFS SOFTWARE 3.00 \$0.00 3.070 to 7110 - Computers 6. Related Equipment R. Co0001635 for PO-0000149 Sirius Enterprise System SYEARS SUPPORT PLUS MISSION CRITICAL ONEFS BASE 4TB 3.00 \$0.00 7.070 to 7110 - Computers 6. Related Equipment R. Co0001635 for PO-0000149 Sirius Enterprise System DELL LIMITED HARDWARE WARRANTY EXTENDED YEAR(S) 3.00 \$0.00 7.070 to 7110 - Computers 7.070 to 710 - Computers 8. Related Equipment R. Related	& Related Equipment		00000149				·	
8 Related Equipment 00000149 SUPPORT-MAINTENANCE 5 YEARS SUPPORT-MAINTENANCE 5 YEARS 7070 to 7110 - Computers 6 Related Equipment 1700 "G" Equipment RC-00001635 for PO-00000143 Sirius Enterprise System open to provide the provided of the policy open to provide the provided in the prov	& Related Equipment		00000149	, ,	BASE SOFTWARE SUPPORT-MAINTENANCE 5 YEARS		·	
& Related Equipment 00000149 SOFTWARE SUPPORTMAINTENANCE 0 0 3.00 \$0.00 7070 to 7110 - Computers & Related Equipment 7100 "G" Equipment Robot 100 "G" Equipment Robot 100 "G" Equipment 3.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment 7100 "G" Equipment Robot 100 "G"	& Related Equipment	1.7	00000149		SUPPORT-MAINTENANCE 5 YEARS		·	
8 Related Equipment 00000149 RC-00001635 for PO- 00000149 Sirius Enterprise System ASISTANCE 5 YEARS PROSUPPORT PLUS MISSION CRITICAL 7X24 HW-SW TECH SUPPORT AND ASISTANCE 5 YEARS 3.00 \$154.80 \$464.40 7070 to 7110 - Computers A Related Equipment RC-00001635 for PO- 00000149 Sirius Enterprise System 00000149 PROSUPPORT PLUS MISSION CRITICAL 4+HOUR 7X24 ON-SITE SERVICE WITH EMERGENCY DISPATCH 4 YEARS EXTENDED 3.00 \$40.80 \$122.40 7070 to 7110 - Computers A Related Equipment RC-00001635 for PO- 00000149 Sirius Enterprise System 00000149 PROSUPPORT PLUS MISSION CRITICAL 4+HOUR 7X24 ON-SITE SERVICE WITH EMERGENCY DISPATCH 1 YEAR 3.00 \$40.80 \$122.40 7070 to 7110 - Computers A Related Equipment 7070 to 7110 - Computers A Related Equipm	& Related Equipment	' '	00000149		SOFTWARE SUPPORTMAINTENANCE			\$0.00
8. Related Equipment 00000149 ASSISTANCE 5 YEARS Service of the properties of the	& Related Equipment	7100 "G" Equipment	00000149	Sirius Enterprise System	` '	3.00	\$0.00	\$0.00
770 to 7110 - Computers R R R R R R R R R		7100 "G" Equipment		Sirius Enterprise System		3.00	\$154.80	\$464.40
7700 to 7110 - Computers 7100 "G" Equipment 7	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	PROSUPPORT PLUS MISSION CRITICAL 4-HOUR 7X24 ON-SITE SERVICE	3.00	\$40.80	\$122.40
7700 to 7110 - Computers 7100 "G" Equipment 7	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	PROSUPPORT PLUS MISSION CRITICAL 4-HOUR 7X24 ON-SITE SERVICE	3.00	\$8.39	\$25.17
7070 to 7110 - Computers 7100 "G" Equipment RC-00001635 for PO-00000149 Sirius Enterprise System F200 NODE HARDWARE CONT 3.00 \$0	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System		3.00	\$23.98	\$71.94
7070 to 7110 - Computers Related Equipment RC-00001635 for PO-00000149 Sirius Enterprise System DRAC, 14G, ENTERPRISE LICENSE 3.00 \$234.49 \$703.47	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	F200 NODE HARDWARE CONT	3.00	\$0.00	\$0.00
7070 to 7110 - Computers 7100 "G" Equipment RC-00001635 for PO-	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	IDRAC, 14G, ENTERPRISE LICENSE	3.00	\$234.49	\$703.47
& Related Equipment 00000149 C-00001635 for PO-00000149 Sirius Enterprise System RACK RAILS WITH CMA 3.00 \$0.00 \$0.00 7070 to 7110 - Computers Related Equipment 7100 "G" Equipment RC-00001635 for PO-00000149 Sirius Enterprise System INFO F200 ISG PRODUCT 3.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment RC-00001635 for PO-00000149 Sirius Enterprise System INFO F200 ISG PRODUCT 3.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment RC-00001635 for PO-00000149 Sirius Enterprise System TRUSTED PLATFORM MODULE 3.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment RC-00001635 for PO-00001635 for PO-00001649 Sirius Enterprise System 2.2 GHZ PROCESSOR 3.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment RC-00001635 for PO-00001635	& Related Equipment		00000149				\$0.00	\$0.00
& Related Equipment 00000149 INFO F200 ISG PRODUCT 3.00 \$0.00 \$0.00 7070 to 7110 - Computers Related Equipment 7100 "G" Equipment RC-00001635 for PO-00001635 for PO-00000149 Sirius Enterprise System TRUSTED PLATFORM MODULE 3.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment RC-00001635 for PO-00001635 for PO-00000149 Sirius Enterprise System 2.2 GHZ PROCESSOR 3.00 \$0.00 \$0.00 7070 to 7110 - Computers & Related Equipment RC-00001635 for PO-000000149 Sirius Enterprise System 2.2 GHZ PROCESSOR 3.00 \$0.00 \$0.00 7070 to 7110 - Computers & 7100 "G" Equipment RC-00001635 for PO-00001635 for PO-000000149 Sirius Enterprise System BEZEL COMPONENTS 3.00 \$0.00 \$0.00	& Related Equipment	' '	00000149				·	
& Related Equipment 00000149 Sirius Enterprise System TRUSTED PLATFORM MODULE 3.00 \$0.00 \$0.00 7070 to 7110 - Computers Related Equipment 700 °G* Equipment RC-00001635 for PO-00000149 Sirius Enterprise System TRUSTED PLATFORM MODULE 3.00 \$0.00 \$0.00 7070 to 7110 - Computers A Related Equipment RC-00001635 for PO-0000149 Sirius Enterprise System 2.2 GHZ PROCESSOR 3.00 \$0.00 \$0.00 7070 to 7110 - Computers To	& Related Equipment		00000149				·	
& Related Equipment 00000149 00000149 \$0.00 \$0	& Related Equipment	' '	00000149				·	
& Related Equipment 00000149 00000149 00000149 00000149 00000149 00000149 00000149 00000149 00000149 00000149 000000149 000000000000000000000000000000000000	& Related Equipment	* *	00000149				·	
	& Related Equipment		00000149				·	\$0.00
		7100 "G" Equipment		Sirius Enterprise System	BEZEL COMPONENTS	3.00	\$0.00	\$0.00

March Marc	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	POWERSCALE SHIPPING	3.00	\$0.00	\$0.00
The content of the		7100 "G" Equipment		Sirius Enterprise System	SHIPPING MATERIAL	3.00	\$0.00	\$0.00
Security Company Com		7100 "G" Equipment		Sirius Enterprise System	IDRAC RANDOM PASSWORD	3.00	\$0.00	\$0.00
Comment of the Comm		7100 "G" Equipment		Sirius Enterprise System	HDFS FOR ONEFS (\$0.00)	3.00	\$0.00	\$0.00
Accordance Acc	& Related Equipment		00000149					
Amenic Fuel Process Company Co	& Related Equipment		00000149				·	
An analysis	& Related Equipment		00000149				·	
A. American and Company	& Related Equipment		00000149				·	
A Abund Landers Same Part 100 10		7100 "G" Equipment		Sirius Enterprise System	SMARTQUOTAS BASE LICENSE TIER 6 =ID	3.00	\$0.00	\$0.00
Total Processor Company Compan		7100 "G" Equipment		Sirius Enterprise System	SYNCIQ BASE LICENSE TIER 6 =ID	3.00	\$0.00	\$0.00
Section Company Comp	7070 to 7110 - Computers	7100 "G" Equipment		Sirius Enterprise System	SMARTCONNECT BASE LICENSE TIER 6 =ID	3.00	\$0.00	\$0.00
PRINCE P	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	ONEFS BASE LICENSE 4TB TIER 6 =ID	3.00	\$0.00	\$0.00
Section Sect	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	C13/C14 US (2M) X2	3.00	\$12.96	\$38.88
Fig. 20 Fig.	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001635 for PO-	Sirius Enterprise System	96GB 3200 DIMM MEMORY	3.00	\$2,124.92	\$6,374.76
A finance in Security 1.		7100 "G" Equipment		Sirius Enterprise System	4TB (0.96TB X 4) SSD AG	3.00	\$2,719,73	\$8,159.19
A Resour Expension (10) O 1 Expension (10) O	& Related Equipment		00000149		,			
Antender Equipment	& Related Equipment		00000149					
Anthonic Engineers 1907 Experiment 190	& Related Equipment		00000149					
A County of Experiment		7100 "G" Equipment		Sirius Enterprise System	POWERSCALE F200	3.00	\$4,271.27	\$12,813.81
1908 of 1911 Company 1909 190		7100 "G" Equipment		Sirius Enterprise System	MEMORY COMPONENTS	3.00	\$0.00	\$0.00
100.00 170.00 1	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001794 for PO-			10.00	\$299.48	\$2,994.80
100.000.0000.0000.0000.0000.0000.0000.	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001811 for PO-	HEARTLAND BUSINESS		35.00	\$218.56	\$7,649.60
FOOD 2017-10 Company	7070 to 7110 - Computers	7100 "G" Equipment	RC-00001811 for PO-	HEARTLAND BUSINESS		35.00	\$153.54	\$5,373.90
Property	7070 to 7110 - Computers	7100 "G" Equipment	RC-000958001 for PO-		•	1.00	\$325.00	\$325.00
NOT 5 TH TO Company 190 For Expansed 190 For		7100 "G" Equipment		HEARTLAND BUSINESS	Nexus 9300 48p 1/10/25G, 6p 40/100G, MACsec UP. SyncE	2.00	\$10,617.03	\$21,234.06
Note Company							\$9 999 60	\$30,008.40
A RESIDENCE Explanation Computation Principal Prin	& Related Equipment		CNV307123	SYSTEMS LLC	·			
A Reducted Equipment Computer	& Related Equipment		CNV307123	SYSTEMS LLC				
R. Stander Equipment Character Chara	& Related Equipment	7100 "G" Equipment	CNV307123	SYSTEMS LLC	·			
R. Restone Equipment Company C		7100 "G" Equipment			Additional memory of 16GB for Nexus Switches	2.00	\$465.76	\$931.52
Part Description Computers Part Part Computers Part		7100 "G" Equipment			Nexus 9K 930W DC PS, Port-side Intake	4.00	\$461.61	\$1,846.44
Trigory Trig	7070 to 7110 - Computers	7100 "G" Equipment	RC-00002196 for PO-	HEARTLAND BUSINESS	SNTC-8X5XNBD Nexus 9300 48p 1/10/25G, 6p 40/100G, MAC	2.00	\$4,215.90	\$8,431.80
1970 to 7110 Computers 7010 0° Feptiment 200000323 for Pro	7070 to 7110 - Computers	7070 "G" Equipment	RC-001038001 for PO-	VERIZON WIRELESS	Apple iPad 9th Generation 256GB in Space Gray	5.00	\$509.99	\$2,549.95
700 to 7110 Computed 700 to Fepament 700 t	7070 to 7110 - Computers	7100 "G" Equipment	RC-00002322 for PO-			1.00	\$4,569.95	\$4,569.95
200 201 Computed		7070 "G" Equipment		LandMark Spatial	Mesa 3 GEO Windows 10 N. America - 128 GB Internal Storage, 8 GB RAM, Quad	1.00	\$2,447.76	\$2,447.76
Reducted Equipment MANU Add on vision camment for the standard ZEB-HORSEZON. 0.00 \$58,540.00 \$58,		7070 "G" Equipment				1.00	\$1.627.50	\$1,627.50
Sealand Equipment	& Related Equipment		00000774	MANU				
Sealand Equipment 100 07 Equipment 0000073 000	& Related Equipment		00000774	MANU	Care & reference base (excludes Draw)			
Services will be provided for a fixed primer of \$10.087 FOU. Dor. Computers of \$10.087 FOU. Dor. Computers of \$10.087 FOU. Print. PCR. PSU. 1.00 \$1,683.00 \$1,683.00 \$1,683.00 \$1,683.00 \$1,683.00 \$1,683.00 \$1,683.00 \$1,093.00 \$1,00 \$	& Related Equipment		00000773	MANU				
Reballed Equipment 700 °C Eq	& Related Equipment		00000150	Sirius Enterprise System	The Services will be provided for a fixed price of \$10,987.00. Upon completion of			
Selected Equipment Computers 100 °G' Equipment Compute		7100 "G" Equipment		Sirius Enterprise System	UCS C220 M5 SFF 10 HD w/o CPU, mem, HD, PCIe, PSU	1.00	\$1,663.00	\$1,663.00
17070 to Computers Robbins Related Equipment Robbins Robbins Related Equipment Robbins Related Robbins Rob		7100 "G" Equipment		Sirius Enterprise System	SNTC 24X7X4 UCS C220 M5 SFF 10 HD w/o CPU, mem, HD, PCle, PS	1.00	\$1,877.93	\$1,877.93
1707 to 710 - Computers Ro-Condox 2022 for PC Sirus Enterprise System Casco UCS 770W AC Power Supply for Rack Server 2.00 \$281.00 \$582.00 \$3	7070 to 7110 - Computers	7100 "G" Equipment	RC-00002702 for PO-	Sirius Enterprise System	Ball Bearing Rail Kit for C220 & C240 M4 & M5 rack servers	1.00	\$88.44	\$88.44
17070 or 710 - Computers 7070 or 710 - C	7070 to 7110 - Computers	7100 "G" Equipment	RC-00002702 for PO-	Sirius Enterprise System	Cisco UCS 770W AC Power Supply for Rack Server	2.00	\$281.00	\$562.00
17070 to Tritlo - Computers 17070 or Equipment 17070 or Equipment 17070 to Tritlo - Computers 17070 or Equipment 17070 to Tritlo - Computers 17070 or Equipment 1	7070 to 7110 - Computers	7100 "G" Equipment	RC-00002702 for PO-	Sirius Enterprise System	64GB SD Card for UCS Servers	2.00	\$146.33	\$292.66
Robins Related Equipment 100 °C °C Equipment 100 °C °C Equipment 100 °C °C Equipment 100 °C	7070 to 7110 - Computers	7100 "G" Equipment	RC-00002702 for PO-	Sirius Enterprise System	Cisco UCS VIC 1457 Quad Port 10/25G SFP28 CNA MLOM	1.00	\$903.70	\$903.70
8 Related Equipment 00001370 Sinus Enterprise System 00001133 Sinus Enterprise System 00001133 4GB DDR4-2933-MHz RDIMM/2Rw4/1.2v 6.00 \$2,320.43 \$13,922.5 7070 to 7110 - Computers & Related Equipment 7100 °C Equipment R. C-00002/702 for PO-00001133 Sinus Enterprise System 00001133 3GB DDR4-2933-MHz RDIMM/2Rw4/1.2v 6.00 \$1,333.24 \$7,999.4 8 Related Equipment 7100 °C Tequipment 700 °C Tequipment R. C-00002/702 for PO-00001133 Sinus Enterprise System 00001133 Intel 6246 3.34Pt/165W 12C/24.75MB DCP DDR4 2933 MHz 1.00 \$1,333.24 \$7,999.4 8 Related Equipment 7070 °C Till C-Computers 3 R. Co00002/702 for PO-00001133 Sinus Enterprise System 00001133 Cisco Intersight SaaS - Advantage (new) 1.00 \$5,443.10 \$5,443.10 \$5,443.10 \$5,443.10 \$5,443.10 \$5,443.10 \$5,443.10 \$5,443.10 \$5,443.10 \$6,000 \$7,000 <td< td=""><td>7070 to 7110 - Computers</td><td>7070 "G" Equipment</td><td>RC-001370001 for PO-</td><td>CDW GOVERNMENT INC</td><td>Logitech Group System</td><td>1.00</td><td>\$865.00</td><td>\$865.00</td></td<>	7070 to 7110 - Computers	7070 "G" Equipment	RC-001370001 for PO-	CDW GOVERNMENT INC	Logitech Group System	1.00	\$865.00	\$865.00
8 Related Equipment 00001133 Machine Equipment 32GB DDR4-2933-MHz RDIMM2Rx4/1.2v 6.00 \$1,333.24 \$7,999.4 7070 to 7110 - Computers & Related Equipment 7100 °G* Equipment RC-00002702 for PO-00001133 Sirius Enterprise System Intel 6246 3.3GHz/165W 12C/24.75MB DCP DDR4 2933 MHz 1.00 \$5,443.10 \$5,443.10 7070 to 7110 - Computers & Related Equipment 7000 °G* Equipment RC-00002702 for PO-00001133 Sirius Enterprise System Intel 6246 3.3GHz/165W 12C/24.75MB DCP DDR4 2933 MHz 1.00 \$5,443.10 \$5,443.10 7070 to 7110 - Computers & Related Equipment 7000 °G* Equipment RC-00002702 for PO-00001133 Girius Enterprise System Clisco Intersight SaaS - Advantage (new) 1.00 \$1,311.88 \$1,311.88 \$1,311.83 \$1,31				Sirius Enterprise System		6.00		\$13,922.58
8 Related Equipment 00001133 Intel 6246 3.3GHz/165W 12C/24.75MB DCP DDR4 2933 MHz 1.00 \$5,443.11 \$6,43.11 </td <td>& Related Equipment</td> <td></td> <td>00001133</td> <td></td> <td></td> <td></td> <td></td> <td></td>	& Related Equipment		00001133					
& Related Equipment 00001133 Cisco Intersight SaaS - Advantage (new) 1.00 \$1,311.88 \$1,311.88 7070 to 7710 - Computers & Related Equipment 7070 to 7710 - Computers (purple) 8 Related Equipment (purple) 8 Related Equipment (purple) 8 Related Equipment (purple) 1.00 \$870.00	& Related Equipment		00001133					
& Related Equipment 00001133 CDW GOVERNMENT INC Samsung ON65Q60AAF Q60A Series - 65° Class 4k LED TV 1.00 \$870.00 \$870.00 7070 to 7110 - Computers A Related Equipment 7070 to 7110 - Computers A	& Related Equipment		00001133					
8 Related Equipment 00001370 Convolution Interprise System Convolution Convolution Call National Control Computers Convolution	& Related Equipment		00001133					
& Related Equipment 00000563 14.0 1920xt200 Touch, Windows 10 Home 64, 16.0GB, 1x256GB SSD, M.2 2280. 321.56 \$321.56 \$1,286.2 7070 to 7110 - Computers Related Equipment 7100 "G" Equipment RC-00002954 for PO-00001026 Sirius Enterprise System POWER CORD, 125V, 15A, 10 FEET, NEMA 5-15/C13 4.00 \$8.58 \$331.56 \$34.33 4 Related Equipment 7100 "G" Equipment RC-00002954 for PO-0001026 Sirius Enterprise System POWER CORD, 125V, 15A, 10 FEET, NEMA 5-15/C13 4.00 \$8.58 \$34.33 7070 to 7110 - Computers & Related Equipment 7100 "G" Equipment RC-00002954 for PO-0001026 Sirius Enterprise System DELL NETWORKING CABLE, OM4 LC/LC FIBER CABLE, (OPTICS REQUIRED), 3 METER 4.00 \$109.33 \$437.33 7070 to 7110 - Computers & Related Equipment 7100 "G" Equipment RC-00002954 for PO-0001026 Sirius Enterprise System YEARS PROSUPPORT OS10 ENTERPRISE SOFTWARE SUPPORT- 1.00 1.00 \$375.01 \$375.01 7070 to 7110 - Computers & Related Equipment RC-00002954 for PO-00002954 for PO-00001026 Sirius Enterprise System MISSION CRITICAL:7X24 HW/SW TECHNICAL SUPPORT AND ASSISTANCE, 5 YEARS 1.00 \$1,715.45 \$1,715.45 \$1,715.45 \$1,715.45 \$1,715.45 <td>& Related Equipment</td> <td></td> <td>00001370</td> <td></td> <td>-</td> <td></td> <td></td> <td>\$870.00</td>	& Related Equipment		00001370		-			\$870.00
& Related Equipment 00001026 WAVELENGTH, 300M REACH WAVELENGTH, 300M REACH 7070 to 7110 - Computers & Related Equipment RC-00002954 for PO-0001026 Sirius Enterprise System POWER CORD, 125V, 15A, 10 FEET, NEMA 5-15/C13 4.00 \$8.58 \$3.43.3 7070 to 7110 - Computers & Related Equipment RC-00002954 for PO-0001026 Sirius Enterprise System DELL NETWORKING CABLE, OM4 LC/LC FIBER CABLE, (OPTICS REQUIRED). 3 METER 4.00 \$109.33 \$437.3 7070 to 7110 - Computers & Related Equipment RC-00002954 for PO-0001026 Sirius Enterprise System 5 YEARS PROSUPPORT OS10 ENTERPRISE SOFTWARE SUPPORT- 1.00 1.00 \$375.01 \$375.01 7070 to 7110 - Computers & Related Equipment 7100 "G" Equipment RC-00002954 for PO-0001026 Sirius Enterprise System PROSUPPORT MISSION CRITICAL-7X24 HW/SW TECHNICAL SUPPORT AND ASISTANCE, S YEARS 1.00 \$1,715.45 \$1,715.45 7070 to 7110 - Computers & Related Equipment RC-00002954 for PO-0001026 Sirius Enterprise System MISSION CRITICAL PACKAGE: 4HOUR 7X24 ON-SITE SERVICE WITH EMERGENCY DISPATCH, EXTENDED TO 4 YEARS 1.00 \$797.91 \$797.9 7070 to 7110 - Computers & Related Equipment RC-00002954 for PO-0001026 Sirius Enterprise System MISSION CRITICAL PACKAGE: 4HOUR 7X24 ON-SI		7070 "G" Equipment		Lenovo Inc	14.0 1920x1200 Touch, Windows 10 Home 64, 16.0GB, 1x256GB SSD, M.2 2280,	29.00	\$1,212.00	\$35,148.00
Top		7100 "G" Equipment		Sirius Enterprise System		4.00	\$321.56	\$1,286.24
Top	7070 to 7110 - Computers	7100 "G" Equipment	RC-00002954 for PO-	Sirius Enterprise System		4.00	\$8.58	\$34.32
7070 to 7110 - Computers RC-00002954 for PO-	7070 to 7110 - Computers	7100 "G" Equipment	RC-00002954 for PO-	Sirius Enterprise System		4.00	\$109.33	\$437.32
7070 to 7110 - Computers	7070 to 7110 - Computers	7100 "G" Equipment	RC-00002954 for PO-	Sirius Enterprise System	5 YEARS PROSUPPORT OS10 ENTERPRISE SOFTWARE SUPPORT-	1.00	\$375.01	\$375.01
7070 to 7110 - Computers	7070 to 7110 - Computers	7100 "G" Equipment	RC-00002954 for PO-	Sirius Enterprise System	PROSUPPORT MISSION CRITICAL:7X24 HW/SW TECHNICAL SUPPORT AND	1.00	\$1,715.45	\$1,715.45
& Related Equipment 00001026 EMERGENCY DISPATCH, EXTENDED TO 4 YEARS 94.76 7070 to 7110 - Computers Related Equipment 7100 "G" Equipment 00001026 Sirius Enterprise System MisSION CRITICAL PACKAGE: 4-HOUR 7X24 ON-SITE SERVICE WITH 1.00 1.00 \$94.76 7070 to 7110 - Computers Related Equipment 7100 "G" Equipment 00001026 RE-00002954 for PO- 00001026 Sirius Enterprise System 00001026 DELL HARDWARE LIMITED WARRANTY 1 YEAR 1.00 \$85.31 \$85.3 7070 to 7110 - Computers 7070 to 7110 - Computers 7070 to 7110 - Computers 7100 "G" Equipment RC-00002954 for PO- Sirius Enterprise System DELL NETWORKING DUAL TRAY, ONE RACK UNIT, 4-POST RACK ONLY, 1.00 \$90.04 \$90.04		7100 "G" Equipment		Sirius Enterprise System	•	1.00	\$797.91	\$797.91
& Related Equipment 00001026 EMERGENCY DISPATCH, 1 YEAR 985.3 7070 to 7110 - Computers Related Equipment 7100 "G" Equipment RC-00002954 for PO- 0001026 Sirius Enterprise System DELL HARDWARE LIMITED WARRANTY 1 YEAR 1.00 \$85.31 \$85.31 7070 to 7110 - Computers 7100 "G" Equipment RC-00002954 for PO- Sirius Enterprise System DELL NETWORKING DUAL TRAY, ONE RACK UNIT, 4-POST RACK ONLY, 1.00 \$90.04 \$90.04	& Related Equipment		00001026		EMERGENCY DISPATCH, EXTENDED TO 4 YEARS			
& Related Equipment 00001026 7070 to 7110 - Computers 7100 "G" Equipment RC-00002954 for PO- Sirius Enterprise System DELL NETWORKING DUAL TRAY, ONE RACK UNIT, 4-POST RACK ONLY, 1.00 \$90.04 \$90.04	& Related Equipment		00001026		EMERGENCY DISPATCH, 1 YEAR			
	& Related Equipment		00001026					
		7100 "G" Equipment		Sirius Enterprise System		1.00	\$90.04	\$90.04

	7100 "G" Equipment	RC-00002954 for PO- 00001026	Sirius Enterprise System	DELL EMC NETWORKING S4112-ON AMERICAS USER GUIDE	1.00	\$1.71	\$1.71
	7100 "G" Equipment	RC-00002954 for PO- 00001026	Sirius Enterprise System	OS10 ENTERPRISE, S4112F	1.00	\$1,071.45	\$1,071.45
	7100 "G" Equipment	RC-00002954 for PO-	Sirius Enterprise System	DELL EMC SWITCH S4112F, 12 X 10GBE SFP+, 3 X 100GBE QSFP28, FAN TO	1.00	\$5,881.23	\$5,881.23
	7110 "G" Equipment	00001026 RC-00003225 for PO-	RICOH USA INC	IO, 2 X AC PSU PostScript3 Unit Type M37	1.00	\$209.00	\$209.00
	7110 "G" Equipment	00001127 RC-00003225 for PO-	RICOH USA INC	Fax Option Type M37	1.00	\$477.00	\$477.00
& Related Equipment 7070 to 7110 - Computers	7110 "G" Equipment	00001127 RC-00003225 for PO-	RICOH USA INC	Punch Unit PU3080 NA	1.00	\$331.00	\$331.00
& Related Equipment 7070 to 7110 - Computers	7110 "G" Equipment	00001127 RC-00003225 for PO-	RICOH USA INC	Paper Feed Unit PB3280	1.00	\$547.00	\$547.00
& Related Equipment	7110 "G" Equipment	00001127 RC-00003225 for PO-	RICOH USA INC	Finisher SR3260	1.00	\$651.00	\$651.00
& Related Equipment		00001127 RC-00003225 for PO-	RICOH USA INC			\$117.00	
& Related Equipment	7110 "G" Equipment	00001127		Bridge Unit BU3090	1.00	·	\$117.00
& Related Equipment	7110 "G" Equipment	RC-00003225 for PO- 00001127	RICOH USA INC	IM C3000 ESP XG-PCS-15D (120 Volt, 15 Amp)	1.00	\$3,693.00	\$3,693.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-000563006 for PO- 00000563	Lenovo Inc	Notebook ThinkPad X1 Yoga Gen 6 20Y0CTO1WW	8.00	\$1,400.00	\$11,200.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-001356001 for PO- 00001356	DELL MARKETING LP	Dell Rugged Notebook Desk Dock	34.00	\$245.00	\$8,330.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-001759001 for PO- 00001759	VERIZON WIRELESS (PO'S ONLY)	Apple iPad 9th Generation 256GB in Space Gray	2.00	\$509.99	\$1,019.98
	7070 "G" Equipment	RC-00003747 for PO- CNV306506	EZ-LINER INDUSTRIES	Skip-Line equipment upgrade components: - Remove SM-5 system along with DL-09.	2.00	\$25,750.00	\$51,500.00
7070 to 7110 - Computers	7070 "G" Equipment	RC-001778001 for PO-	US BANK CARDMEMBER	Intermec CK31 CK31CB114D002804 TE2000 Imager Barcode Scanner Color CK31CB 5250	6.00	\$254.99	\$1,529.94
	7070 "G" Equipment	00001778 RC-001754001 for PO-	SERVICES (PCARD) CDW GOVERNMENT INC	Samsung 22" 16:9 IPS Panel Display	100.00	\$220.00	\$22,000.00
	7070 "G" Equipment	00001754 RC-001754001 for PO-	CDW GOVERNMENT INC	Samsung 22" 16:9 IPS Panel Display	50.00	\$220.00	\$11,000.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00001754 RC-001122001 for PO-	Sirius Enterprise System	UCS Fabric Interconnect 6454	2.00	\$14,924.25	\$29,848.50
& Related Equipment	7100 "G" Equipment	00001122 RC-001638001 for PO-	Sirius Enterprise System	UCS Fabric Interconnect 6454	2.00	\$15,485.04	\$30,970.08
& Related Equipment	7100 "G" Equipment	00001638 RC-001638001 for PO-	Sirius Enterprise System	SNTC-24X7X4OS UCS C240 M6 Rack w/o CPU, mem, drives, 2	2.00	\$4,451.25	\$8,902.50
& Related Equipment		00001638	HOOSIER COMPANY INC	SNT0-24A/ A4US UCS C24U M6 Rack W/0 CPU, mem, drives, 2 Lufft LCOM RPU			
& Related Equipment	7100 "G" Equipment	RC-00004735 for PO- 00001303	THE		1.00	\$5,473.94	\$5,473.94
& Related Equipment	7070 "G" Equipment	RC-002167001 for PO- 00002167	CDW GOVERNMENT INC	BenQ EL2870U - LED monitor - 27.9" - HDR	1.00	\$278.99	\$278.99
7070 to 7110 - Computers & Related Equipment	7110 "G" Equipment	RC-00004849 for PO- 00002266	CDW GOVERNMENT INC	Canon PIXMA TS302 - printer - color - ink-jet	1.00	\$67.72	\$67.72
7070 to 7110 - Computers & Related Equipment	7110 "G" Equipment	RC-00004850 for PO- 00002266	CDW GOVERNMENT INC	Canon PIXMA TS302 - printer - color - ink-jet	1.00	\$67.72	\$67.72
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-002190001 for PO- 00002190	HP Inc	HP Color LaserJet 2x550-sheet Feeder and Stand What's in the box - HP LaserJet 2x550 Sheet Paper Tray	1.00	\$900.00	\$900.00
7070 to 7110 - Computers & Related Equipment	7110 "G" Equipment	RC-002191001 for PO- 00002191	HP Inc	HP DesignJet T1700dr PS Printer:NA/LA What's in the box - Warranty,Printheads,Setup poster,	1.00	\$6,476.40	\$6,476.40
	7110 "G" Equipment	RC-00005043 for PO- 00000870	RICOH USA INC	Ricoh M C250FW	1.00	\$528.00	\$528.00
7070 to 7110 - Computers	7110 "G" Equipment	RC-00005074 for PO-	RICOH USA INC	Bridge Unit BU3090	1.00	\$117.00	\$117.00
	7110 "G" Equipment	00001571 RC-00005074 for PO-	RICOH USA INC	IM C3000	1.00	\$3,693.00	\$3,693.00
& Related Equipment 7070 to 7110 - Computers	7110 "G" Equipment	00001571 RC-00005074 for PO-	RICOH USA INC	ESP XG-PCS-15D (120 Volt, 15 Amp) PostScript3 Unit Type M37	1.00	\$209.00	\$209.00
& Related Equipment 7070 to 7110 - Computers	7110 "G" Equipment	00001571 RC-00005074 for PO-	RICOH USA INC	Fax Option Type M37	1.00	\$477.00	\$477.00
& Related Equipment	7110 "G" Equipment	00001571 RC-00005074 for PO-	RICOH USA INC	Punch Unit PU3080 NA	1.00	\$331.00	\$331.00
& Related Equipment	7110 "G" Equipment	00001571 RC-00005074 for PO-	RICOH USA INC	Paper Feed Unit PB3280	1.00	\$547.00	\$547.00
& Related Equipment		00001571 RC-00005074 for PO-		•			
& Related Equipment	7110 "G" Equipment	00001571	RICOH USA INC	Finisher SR3260	1.00	\$651.00	\$651.00
7070 to 7110 - Computers & Related Equipment		RC-00005184 for PO- 00002244	KELTEK INC	Public Sector Specific, Win10 Pro, Intel Core i7-8665U 1.9GHz, vPro, 14.0" FHD 1000 nit Gloved	1.00	\$3,508.41	\$3,508.41
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00005184 for PO- 00002244	KELTEK INC	CF55 Desktop Dock no AC adapter included	1.00	\$416.50	\$416.50
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-001356002 for PO- 00001356	DELL MARKETING LP	Dell Latitude 5420 Rugged 8th Gen, i7, Win 10, 16GB, 256GB SSD 14" non touch display	34.00	\$1,800.00	\$61,200.00
	7070 "G" Equipment	RC-002244001 for PO- 00002244	KELTEK INC	AC ADAPTER (100W) FOR FZ-55 MK	1.00	\$73.95	\$73.95
	7070 "G" Equipment	RC-00005398 for PO- 00002244	KELTEK INC	Extended Warranty - Laptop (Years 4 & 5)	1.00	\$350.00	\$350.00
7070 to 7110 - Computers	7070 "G" Equipment	RC-002484001 for PO-	B&H Photo Video	Canon CR-N300 4K NDI PTZ Camera with 20x Zoom	1.00	\$2,635.47	\$2,635.47
	7110 "G" Equipment	00002484 RC-00005578 for PO-	RICOH USA INC	Ricoh M C250FW	1.00	\$528.50	\$528.50
	7110 "G" Equipment	00001602 RC-00005579 for PO-	RICOH USA INC	Ricoh M C250FW	1.00	\$528.50	\$528.50
	7070 "G" Equipment	00001136 RC-002469001 for PO-	CDW GOVERNMENT INC	Epson PowerLite 1795F - 3LCD projector - portable - Wi-Fi	2.00	\$929.99	\$1,859.98
& Related Equipment	7110 "G" Equipment	00002469 RC-00005863 for PO-	RICOH USA INC	Bridge Unit BU3090	1.00	\$117.00	\$117.00
& Related Equipment	7110 "G" Equipment	00001359 RC-00005863 for PO-	RICOH USA INC	Finisher SR3260	1.00	\$651.00	\$651.00
& Related Equipment	7110 "G" Equipment	00001359 RC-00005863 for PO-	RICOH USA INC	Paper Feed Unit PB3280	1.00	\$51.00	
& Related Equipment		00001359				·	\$547.00
& Related Equipment	7110 "G" Equipment	RC-00005863 for PO- 00001359	RICOH USA INC	Punch Unit PU3080 NA	1.00	\$331.00	\$331.00
& Related Equipment	7110 "G" Equipment	RC-00005863 for PO- 00001359	RICOH USA INC	Fax Option Type M37	1.00	\$477.00	\$477.00
7070 to 7110 - Computers & Related Equipment	7110 "G" Equipment	RC-00005863 for PO- 00001359	RICOH USA INC	PostScript3 Unit Type M37	1.00	\$209.00	\$209.00
	7110 "G" Equipment	RC-00005863 for PO- 00001359	RICOH USA INC	IM C3000 ESP XG-PCS-15D (120 Volt, 15 Amp)	1.00	\$3,693.00	\$3,693.00
	7100 "G" Equipment	RC-00006031 for PO- 00001016	Sirius Enterprise System	Statement of Work	1.00	\$26,920.00	\$26,920.00
7070 to 7110 - Computers	7100 "G" Equipment	RC-001122002 for PO-	Sirius Enterprise System	SNTC-24X7X4OS Cisco HXAF240c M6 All NVMe Hyperflex Sys 60 Months	4.00	\$4,451.25	\$17,805.00
	7100 "G" Equipment	00001122 RC-001638002 for PO-	Sirius Enterprise System	SNTC-24X7X4OS UCS Fabric Interconnect 6454	2.00	\$8,763.75	\$17,527.50
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00001638 RC-001638002 for PO-	Sirius Enterprise System	UCS 6332/ 6454 Power Supply/100-240VAC	4.00	\$587.14	\$2,348.56
	7100 "G" Equipment	00001638 RC-001638002 for PO-	Sirius Enterprise System	10GBASE-SR SFP Module	4.00	\$654.64	\$2,618.56
& Related Equipment	7100 "G" Equipment	00001638 RC-001638002 for PO-	Sirius Enterprise System	25GBASE Active Optical SFP28 Cable, 5M	14.00	\$329.92	\$4,618.88
& Related Equipment	7100 "G" Equipment	00001638 RC-001638002 for PO-	Sirius Enterprise System	25GBASE Active Optical SFP28 Cable, 3M	14.00	\$266.47	\$3,730.58
& Related Equipment		00001638 RC-001638002 for PO-		·			\$10,321.65
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	00001638 00001638	Sirius Enterprise System	Cisco HXAF240c M6 All NVMe Hyperflex System	5.00	\$2,064.33	\$10,321.65

7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-001638002 for PO- 00001638	Sirius Enterprise System	SNTC-24X7X4OS Cisco HXAF240c M6 All NVMe Hyperflex Sys	5.00	\$4,451.25	\$22,256.25
7070 to 7110 - Computers	7100 "G" Equipment	RC-001638002 for PO- 00001638	Sirius Enterprise System	375GB 2.5in Intel Optane NVMe Extreme Performance SSD	5.00	\$3,055.20	\$15,276.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	RC-001638002 for PO-	Sirius Enterprise System	Cisco 2.5" U.2 1,0 TB Intel P4510 NVMe High Perf. Value Endu	5.00	\$1,268.64	\$6,343.20
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00001638 RC-001638002 for PO-	Sirius Enterprise System	240GB SATA M.2	10.00	\$233.16	\$2,331.60
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00001638 RC-001638002 for PO-	Sirius Enterprise System	Cisco Boot optimized M.2 Raid controller	5.00	\$102.54	\$512.70
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00001638 RC-001638003 for PO-	Sirius Enterprise System	Cisco UCS VIC 1467 quad port 25G SFP28 mLOM	5.00	\$828.23	\$4,141.15
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00001638 RC-001638003 for PO-	Sirius Enterprise System	C240 M6 Riser1A; (x8;x16x, x8); StBkt; (CPU1)	5.00	\$140.43	\$702.15
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00001638 RC-001638003 for PO-	Sirius Enterprise System	3.8TB 2.5in U.2 Intel P5500 NVMe High Perf Medium Endurance	60.00	\$2,789.88	\$167,392.80
& Related Equipment 7070 to 7110 - Computers		00001638 RC-001638003 for PO-		-	10.00	\$250.86	
& Related Equipment	7100 "G" Equipment	00001638	Sirius Enterprise System	Cisco UCS 1050W AC Power Supply for Rack Server			\$2,508.60
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-001638003 for PO- 00001638	Sirius Enterprise System	Ball Bearing Rail Kit for C220 & C240 M6 rack servers	5.00	\$104.91	\$524.55
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-001638003 for PO- 00001638	Sirius Enterprise System	Intel 6354 3.0GHz/205W 18C/39MB DDR4 3200MHz	10.00	\$3,527.49	\$35,274.90
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-001638003 for PO- 00001638	Sirius Enterprise System	64GB RDIMM DRx4 3200 (16Gb)	80.00	\$1,935.07	\$154,805.60
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-001638003 for PO- 00001638	Sirius Enterprise System	HyperFlex Data Platform Datacenter Premier	5.00	\$26,532.58	\$132,662.90
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-001638003 for PO- 00001638	Sirius Enterprise System	Cisco Intersight SaaS - Advantage (new)	2.00	\$1,967.51	\$3,935.02
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-001638003 for PO- 00001638	Sirius Enterprise System	UCS C240 M6 Rack w/o CPU, mem, drives, 2U 24 NVMe	2.00	\$3,784.76	\$7,569.52
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-001638003 for PO- 00001638	Sirius Enterprise System	C240M6 GPU Air Duct 2USFF/NVMe (for DW/FL only)	2.00	\$44.87	\$89.74
7070 to 7110 - Computers	7100 "G" Equipment	RC-001638003 for PO-	Sirius Enterprise System	Cisco UCS VIC 1467 quad port 10/25G SFP28 mLOM	2.00	\$1,138.82	\$2,277.64
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00001638 RC-001638003 for PO-	Sirius Enterprise System	240GB SATA M.2	4.00	\$284.17	\$1,136.68
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00001638 RC-001638003 for PO-	Sirius Enterprise System	Cisco Boot optimized M.2 Raid controller	2.00	\$124.98	\$249.96
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00001638 RC-001638003 for PO-	Sirius Enterprise System	TPM 2.0, TCG, FIPS140-2, CC EAL4+ Certified, for M6 servers	2.00	\$31.45	\$62.90
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00001638 RC-001638003 for PO-	Sirius Enterprise System	Ball Bearing Rail Kit for C220 & C240 M6 rack servers	2.00	\$144.25	\$288.50
& Related Equipment 7070 to 7110 - Computers	7100 'G' Equipment	00001638 RC-001638003 for PO-	Sirius Enterprise System	Ball Bearing Rail Kit for C220 & C240 Mb rack servers 64GB RDIMM DRx4 3200 (16Gb)	32.00	\$2,660.72	\$288.50 \$85,143.04
& Related Equipment		00001638					
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-001638003 for PO- 00001638	Sirius Enterprise System	C240 M6 Riser1A; (x8;x16x, x8); StBkt; (CPU1)	2.00	\$193.09	\$386.18
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-001638003 for PO- 00001638	Sirius Enterprise System	Cisco UCS 1600W AC Power Supply for Rack Server	4.00	\$389.61	\$1,558.44
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-001638003 for PO- 00001638	Sirius Enterprise System	VMware vSphere 7 Ent Plus (1 CPU, 32 Core) 5Yr, Support Reqd	4.00	\$3,092.71	\$12,370.84
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-001638003 for PO- 00001638	Sirius Enterprise System	VSphere Enterprise Plus for 1 CPU; ANNUAL List 5-YR Reqd	4.00	\$4,451.25	\$17,805.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-001638003 for PO- 00001638	Sirius Enterprise System	Intel 6348 2.6GHz/235W 28C/42MB DDR4 3200MHz	4.00	\$5,400.44	\$21,601.76
7070 to 7110 - Computers & Related Equipment	7110 "G" Equipment	RC-00006159 for PO- 00001137	RICOH USA INC	Ricoh M C250FW	1.00	\$528.50	\$528.50
7070 to 7110 - Computers	7070 "G" Equipment	RC-002762001 for PO-	SEILER INSTRUMENT &	Trimble R1 GNSS Receiver - Used	1.00	\$1,898.00	\$1,898.00
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	00002762 RC-002764001 for PO-	MANU VERIZON WIRELESS	iPad (9th Generation) – Wi-Fi/cellular – 256 GB	133.00	\$509.99	\$67,828.67
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	00002764 RC-002764002 for PO-	(PO'S ONLY) VERIZON WIRELESS	iPad (9th Generation) – Wi-Fi/cellular – 256 GB	73.00	\$509.99	\$37,229.27
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	00002764 RC-002764004 for PO-	(PO'S ONLY) VERIZON WIRELESS	iPad (9th Generation) – Wi-Fi/cellular – 256 GB	39.00	\$509.99	\$19,889.61
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	00002764 RC-002764003 for PO-	(PO'S ONLY) VERIZON WIRELESS	iPad (9th Generation) – Wi-Fi/cellular – 256 GB	117.00	\$509.99	\$59,668.83
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	00002764 RC-00006326 for PO-	(PO'S ONLY) M-B Companies Inc Of Wi	Skip-Line Data Loggers	1.00	\$27,750.00	\$27,750.00
& Related Equipment		CNV307666	,	. 33			
7070 to 7110 - Computers & Related Equipment		RC-00006333 for PO- 00001122	Sirius Enterprise System	Cisco Intersight SaaS - Advantage (new) 36 months	40.00	\$1,061.88	\$42,475.20
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00006333 for PO- 00001122	Sirius Enterprise System	CISCO Ball Bearing Rail Kit for C220 & C240 M6 rack servers	4.00	\$122.56	\$490.24
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00006333 for PO- 00001122	Sirius Enterprise System	Cisco UCS 1050W AC Power Supply for Rack Server	8.00	\$241.77	\$1,934.16
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00006333 for PO- 00001122	Sirius Enterprise System	Intel 6326 2.9GHz/185W 16C/24MB DDR4 3200MHz	8.00	\$1,800.53	\$14,404.24
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00006333 for PO- 00001122	Sirius Enterprise System	32GB RDIMM DRx4 3200 (8Gb)	64.00	\$934.92	\$59,834.88
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00006333 for PO- 00001122	Sirius Enterprise System	3.8TB 2.5in U.2 Intel P5500 NVMe High Perf Medium Endurance	40.00	\$2,877.07	\$115,082.80
7070 to 7110 - Computers	7100 "G" Equipment	RC-00006333 for PO-	Sirius Enterprise System	C240 M6 Riser1A; (x8;x16x, x8); StBkt; (CPU1)	4.00	\$135.34	\$541.36
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00001122 RC-00006333 for PO-	Sirius Enterprise System	Cisco UCS VIC 1467 quad port 25G SFP28 mLOM	4.00	\$798.24	\$3,192.96
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00001122 RC-00006333 for PO-	Sirius Enterprise System	Cisco Boot optimized M.2 Raid controller	4.00	\$98.83	\$395.32
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00001122 RC-00006333 for PO-	Sirius Enterprise System	240GB SATA M.2	8.00	\$240.45	\$1,923.60
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00001122 RC-00006333 for PO-	Sirius Enterprise System	Cisco 2.5" U.2 1,0 TB Intel P4510 NVMe High Perf. Value Endu	4.00	\$1,216.05	\$4,864.20
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00001122 RC-00006333 for PO-	Sirius Enterprise System	375GB 2.5in Intel Optane NVMe Extreme Performance SSD	4.00	\$3,150.68	\$12,602.72
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00001122 RC-00006333 for PO-	Sirius Enterprise System	Cisco HXAF240c M6 All NVMe Hyperflex System	4.00	\$1,989.57	\$7,958.28
& Related Equipment		00001122 RC-00006333 for PO-			8.00		
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	00001122	Sirius Enterprise System	25GBASE Active Optical SFP28 Cable, 3M		\$253.26	\$2,026.08
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00006333 for PO- 00001122	Sirius Enterprise System	25GBASE Active Optical SFP28 Cable, 5M	8.00	\$313.56	\$2,508.48
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00006333 for PO- 00001122	Sirius Enterprise System	32 Gbps Fibre Channel SW SFP+, LC	4.00	\$371.30	\$1,485.20
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00006333 for PO- 00001122	Sirius Enterprise System	10GBASE-SR SFP Module	4.00	\$518.49	\$2,073.96
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00006333 for PO- 00001122	Sirius Enterprise System	UCS 6332/ 6454 Power Supply/100-240VAC	4.00	\$562.80	\$2,251.20
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00006333 for PO- 00001122	Sirius Enterprise System	SNTC-24X7X4OS UCS Fabric Interconnect 6454 60 Months	2.00	\$8,763.75	\$17,527.50
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-002821001 for PO- 00002821	AMAZON BUSINESS	Logitech iPad 9th Generation Keyboard Case Slim Folio	44.00	\$79.99	\$3,519.56
7070 to 7110 - Computers	7070 "G" Equipment	RC-002821002 for PO-	AMAZON BUSINESS	Logitech iPad 9th Generation Keyboard Case Slim Folio	25.00	\$79.99	\$1,999.75
& Related Equipment 7070 to 7110 - Computers	7110 "G" Equipment	00002821 RC-00006404 for PO-	HP Inc	HP 3 year Next Business Day Onsite HW Support w	1.00	\$555.53	\$555.53
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	00002191 RC-00006471 for PO-	AMAZON BUSINESS	/Defective Media Retention for DesignJet T1700 2 roll SPARIN iPad 10.2" Tempered Glass Screen Protector (3 pack)	52.00	\$10.98	\$570.96
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	00002821 RC-00006471 for PO-	AMAZON BUSINESS	Timecity iPad 9th Generation 10.2* Case with Screen Protector	10.00	\$21.79	\$217.90
& Related Equipment		00002821				,	

7070 to 7110 - Computers	7070 "G" Equipment	RC-00006471 for PO-	AMAZON BUSINESS	Clamshell Keyboard Case for iPad 9th Generation 10.2*	1.00	\$49.96	\$49.96
& Related Equipment		00002821 RC-00006491 for PO-					·
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	00002821	AMAZON BUSINESS	SPARIN iPad 10.2" Tempered Glass Screen Protector (3 pack)	36.00	\$10.98	\$395.28
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-002821006 for PO- 00002821	AMAZON BUSINESS	Timecity iPad 9th Generation 10.2" Case with Screen Protector	4.00	\$21.79	\$87.16
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-002821006 for PO- 00002821	AMAZON BUSINESS	Clamshell Keyboard Case for iPad 9th Generation 10.2*	1.00	\$49.96	\$49.96
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-002821005 for PO- 00002821	AMAZON BUSINESS	Timecity iPad 9th Generation 10.2" Case with Screen Protector	30.00	\$21.79	\$653.70
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-002821005 for PO- 00002821	AMAZON BUSINESS	Clamshell Keyboard Case for iPad 9th Generation 10.2*	1.00	\$49.96	\$49.96
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00006491 for PO- 00002821	AMAZON BUSINESS	Timecity iPad 9th Generation 10.2" Case with Screen Protector	121.00	\$21.79	\$2,636.59
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00006491 for PO- 00002821	AMAZON BUSINESS	Clamshell Keyboard Case for iPad 9th Generation 10.2"	13.00	\$49.96	\$649.48
7070 to 7110 - Computers & Related Equipment	7110 "G" Equipment	RC-00006497 for PO- 00001768	RICOH USA INC	Ricoh M C250FW	1.00	\$528.50	\$528.50
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00006520 for PO- 00002821	AMAZON BUSINESS	SPARIN iPad 10.2" Tempered Glass Screen Protector (3 pack)	42.00	\$10.98	\$461.16
7070 to 7110 - Computers	7070 "G" Equipment	RC-00006520 for PO-	AMAZON BUSINESS	Timecity iPad 9th Generation 10.2" Case with Screen Protector	9.00	\$21.79	\$196.11
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	00002821 RC-00006520 for PO-	AMAZON BUSINESS	Clamshell Keyboard Case for iPad 9th Generation 10.2*	18.00	\$49.96	\$899.28
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	00002821 RC-00006520 for PO-	AMAZON BUSINESS	Clamshell Keyboard Case for iPad 9th Generation 10.2*	7.00	\$59.96	\$419.72
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	00002821 RC-002821008 for PO-	AMAZON BUSINESS	Clamshell Keyboard Case for iPad 9th Generation 10.2"	24.00	\$59.96	\$1,439.04
& Related Equipment 7070 to 7110 - Computers	7110 "G" Equipment	00002821 RC-00006605 for PO-	RICOH USA INC	Ricoh M C250FW	1.00	\$528.50	\$528.50
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	00002348 RC-002821009 for PO-	AMAZON BUSINESS	Clamshell Keyboard Case for iPad 9th Generation 10.2*	1.00	\$59.96	\$59.96
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	00002821 RC-002751001 for PO-	Lenovo Inc	P620, AMD Threadripper Pro 5975WX (32 core), 4 x 16GB RAM, RTX 3080TI	3.00	\$7,520.00	\$22,560.00
& Related Equipment 7070 to 7110 - Computers		00002751 RC-002745001 for PO-	HEARTLAND BUSINESS	Palo Alto Networks PA-5410 with redundant AC power supplies	4.00	\$28,026.00	\$112,104.00
& Related Equipment	7100 "G" Equipment	00002745	SYSTEMS LLC				
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-002854001 for PO- 00002854	Sirius Enterprise System	NVIDIA A16 PCIE 250W 4X16GB	4.00	\$7,718.32	\$30,873.28
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-002854001 for PO- 00002854	Sirius Enterprise System	C240/C245 M5/M6 NVIDIA P100 /V100 /RTX /A100 /A40 /A16 Cable	4.00	\$10.65	\$42.60
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-002854001 for PO- 00002854	Sirius Enterprise System	NVIDIA GRID Software Subscription - VDI PC 1CCU - 5 Year	120.00	\$212.92	\$25,550.40
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-002765002 for PO- 00002765	CDW GOVERNMENT INC	Apple 10.2" iPad WiFi - 9th Generation - 256GB	10.00	\$450.00	\$4,500.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-002765001 for PO- 00002765	CDW GOVERNMENT INC	Apple 10.2" iPad WiFi - 9th Generation - 256GB	7.00	\$450.00	\$3,150.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-002978001 for PO- 00002978	CDW GOVERNMENT INC	Samsung 22" 16:9 IPS Panel Display	6.00	\$195.29	\$1,171.74
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-003012001 for PO- 00003012	AMAZON BUSINESS	iPad 9th Gen 10.2-inch 2021 Keyboard Case with Track Pad, Arteck Bluetooth Keyboard with Folio Full Protection Case and Touch Pad for Apple 10.2-inch iPad	61.00	\$38.00	\$2,318.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-002429001 for PO- 00002429	Lenovo Inc	ThinkPad Thunderbolt 4 Workstation Dock	7.00	\$312.00	\$2,184.00
7070 to 7110 - Computers & Related Equipment	7110 "G" Equipment	RC-00006856 for PO- 00001603	RICOH USA INC	Ricoh M C250FW	1.00	\$528.50	\$528.50
7070 to 7110 - Computers & Related Equipment	7110 "G" Equipment	RC-00006857 for PO- 00001769	RICOH USA INC	Ricoh M C250FW	1.00	\$528.50	\$528.50
7070 to 7110 - Computers	7110 "G" Equipment	RC-00006858 for PO-	RICOH USA INC	Ricoh M C250FW	1.00	\$528.50	\$528.50
& Related Equipment 7070 to 7110 - Computers	7110 "G" Equipment	00002346 RC-00006859 for PO-	RICOH USA INC	Ricoh M C250FW	1.00	\$528.50	\$528.50
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	00002347 RC-002850001 for PO-	CDW GOVERNMENT INC	Samsung 55" Class 4K LED TV	3.00	\$510.00	\$1,530.00
& Related Equipment 7070 to 7110 - Computers	7100 "G" Equipment	00002850 RC-002190002 for PO-	HP Inc	HP Color LJ Ent M751dn Prntr:US/CA/LA	1.00	\$2,085.00	\$2,085.00
& Related Equipment 7070 to 7110 - Computers	7070 "G" Equipment	00002190 RC-002851002 for PO-	CDW GOVERNMENT INC	What's in the box - Four preinstalled HP LaserJet toner Samsung 55" Class 4K LED TV	19.00	\$510.00	\$9,690.00
& Related Equipment 7070 to 7110 - Computers	7110 "G" Equipment	00002851 RC-00006989 for PO-	RICOH USA INC	Bridge Unit BU3090	1.00	\$117.00	\$117.00
& Related Equipment	7110 "G" Equipment	00001601 RC-00006989 for PO-	RICOH USA INC	Finisher SR3260	1.00	\$651.00	\$651.00
& Related Equipment 7070 to 7110 - Computers	7110 "G" Equipment	00001601 RC-00006989 for PO-	RICOH USA INC	Paper Feed Unit PB3280	1.00	\$547.00	\$547.00
& Related Equipment 7070 to 7110 - Computers	7110 'G' Equipment	00001601 RC-00006989 for PO-	RICOH USA INC	Punch Unit PU3080 NA	1.00	\$331.00	\$331.00
& Related Equipment 7070 to 7110 - Computers 7070 to 7110 - Computers	7110 'G' Equipment	00001601 RC-00006989 for PO-	RICOH USA INC	Fax Option Type M37	1.00	\$477.00	\$331.00
& Related Equipment		00001601	RICOH USA INC				
7070 to 7110 - Computers & Related Equipment	7110 "G" Equipment	RC-00006989 for PO- 00001601		PostScript3 Unit Type M37	1.00	\$209.00	\$209.00
7070 to 7110 - Computers & Related Equipment	7110 "G" Equipment	RC-00006989 for PO- 00001601	RICOH USA INC	IM C4500 ESP XG-PCS-15D (120 Volt, 15 Amp)	1.00	\$4,974.00	\$4,974.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-001831001 for PO- 00001831	Lenovo Inc	Notebook ThinkPad X1 Yoga Gen 6	8.00	\$1,550.00	\$12,400.00
7070 to 7110 - Computers & Related Equipment	7110 "G" Equipment	RC-00007104 for PO- 00001861	RICOH USA INC	Ricoh M C250FW	1.00	\$528.50	\$528.50
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-002977001 for PO- 00002977	Transit Works	FC/SHC6000 Geo Cell Extended Range Tablet	2.00	\$3,678.75	\$7,357.50
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00007126 for PO- CNV307666	M-B Companies Inc Of Wi	Skip-Line Data Loggers	1.00	\$27,750.00	\$27,750.00
7070 to 7110 - Computers & Related Equipment	7100 "G" Equipment	RC-00007131 for PO- 00002190	HP Inc	HP 3y NBD w/DMR CLJ M751 SVC	1.00	\$500.00	\$500.00
7070 to 7110 - Computers & Related Equipment	7070 "G" Equipment	RC-00007139 for PO- 00002762	SEILER INSTRUMENT & MANU	Trimble R1 GNSS Receiver - New	1.00	\$2,755.00	\$2,755.00
7070 to 7110 - Computers		55502102			16,494.00	0	\$3,194,403.87
& Related Equipment Total Grand Total					19,771.00	0	\$31,215,998.70
					.,	,	, , ,